
1 

Supporting Information 

 

Bioactive Constituents of Glycyrrhiza uralensis (Licorice): 

Discovery of the Effective Components of a Traditional Herbal 

Medicine 

 

Shuai Ji, Ziwei Li, Wei Song, Yongrui Wang, Wenfei Liang, Kai Li, Shunan Tang, Qi 

Wang, Xue Qiao, Demin Zhou, Siwang Yu,
*
 and Min Ye

* 
 

 

State Key Laboratory of Natural and Biomimetic Drugs, School of Pharmaceutical 

Sciences, Peking University, 38 Xueyuan Road, Beijing 100191, People’s Republic of 

China 

 

*
 Corresponding authors. Tel.: +86 10 82801516. Fax: +86 10 82802024. E-mail 

address: swang_yu@bjmu.edu.cn (S.W. Yu) or yemin@bjmu.edu.cn (M. Ye).  



2 

 

List of Contents 

Experimental  

1. Isolation and structural characterization of licorice compounds.  

2. Electronic circular dichroism (ECD) spectral calculations for compounds 1−3.  

3. UHPLC/UV analysis for chemical profiling of licorice extract and mixed standards.  

4. Protective effects of licorice EtOAc extract on CCl4-induced mice liver damage.  

 

Table S1. Bioactivity screening results (fold of control for Nrf2 activation activity and 

inhibition rates for the other activities) of licorice extracts and compounds 1-122. 

Scheme S1. Strategy to discover the effective components of licorice.  

Chart S1. Structures of compounds 1-122 isolated from Glycyrrhiza uralensis.  

Fig. S1. Comparison of the calculated ECD spectra for (3R)-1, (3R)-3, (3R,4R)-2, and 

their enantiomers, with the experimental ECD spectra for 1, 3 and 2.  

Fig. S2. (A) Dose-dependent activation effects of 46 on luciferase activity of HepG2 

cells stably transfected with Nrf2 luciferase reporter. (B) Cytotoxicity of 46 against 

HepG2 cells at different concentrations. 

Fig. S3. UHPLC/UV chromatograms of licorice water crude extract (A), licorice 

EtOH crude extract (B), licorice EtOAc extract (C) and licorice n-BuOH extract (D) 

at 254 nm.  

Fig. S4. The chemical-bioactivity correlation of licorice.  

Fig. S5. The most active compounds for (A) Nrf2 activation, NO inhibition, NF-κB 

inhibition, H1N1 inhibition, cytotoxic (HepG2, SW480, A549 and MCF7 cells) and 

(B) PTP1B inhibition, tyrosinase inhibition, AChE inhibition activities.  

Fig. S6. The protective effects of licorice EtOAc extract against CCl4-induced mice 

liver damage. (A) Effects of licorice EtOAc extract on mice hepatic GSH level after 

CCl4 treatment. (B) Effect of licorice EtOAc extract on mice serum ALT, AST and 

LDH levels after CCl4 treatment. (C) Effect of licorice EtOAc extract on the 

histological changes of mice liver after CCl4 treatment. *p < 0.05; **p < 0.01; H&E 



3 

stained slices were observed under 4 × magnification.  

Fig. S7. Flow chart for the isolation of compounds 74−76, 79−86 and 89−93.  

Fig. S8. Flow chart for the isolation of compounds 1−73.  

Fig. S9 
1
H NMR spectrum of glycyuralin A (1) in DMSO-d6 (400 MHz).  

Fig. S10 
13

C NMR spectrum of glycyuralin A (1) in DMSO-d6 (100 MHz).  

Fig. S11 HMBC spectrum of glycyuralin A (1) in DMSO-d6 (400 MHz).  

Fig. S12 HSQC spectrum of glycyuralin A (1) in DMSO-d6 (400 MHz).  

Fig. S13 
1
H-

1
H COSY spectrum of glycyuralin A (1) in DMSO-d6 (400 MHz).  

Fig. S14 IR spectrum of glycyuralin A (1).  

Fig. S15 HRESIMS spectrum of glycyuralin A (1).  

Fig. S16 
1
H NMR spectrum of glycyuralin C (3) in DMSO-d6 (400 MHz).  

Fig. S17 
13

C NMR spectrum of glycyuralin C (3) in DMSO-d6 (100 MHz).  

Fig. S18 HMBC spectrum of glycyuralin C (3) in DMSO-d6 (400 MHz).  

Fig. S19 HSQC spectrum of glycyuralin C (3) in DMSO-d6 (400 MHz).  

Fig. S20 
1
H-

1
H COSY spectrum of glycyuralin C (3) in DMSO-d6 (400 MHz).  

Fig. S21 DEPT 135 spectrum of glycyuralin C (3) in DMSO-d6 (100 MHz).  

Fig. S22 DEPT 90 spectrum of glycyuralin C (3) in DMSO-d6 (100 MHz).  

Fig. S23 IR spectrum of glycyuralin C (3).  

Fig. S24 HRESIMS spectrum of glycyuralin C (3).  

Fig. S25 
1
H NMR spectrum of glycyuralin B (2) in acetone-d6 (400 MHz).  

Fig. S26 
13

C NMR spectrum of glycyuralin B (2) in acetone-d6 (100 MHz).  

Fig. S27 HMBC spectrum of glycyuralin B (2) in acetone-d6 (400 MHz).  

Fig. S28 HSQC spectrum of glycyuralin B (2) in acetone-d6 (400 MHz).  

Fig. S29 
1
H-

1
H COSY spectrum of glycyuralin B (2) in acetone-d6 (400 MHz).  

Fig. S30 DEPT 135 spectrum of glycyuralin B (2) in acetone-d6 (100 MHz).  

Fig. S31 IR spectrum of glycyuralin B (2).  

Fig. S32 HRESIMS spectrum of glycyuralin B (2).  

Fig. S33 
1
H NMR spectrum of glycyuralin D (4) in DMSO-d6 (400 MHz).  

Fig. S34 
13

C NMR spectrum of glycyuralin D (4) in DMSO-d6 (100 MHz).  

Fig. S35 HMBC spectrum of glycyuralin D (4) in DMSO-d6 (400 MHz).  



4 

Fig. S36 HSQC spectrum of glycyuralin D (4) in DMSO-d6 (400 MHz).  

Fig. S37 
1
H-

1
H COSY spectrum of glycyuralin D (4) in DMSO-d6 (400 MHz).  

Fig. S38 DEPT 135 spectrum of glycyuralin D (4) in DMSO-d6 (100 MHz).  

Fig. S39 DEPT 90 spectrum of glycyuralin D (4) in DMSO-d6 (100 MHz).  

Fig. S40 IR spectrum of glycyuralin D (4).  

Fig. S41 HRESIMS spectrum of glycyuralin D (4).  

Fig. S42 
1
H NMR spectrum of glycyuralin E (5) in DMSO-d6 (400 MHz).  

Fig. S43 
13

C NMR spectrum of glycyuralin E (5) in DMSO-d6 (100 MHz).  

Fig. S44 HMBC spectrum of glycyuralin E (5) in DMSO-d6 (400 MHz).  

Fig. S45 HSQC spectrum of glycyuralin E (5) in DMSO-d6 (400 MHz).  

Fig. S46 
1
H-

1
H COSY spectrum of glycyuralin E (5) in DMSO-d6 (400 MHz).  

Fig. S47 DEPT 135 spectrum of glycyuralin E (5) in DMSO-d6 (100 MHz).  

Fig. S48 DEPT 90 spectrum of glycyuralin E (5) in DMSO-d6 (100 MHz).  

Fig. S49 IR spectrum of glycyuralin E (5).  

Fig. S50 HRESIMS spectrum of glycyuralin E (5).  

Fig. S51 
1
H NMR spectrum of glycyuralin F (6) in DMSO-d6 (400 MHz).  

Fig. S52 
13

C NMR spectrum of glycyuralin F (6) in DMSO-d6 (100 MHz).  

Fig. S53 HMBC spectrum of glycyuralin F (6) in DMSO-d6 (400 MHz).  

Fig. S54 HSQC spectrum of glycyuralin F (6) in DMSO-d6 (400 MHz).  

Fig. S55 
1
H-

1
H COSY spectrum of glycyuralin F (6) in DMSO-d6 (400 MHz).  

Fig. S56 DEPT 135 spectrum of glycyuralin F (6) in DMSO-d6 (100 MHz).  

Fig. S57 DEPT 90 spectrum of glycyuralin F (6) in DMSO-d6 (100 MHz).  

Fig. S58 IR spectrum of glycyuralin F (6).  

Fig. S59 HRESIMS spectrum of glycyuralin F (6).  

 



5 

1. Isolation and structural characterization of licorice compounds.  

The dried licorice crude drug (35 kg) was powdered and extracted with 95% (90 

L × 2 h × 2) and 70% EtOH (90 L × 2 h × 1) under reflux. After concentration in 

vacuo, the extract (10 L) was dispersed in H2O and successively extracted with 

EtOAc and n-BuOH.  

 

The n-BuOH extract (1540 g) was separated on an AB-8 macroporous resin 

column eluted with EtOH/H2O (10 to 95%, v/v) to obtain fractions A−E. Triterpenoid 

saponins (94–122) were obtained mainly from fractions B and D, which was reported 

in our previous publication [1]. Phenolic glycosides (74–93) were obtained from 

fraction A (200 g), which was firstly subjected to MCI gel column chromatography 

and eluted with 10%, 30%, 55% and 95% EtOH to afford fractions AA−AD. Fraction 

AA was chromatographed over ODS C18 with EtOH/H2O (10 to 95%, v/v) as the 

eluent to obtain fractions AAA−AAC, all of which were further purified over 

Sephadex LH-20 and semi-preparative HPLC to yield liquiritin (82, 500 mg) [3], 

sophoraflavone B (90, 4 mg) [4] and syringic acid 4-O-glucopyranoside (93, 20 mg) 

[5]. Fraction AB was fractionated on an MCI gel column eluted with EtOH/H2O (10 

to 95%, v/v) to obtain fractions ABA−ABE, and they were further purified over 

Sephadex LH-20 and semi-preparative HPLC to obtain liquiritigenin 

7,4'-O-diglucopyranoside (74, 165 mg) [4], glucoliguiritin apioside (75, 34 mg) [6], 

vicenin-2 (76, 165 mg) [7], apigenin 

6-C-rhamnopyranosyl-8-C-[6'''-(3-hydroxy-3-methylglutaroyl)-glucopyranoside] (83, 

12 mg) [8], isoliquiritigenin 4,4'-O-diglucopyranoside (79, 102 mg) [9] and 

isoviolanthin (80, 33 mg) [10]. Fraction AC was also subjected to MCI gel column 

chromatography eluted with EtOH/H2O (10 to 95%, v/v) as the eluent to produce 

ACA−ACC. They were further purified over ODS C18 and semi-preparative HPLC to 

yield liquiritin apioside (81, 40 mg) [11], 7,4'-dihydroxyflavone 7-O-glucopyranoside 

(91, 6 mg) [12] and daidzin (92, 5 mg) [13]. Using the similar method with fraction 

AC, isoliquiritin apioside (84, 30 mg) [14], ononin (85, 50 mg) [15], isoliquiritin (86, 

49 mg) [3] and glycyroside (89, 18 mg) [4] were obtained from fraction AD by MCI, 

Sephadex LH-20 and semi-preparative HPLC. In addition, schaftoside (77), 

isoschaftoside (78), neoliquiritin (87) and neoisoliquiritin (88) were purchased from 

Mansite Bio-Technology Co., Ltd. (Chengdu, China).  

 

Free phenolics (1-73) were mainly isolated from the EtOAc extract, and the 

isolation and structural characterization of 29, 32, 48 and 50 have been reported in our 

recent publication [2]. In general, the EtOAc extract (1280 g) was chromatographed 

over silica gel using petroleum ether/EtOAc (1:0 to 1:1, v/v) as the eluent to produce 

fractions A−J. Fraction B (60 g) was separated on a silica gel column eluted with 



6 

petroleum ether/acetone (1:0 to 1:1, v/v) to obtain fraction BA−BE. Fraction BD was 

further subjected to polyamide column chromatography eluted with EtOH/H2O (10 to 

90%, v/v) to yield fraction BDA−BDI. Fractions BDC, BDF and BDH were purified 

over Sephadex LH-20 and semi-preparative HPLC to obtain licoisoflavanone (58, 180 

mg) [16], abiochanin A (59, 2 mg) [17], glyasperin S (6, 2.5 mg), glyasperin C (62, 5 

mg) [18], 3-methoxy-9-hydroxy-pterocarpan (64, 320 mg) [19], 1-methoxy-phaseollin 

(65, 95 mg) [6], glabridin (66, 2 mg) [20], isolupalbigenin (67, 2 mg) [21], 6,8-

diprenylgenistein (68, 2 mg) [22], 2'-hydroxy-isolupalbigenin (69, 2 mg) [23], 

isoderrone (70, 6 mg) [24], licoricidin (71, 900 mg) [25] and licoisoflavone B (73, 1 

mg) [16].  

 

Fraction E (30 g) was subjected to MCI gel column chromatography and eluted 

with 30%, 40%, 50%, 60%, 70%, 80% and 90% EtOH to afford fractions EA−EG. 

Fraction EC was fractionated on a polyamide column eluted with CH2Cl2/MeOH (1:0 

to 1:1, v/v) to produce ECA−ECN. Fractions ECC, ECD, ECI and ECK were further 

separated by ODS C18 columns and purified over semi-preparative HPLC to yield 

glycyrol (9, 820 mg) [26], semilicoisoflavone B (16, 1020 mg) [27], kumatakenin (17, 

5 mg) [28], licoricone (18, 18 mg) [29], glyasperin O (1, 54 mg), glyasperin Q (2, 3 

mg), glyasperin P (3, 2 mg), licoflavonol (20, 600 mg) [28], topazolin (21, 195 mg) 

[30], licoisoflavone A (22, 36 mg) [31], wighteone (23, 102 mg) [32], 

allolicoisoflavone B (24, 71 mg) [33], 

5,7,4'-trihydroxy-3'-(3-methylbut-2-enyl)-3-methoxy flavone (25, 20 mg) [34], 

lupiwighteone (26, 2 mg) [35], glyasperin T (4, 5 mg), isolicoflavonol (28, 20 mg) 

[36], glycyfuranocoumarone A (29, 2 mg) [2], formononetin (30, 107 mg) [29], 

genkwanin (31, 3 mg) [37], glycyfuranocoumarin A (32, 7 mg) [2], isoglabrone (34, 2 

mg) [38] and glyurallin A (35, 2 mg) [39]. Fraction EE was separated by silica gel 

column chromatography with CHCl3/MeOH (1:0 to 1:1, v/v) as the eluent to obtain 

EEA−EEE. Fractions EEA, EEC and EEE were further purified over Sephadex LH-20 

and semi-preparative HPLC to obtain isoangustone A (10, 488 mg) [27], isoglycyrol 

(11, 84 mg) [26], 7-O-methylluteone (12, 41 mg) [40], glyasperin D (13, 14 mg) [18], 

dehydroglyasperin D (14, 50 mg) [41] and gancaonin I (15, 95 mg) [26]. Fraction EG 

was subjected to polyamide column chromatography eluted with CH2Cl2/MeOH (1:0 

to 1:1, v/v), and purified over Sephadex LH-20 and semi-preparative HPLC to yield 

angustone A (19, 70 mg) [42].  

 

Fraction H (100 g) was subjected to MCI gel column chromatography and eluted 

with 10%, 30%, 50%, and 95% EtOH to afford fractions HA−HD. Fraction HB was 

chromatographed over silica gel and eluted with CHCl3/MeOH (1:0 to 1:1, v/v) to 

produce fractions HBA−HBH. Fractions HBD, HBF and HBH were further separated 



7 

by Sephadex LH-20 and purified over semi-preparative HPLC to yield liquiritigenin 

(60, 330 mg) [43], licoflavone A (61, 2 mg) [44], daidzein (63, 3 mg) [45] and 

glycyrin (8, 270 mg) [46]. Fraction HC was subjected to polyamide column 

chromatography with CH2Cl2/MeOH (1:0 to 1:1, v/v) as the eluent to obtain fractions 

HCA−HCD. Fractions HCA, HCB and HCC were further purified by ODS C18 

columns and semi-preparative HPLC to yield 7-methoxy-2',4'-dihydroxy isoflavone 

(36, 3 mg) [47], 11b-hydroxy-11b,1-dihydromedicarpin (37, 6 mg) [48], kaempferol 

3-O-methyl ether (38, 100 mg) [49], 2-one-4-methoxy-pyran (39, 2 mg) [50], 

isoliquiritigenin (42, 226 mg) [51], genistein (44, 60 mg) [52], kumatakenin B (45, 9 

mg) [53], echinatin (7, 6 mg) [54], glycyfuranocoumarin B (48, 5 mg) [2], glyasperin 

R (5, 25 mg), glicoricone (51, 14 mg) [55] and pratensein (52, mg) [56]. Fraction HD 

was also subjected to polyamide column chromatography eluted with CH2Cl2/MeOH 

(1:0 to 1:1, v/v) to obtain HDA−HDI. Fractions HDC, HDE, HDG and HDH were 

further separated by ODS C18 columns and purified over semi-preparative HPLC to 

yield hirtellanine I (40, 6 mg) [57], glycyrrhiza-isoflavone C (41, 4 mg) [58], 

isoglycycoumarin (43, 160 mg) [49], luteone (46, 52 mg) [59], licocoumarone (47, 77 

mg) [49], uralenol (49, 16 mg) [60], glycyfuranocoumarin C (50, 1 mg) [2], 

dehydroglyasperin C (53, 6 mg) [61], homobutein (54, 2 mg) [62], 6-C-prenylorobol 

(55, 22 mg) [63], kaempferol (56, 6 mg) [51], gancaonin L (57, 22 mg) [64] and 

glicophenone (72, 2 mg) [65].  

 

Fraction I (50 g) was isolated by a silica gel column eluted with CHCl3/MeOH 

(1:0 to 1:1, v/v) to obtain fractions IA−IC. Fraction IB was subjected to MCI gel 

column chromatography eluted with EtOH/H2O (10 to 90%, v/v) to produce fraction 

IBB, which was further purified over Sephadex LH-20 and semi-preparative HPLC to 

obtain licoarylcoumarin (27, 63 mg) [49] and glycycoumarin (33, 500 mg) [36].  

 

Echinatin (7): 
1
H NMR (400 MHz, DMSO-d6) δ: 7.91 (1H, d, J = 15.6 Hz, H-β), 7.64 

(1H, d, J = 15.6 Hz, H-α), 7.99 (2H, d, J = 8.4 Hz , H-2′, 6′), 6.87 (2H, d, J = 8.4 Hz, 

H-3′, 5′), 6.47 (1H, d, J = 2.0 Hz , H-3), 6.44 (1H, dd, J = 2.0, 8.4 Hz, H-5), 7.76 (1H, 

d, J = 8.4 Hz, H-6), 3.84 (3H, s, 2-OCH3), 10.21 (H, br s, OH). 
13

C NMR (100 MHz, 

DMSO-d6) δ: 137.6 (C-β), 118.1 (C-α), 187.2 (C=O), 130.8 (C-2′), 115.3 (C-3′), 161.7 

(C-4′), 115.3 (C-3′), 130.8 (C-2′), 129.6 (C-1′), 114.6 (C-1), 160.0 (C-2), 99.1 (C-3), 

161.5 (C-4), 108.2 (C-5), 130.1(C-6), 55.5 (2-OCH3). 

 

Glycyrin (8): 
1
H NMR (400 MHz, DMSO-d6) δ: 7.83 (1H, s, H-4), 6.87 (1H, s, H-8), 

6.35 (1H, d, J = 2.0 Hz, H-3′), 6.26 (1H, dd, J = 2.0, 8.0 Hz, H-5′), 7.12 (1H, d, J = 

8.0 Hz, H-6′), 3.27 (2H, d, J = 8.0 Hz, H-1"), 5.10 (1H, t, J = 8.0 Hz, H-2"), 1.72 (3H, 

s, H-4"), 1.62 (3H, s, H-5"), 3.76 (3H, s, 5-OCH3), 3.87 (3H, s, 7-OCH3), 9.45 (1H, s, 



8 

OH), 9.47 (1H, s, OH). 
13

C NMR (100 MHz, DMSO-d6) δ: 160.9 (C-2), 121.8 (C-3), 

136.4 (C-4), 155.0 (C-5), 119.6 (C-6), 158.9 (C-7), 95.6 (C-8), 153.7 (C-9), 107.5 

(C-10), 113.7 (C-1′), 156.5 (C-2′), 103.1 (C-3′), 160.3 (C-4′), 106.7 (C-5′), 132.0 

(C-6′), 22.7 (C-1"), 122.7 (C-2"), 131.5 (C-3"), 18.1 (C-4"), 25.8 (C-5"), 63.4 

(5-OCH3), 56.8 (7-OCH3).  

 

Glycyrol (9): 
1
H NMR (400 MHz, DMSO-d6) δ: 6.77 (1H, s, H-8), 7.16 (1H, d, J = 

2.0 Hz, H-3′), 6.95 (1H, dd, J = 2.0, 8.4 Hz, H-5′), 7.71 (1H, d, J = 8.4 Hz, H-6′), 3.32 

(2H, d, J = 7.2 Hz, H-1"), 5.19 (1H, t, J = 7.2 Hz, ), 1.76 (3H, s, H-4"), 1.65 (3H, s, 

H-5"), 3.90 (3H, s, 5-OCH3). 
13

C NMR (100 MHz, DMSO-d6) δ: 157.5 (C-2), 102.2 

(C-3), 156.1 (C-4), 153.8 (C-5), 119.7 (C-6), 159.5 (C-7), 99.2 (C-8), 152.9 (C-9), 

99.7 (C-10), 114.3 (C-1′), 156.1 (C-2′), 98.5 (C-3′), 156.9 (C-4′), 114.0 (C-5′), 120.4 

(C-6′), 22.0 (C-1"), 122.4 (C-2"), 130.9 (C-3"), 17.7 (C-4"), 25.4 (C-5"), 62.4 

(5-OCH3). 

 

Isoangustone A (10): 
1
H NMR (400 MHz, DMSO-d6) δ: 8.23 (1H, s, H-2), 6.43 (1H, s, 

H-8), 6.66 (1H, d, J = 1.6 Hz, H-2′), 6.88 (1H, d, J = 1.6 Hz, H-6′), 3.23 (2H, d, J = 

6.8 Hz, H-1"), 5.17 (1H, t, J = 7.2 Hz, H-2"), 1.67 (3H, s, H-4"), 1.62 (3H, s, H-5"), 

3.23 (2H, d, J = 6.8 Hz, H-1'''), 5.17 (1H, t, J = 7.2 Hz, H-2'''), 1.67 (3H, s, H-4'''), 

1.72 (3H, s, H-5'''). 
13

H NMR (100 MHz, DMSO-d6) δ: 153.6 (C-2), 121.1 (C-3), 

180.3 (C-4), 158.8 (C-5), 111.0 (C-6), 162.0 (C-7), 92.9 (C-8), 155.3 (C-9), 104.2 

(C-10), 122.5 (C-1′), 120.4 (C-2′), 144.5 (C-3′), 143.1 (C-4′), 127.9 (C-5′), 114.0 

(C-6′), 21.0 (C-1"), 122.2 (C-2"), 130.7 (C-3"), 17.7 (C-4"), 25.5 (C-5"), 28.3 (C-1'''), 

123.0 (C-2'''), 130.9 (C-3'''), 17.7 (C-4'''), 25.5 (C-5'''). 

 

Isoglycyrol (11): 
1
H NMR (400 MHz, DMSO-d6)δ: 6.63 (1H, s, H-8), 7.16 (1H, d, J = 

1.6 Hz, H-2′), 6.96 (1H, d, J = 1.6, 8.4 Hz, H-4′), 7.71 (1H, d, J = 8.4 Hz, H-5′),2.81 

(2H, t, J = 6.4 Hz, H-1"), 1.83 (2H, t, J = 6.4 Hz, H-2"),1.34 (3H, s, H-4"), 1.34 (3H, s, 

H-5"), 3.95 (3H, s, 5-OCH3). 
13

C NMR (100 MHz, DMSO-d6) δ: 157.4 (C-2), 102.8 

(C-3), 157.8 (C-4), 153.5 (C-5), 113.1 (C-6), 157.4 (C-7), 100.4 (C-8), 152.7 (C-9), 

100.4 (C-10), 156.2 (C-1′), 98.5 (C-2′), 157.1 (C-3′), 114.1 (C-4′), 120.5 (C-5′), 114.2 

(C-6′), 16.2 (C-1"), 31.0 (C-2"), 75.9 (C-3"), 26.4 (C-4"), 26.4 (C-5"), 61.5 (5-OCH3). 

 

7-O-methylluteone (12): 
1
H NMR (400 MHz, DMSO-d6) δ: 8.24 (1H, s, H-2), 6.71 

(1H, s, H-8), 6.36 (1H, d, J = 1.2 Hz, H-3′), 6.27 (1H, dd, J = 1.2, 8.4 Hz, H-5′), 6.98 

(1H, d, J = 8.4 Hz, H-6′), 3.25 (2H, d, J = 6.8 Hz, H-1"), 5.13 (1H, t, J = 6.8 Hz, 

H-2"), 1.72 (3H, s, H-4"), 1.62 (3H, s, H-5"), 3.91 (3H, s, 7-OCH3). 
13

C NMR (100 

MHz, DMSO-d6) δ: 155.5 (C-2), 121.9 (C-3), 180.6 (C-4), 157.7 (C-5), 111.5 (C-6), 

162.7 (C-7), 90.1 (C-8), 155.9 (C-9), 102.6 (C-10), 108.6 (C-1′), 156.4 (C-2′), 105.3 



9 

(C-3′), 158.6 (C-4′), 106.2 (C-5′), 131 (C-6′), 21 (C-1"), 120.7 (C-2"), 132.2 (C-3"), 

17.6 (C-4"), 25.5 (C-5"), 56.4 (7-OCH3). 

 

Glyasperin D (13): 
1
H NMR (400 MHz, DMSO-d6) δ: 3.92 (1H, t, J = 10 Hz, H-2), 

4.15 (1H, m,H-2), 3.23 (1H, m,H-3), 2.73 (1H, dd, J = 10.4, 16.4 Hz, H-4), 2.77 (1H, 

ddd, J = 5.6, 6.5, 16.4 Hz, H-4), 6.23 (1H, s, H-8), 6.34 (1H, d, J = 2.4 Hz, H-3'), 6.20 

(1H, dd, J = 2.4, 8.4 Hz, H-5'), 6.87 (1H, d, J = 8.4 Hz, H-6'), 3.14 (2H, m, H-1"), 

5.09 (1H, t, J = 6.8 Hz, H-2"), 1.69 (3H, s, H-4"), 1.61 (3H, s, H-5"), 3.70 (3H, s, 

5-OCH3), 3.62 (3H, s, 7-OCH3), 9.38 (1H, s, 2'-OH), 9.11 (1H, s, 4'-OH). 
13

C NMR 

(100 MHz, DMSO-d6) δ: 69.3 (C-2), 30.7 (C-3), 25.5 (C-4), 156.6 (C-5), 114.2 (C-6), 

156.9 (C-7), 95.5 (C-8), 153.4 (C-9), 108.1 (C-10), 117.9 (C-1′), 155.8 (C-2′), 102.6 

(C-3′), 156.6 (C-4′), 106.3 (C-5′), 127.5 (C-6′), 22.2 (C-1"), 123.9 (C-2"), 129.7 

(C-3"), 17.6 (C-4"), 25.4 (C-5"), 60.1 (5-OCH3), 55.5 (7-OCH3). 

 

Dehydroglyasperin D (14): 
1
H NMR (400 MHz, DMSO-d6) δ: 4.89 (2H, s, H-2), 6.67 

(1H, s, H-4),6.32 (1H, s, H-8), 6.34 (1H, d, J = 1.6 Hz, H-3′), 6.25 (1H, d, J = 1.6, 8.4 

Hz, H-5′), 7.06 (1H, d, J = 8.4 Hz, H-6′),3.16 (2H, d, J = 6.4 Hz, H-1"), 5.08 (1H, t, J 

= 6.4 Hz, H-2"),1.71 (3H, s, H-4"), 1.62 (3H, s, H-5"), 3.66 (3H, s, 5-OCH3), 3.74 

(3H, s, 7-OCH3). 
13

C NMR (100 MHz, DMSO-d6) δ: 67.3 (C-2), 128.1 (C-3), 114.1 

(C-4), 154.4 (C-5), 115.1 (C-6), 157.5 (C-7), 95.3 (C-8), 152.7 (C-9), 109.9 (C-10), 

116.5 (C-1′), 156.2 (C-2′), 102.8 (C-3′), 158.2 (C-4′), 106.9 (C-5′), 128.5 (C-6′), 22.1 

(C-1"), 123.5 (C-2"), 129.6 (C-3"), 17.6 (C-4"), 25.5 (C-5"), 61.7 (5-OCH3), 55.7 

(7-OCH3). 

 

Gancaonin I (15): 
1
H NMR (400 MHz, DMSO-d6) δ: 7.18 (1H, s, H-3), 6.95 (1H, s, 

H-7), 6.46 (1H, d, J = 2.0 Hz, H-3′), 6.36 (1H, dd, J = 2.0, 8.4 Hz, H-5′), 7.57 (1H, d, 

J = 8.4 Hz, H-6′), 3.29 (1H, d, J = 7.2 Hz, H-1"), 5.11 (1H, t, J = 7.2 Hz, H-2"), 1.73 

(3H, s, H-4"), 1.62 (3H, s, H-5"), 3.96 (3H, s, 4-OCH3), 3.81 (3H, s, 6-OCH3), 10.18 

(1H, s, 2′-OH),9.61 (1H, s, 4′-OH). 
13

C NMR (100 MHz, DMSO-d6) δ: 150.9 (C-2), 

100.3 (C-3), 155.5 (C-4), 115.0 (C-5), 150.1 (C-6), 89.6 (C-7), 153.3 (C-8), 113.9 

(C-9), 108.8 (C-1′), 155.4 (C-2′), 102.9 (C-3′), 158.3 (C-4′), 107.1 (C-5′), 126.6 (C-6′), 

22.3 (C-1"), 123.6 (C-2"), 129.8 (C-3"), 17.6 (C-4"), 25.3 (C-5"), 59.9 (4-OCH3), 56.0 

(6-OCH3). 

 

Semilicoisoflavone B (16): 
1
H NMR (400 MHz, DMSO-d6) δ: 8.34 (1H, s, H-2), 6.22 

(1H, d, J = 1.6 Hz, H-6), 6.38 (1H, d, J = 1.6 Hz, H-8), 6.73 (1H, d, J = 1.6 Hz, H-2′), 

6.91 (1H, d, J = 1.6 Hz, H-6′),6.37 (1H, d, J = 9.6 Hz, H-1"), 5.76 (1H, d, J = 9.6 Hz, 

H-2"), 1.39 (3H, s, H-4"), 1.39 (3H,s, H-5"), 12.95 (1H, s, 5-OH),10.89 (1H, s, 7-OH), 

8.98 (1H, s, 3′-OH). 
13

C NMR (100 MHz, DMSO-d6) δ: 154.2 (C-2), 122.1 (C-3), 



10 

180.1 (C-4), 162.0 (C-5), 97.7 (C-6), 164.3 (C-7), 93.7 (C-8), 157.5 (C-9), 104.4 

(C-10), 122.7 (C-1′), 122.0 (C-2′), 145.1 (C-3′), 140.1 (C-4′), 121.4 (C-5′), 117.5 

(C-6′), 117.0 (C-1"), 131.3 (C-2"), 76.0 (C-3"), 27.5 (C-4"), 27.5 (C-5"). 

 

Kumatakenin (17): 
1
H NMR (400 MHz, DMSO-d6) δ: 6.37 (1H, d, J = 2.4 Hz, H-6), 

6.74 (1H, d, J = 2.4 Hz, H-8), 7.98 (2H, d, J = 8.8 Hz, H-2′, 6′), 6.95 (2H, d, J = 8.8 

Hz, H-3′, 5′), 3.80 (3H, s, OCH3), 3.86 (3H, s, OCH3), 12.67 (1H, s, OH), 10.28 (1H, s, 

OH). 
13

C NMR (100 MHz, DMSO-d6) δ: 155.9 (C-2), 137.8 (C-3), 178.0 (C-4), 160.9 

(C-5), 97.7 (C-6), 165.1 (C-7), 92.3 (C-8), 160.3 (C-9), 105.2 (C-10), 120.4 (C-1′), 

130.6 (C-2′), 115.6 (C-3′), 156.3 (C-4′), 115.6 (C-5′), 130.6 (C-6′), 56.0 (OCH3), 59.7 

(OCH3). 

 

Licoricone (18): 
1
H NMR (400 MHz, DMSO-d6) δ: 7.99 (1H, s, H-2), 7.87 (1H, d, J = 

8.4 Hz, H-5), 6.88 (1H, br d, J = 8.4 Hz, H-6), 6.80 (1H, br s, H-8), 6.32 (1H, s, H-5′), 

3.15 (2H, d, J = 6.8 Hz, H-1"), 5.11 (1H, t, J = 6.8 Hz, H-2"), 1.68 (3H, s, H-4"), 1.62 

(3H, s, H-5"), 3.36 (3H, s, OCH3), 3.73 (3H, s, OCH3). 
13

C NMR (100 MHz, 

DMSO-d6) δ: 154.3 (C-2), 118.4 (C-3), 175.18 (C-4), 126.9 (C-5), 115.7 (C-6), 162.7 

(C-7), 102.1 (C-8), 157.8 (C-9), 117.0 (C-10), 105.9 (C-1′), 157.9 (C-2′), 112.7 (C-3′), 

158.2 (C-4′), 95.3 (C-5′), 155.5 (C-6′), 22.3 (C-1"), 124.0 (C-2"), 129.6 (C-3"), 17.6 

(C-4"), 25.5 (C-5"), 55.5 (OCH3), 60.6 (OCH3). 

 

Angustone A (19): 
1
H NMR (400 MHz, DMSO-d6) δ: 8.11 (1H, s, H-2), 6.44 (1H, s, 

H-8), 6.36 (1H, d, J = 8.0 Hz, H-5′), 6.73 (1H, d, J = 8.0 Hz, H-6′), 3.23 (2H, d, J = 

7.6 Hz, H-1"), 5.18 (1H, t, J = 7.6 Hz, H-2"), 1.71 (3H, s, H-4"), 1.62 (3H, s, H-5"), 

3.25 (2H, d, J = 7.6 Hz, H-1′′′), 5.17 (1H, t, J = 7.6 Hz, H-2′′′), 1.72 (3H, s, H-4′′′), 

1.62 (3H, s, H-5′′′), 13.11 (1H, s, OH), 9.28 (1H, s, OH), 8.23 (1H, s, OH), 10.84 (1H, 

br s, OH). 
13

C NMR (100 MHz, DMSO-d6) δ: 155.5 (C-2), 121.0 (C-3), 181.0 (C-4), 

158.6 (C-5), 111.0 (C-6), 162.0 (C-7), 92.8 (C-8), 155.5 (C-9), 104.4 (C-10), 109.6 

(C-1′), 154.9 (C-2′), 115.3 (C-3′), 156.3 (C-4′), 106.6 (C-5′), 128.7 (C-6′), 21.0 (C-1"), 

122.2 (C-2"), 130.7 (C-3"), 17.8 (C-4"), 25.5 (C-5"), 22.4 (C-1′′′), 123.5 (C-2′′′), 

129.5 (C-3′′′), 17.7 (C-4′′′), 25.5 (C-5′′′). 

 

Licoflavonol (20): 
1
H NMR (400 MHz, DMSO-d6) δ: 6.49 (1H, s, H-8), 8.03 (1H, d, J 

= 8.8 Hz, H-2′), 8.03 (1H, d, J = 8.8 Hz, H-6′), 6.92 (1H, d, J = 8.8 Hz, H-3′), 6.92 

(1H, d, J = 8.8 Hz, H-5′), 3.24 (2H, d, J = 7.2 Hz, H-1′′), 5.19 (1H, t, J = 7.2 Hz, 

H-2′′), 1.76 (3H, s, H-4′′), 1.65 (3H, s, H-5′′), 12.73 (1H, s, OH), 10.81 (1H, s, OH), 

10.09 (1H, s, OH), 9.35 (1H, s, OH). 
13

C NMR (100 MHz, DMSO-d6) δ: 146.6 (C-2), 

135.0 (C-3), 175.9 (C-4), 159.1 (C-5), 110.2 (C-6), 161.7 (C-7), 92.8 (C-8), 154.0 

(C-9), 102.8 (C-10), 121.8 (C-1′), 129.5 (C-2′), 115.4 (C-3′), 157.4 (C-4′), 115.4 



11 

(C-5′), 129.5 (C-6′), 21.0 (C-1"), 122.3 (C-2"), 130.6 (C-3"), 17.7 (C-4"), 25.5 (C-5"). 

 

Topazolin (21): 
1
H NMR (400 MHz, DMSO-d6) δ: 6.47 (1H, s, H-8), 7.92 (2H, d, J = 

9.0 Hz, H-2′ and H-6′), 6.94 (2H, d, J = 9.0 Hz, H-3′ and H-5′), 3.22 (2H, d, J = 7.2 

Hz, H-1′′), 5.17 (1H, t, J = 7.2 Hz, H-2′′), 1.73 (3H, s, H-4′′), 1.62 (3H, s, H-5′′), 3.77 

(3H, s, 3-OCH3), 12.94 (1H, s, 5-OH). 
13

C NMR (100 MHz, DMSO-d6) δ: 154.3 

(C-2), 137.5 (C-3), 177.8 (C-4), 159.6 (C-5), 110.7 (C-6), 162.4 (C-7), 93.0 (C-8), 

155.2 (C-9), 103.8 (C-10), 120.7 (C-1′), 130.1 (C-2′), 115.6 (C-3′), 158.0 (C-4′), 115.6 

(C-5′), 130.1 (C-6′), 21.0 (C-1"), 122.3 (C-2"), 130.6 (C-3"), 17.7 (C-4"), 25.5 (C-5"). 

 

Licoisoflavone A (22): 
1
H NMR (400 MHz, DMSO-d6) δ: 8.13 (1H, s, 2-H), 6.22 (1H, 

d, J = 2.0 Hz, H-6), 6.39 (1H, d, J = 2.0 Hz, H-8), 6.37 (1H, d, J = 8.0 Hz, H-5′), 6.74 

(1H, d, J = 8.0 Hz, H-6′), 3.25 (2H, d, J = 7.2 Hz, H-1′′), 5.18 (1H, t, J = 7.2 Hz, 

H-2′′), 1.71 (3H, s, H-4′′), 1.62 (3H, s, H-5′′), 12.86 (1H, s, OH), 9.29 (1H, s, OH), 

10.86 (1H, s, OH), 8.25 (1H, s, OH). 
13

C NMR (100 MHz, DMSO-d6) δ: 154.0 (C-2), 

123.5 (C-3), 181.0 (C-4), 161.8 (C-5), 98.9 (C-6), 164.2 (C-7), 93.6 (C-8), 155.7 

(C-9), 104.6 (C-10), 106.6 (C-1′), 156.3 (C-2′), 109.4 (C-3′), 157.7 (C-4′), 115.3 

(C-5′), 128.7 (C-6′), 22.4 (C-1"), 129.5 (C-2"), 130.6 (C-3"), 17.8 (C-4"), 25.6 (C-5"). 

 

Wighteone (23): 
1
H NMR (400 MHz, DMSO-d6) δ: 8.30 (1H, s, H-2), 6.45 (1H, s, 

H-8), 7.37(2H, d, J = 8.8 Hz, H-2′ and H-6′), 6.82 (2H, d, J = 8.8 Hz, H-3′ and H-5′), 

3.21 (2H, d, J = 7.2 Hz, H-1"), 5.17 (1H, t, J = 7.2 Hz, ), 1.72 (3H, s, H-4"), 1.62 (3H, 

s, H-5"), 13.23 (1H, s, OH), 10.87 (1H, s, OH), 9.58 (1H, s, OH). 
13

C NMR (100 MHz, 

DMSO-d6) δ: 153.7 (C-2), 122.1 (C-3), 180.2 (C-4), 158.8 (C-5), 111.0 (C-6), 161.9 

(C-7), 92.9 (C-8), 155.3 (C-9), 104.2 (C-10), 122.1 (C-1′), 130.1 (C-2′), 115.0 (C-3′), 

157.4 (C-4′), 115.0 (C-5′), 130.1 (C-6′), 21.0 (C-1"), 121.4 (C-2"), 130.7 (C-3"), 17.7 

(C-4"), 25.5 (C-5"). 

 

Allolicoisoflavone B (24): 
1
H NMR (400 MHz, DMSO-d6) δ: 8.08 (1H, s, H-2), 6.18 

(1H, br s, H-6), 6.33 (1H, br s, H-8), 6.41 (1H, d, J = 8.4 Hz, H-5′), 6.92 (1H, d, J = 

8.4 Hz, H-6′), 6.60 (1H, d, J = 10 Hz, H-1"), 5.63 (1H, d, J = 10 Hz, H-2"), 1.30 (6H, 

s, H-4" and H-5"), 12.98 (1H, s, 5-OH). 
13

C NMR (100 MHz, DMSO-d6) δ: 154.9 

(C-2), 119.7 (C-3), 179.9 (C-4), 161.9 (C-5), 99.2 (C-6), 165.4 (C-7), 93.8 (C-8), 

157.7 (C-9), 103.9 (C-10), 109.7 (C-1′), 151.4 (C-2′), 109.0 (C-3′), 153.4 (C-4′), 

107.3 (C-5′), 131.3 (C-6′), 116.8 (C-1"), 128.5 (C-2"), 75.8 (C-3"), 27.5 (C-4"), 27.5 

(C-5"). 

 

5,7,4'-trihydroxy-3'(3-methylbut-2-enyl)-3-methoxy flavone (25): 
1
H NMR (400 MHz, 

DMSO-d6) δ: 6.19 (1H, d, J = 2 Hz, H-6), 6.42 (1H, d, J = 2 Hz, H-8), 7.82 (1H, d, J 



12 

= 2 Hz, H-2′), 6.96 (1H, d, J = 8.8 Hz, H-5′), 7.77 (1H, dd, J = 2.0, 8.4 Hz, H-6′), 3.28 

(2H, d, J = 7.2 Hz, H-1"), 5.33 (1H, t, J = 7.2 Hz, H-2"), 1.73 (3H, s, H-4"), 1.70 (3H, 

s,H-5"), 3.76 (3H, s, 3-OCH3), 12.70 (1H, s, 5-OH), 10.85 (1H, s, OH), 10.25 (1H, s, 

OH). 
13

C NMR (100 MHz, DMSO-d6) δ: 156.3 (C-2), 137.5 (C-3), 177.9 (C-4), 161.3 

(C-5), 98.5 (C-6), 164.1 (C-7), 93.6(C-8), 155.8 (C-9), 104.2 (C-10), 120.5 (C-1′), 

129.6 (C-2′), 127.8 (C-3′), 158.0 (C-4′), 115.0 (C-5′), 127.5 (C-6′), 27.8 (C-1"), 120.5 

(C-2"), 132.2 (C-3"), 17.6 (C-4"), 25.5 (C-5"), 59.6 (3-OCH3). 

 

Lupiwighteone (26): 
1
H NMR (400 MHz, DMSO-d6) δ: 8.35 (1H, s, H-2), 6.26 (1H, s, 

H-6), 7.37 (2H, d, J = 8.8 Hz, H-2′, 6′), 6.81 (2H, d, J = 8.8 Hz, H-3′, 5′), 12.90 (1H, s, 

5-OH). 
13

C NMR (100 MHz, DMSO-d6)δ: 153.7 (C-2), 121.5 (C-3), 180.2 (C-4), 

159.6 (C-5), 98.8 (C-6), 161.1 (C-7), 106.0 (C-8), 154.8 (C-9), 104.0 (C-10), 121.8 

(C-1′), 130.1 (C-2′), 115.0 (C-3′), 157.3 (C-4′), 115.0 (C-5′), 130.1 (C-6′), 21.0 (C-1"), 

122.5 (C-2"), 130.8 (C-3"), 17.7 (C-4"), 25.5 (C-5"). 

 

Licoarylcoumarin (27): 
1
H NMR (400 MHz, DMSO-d6) δ: 7.88 (1H, s, H-4), 6.40 

(1H, s, H-6), 6.34 (1H, br s, H-3′), 6.25 (1H, br d, J = 8.0 Hz, H-5′, 2"), 7.06 (1H, d, J 

=8.0 Hz, H-6′), 4.84 (2H, m, H-3"), 1.61 (6H, s, H-4", 5"), 3.81 (3H, s, 5-OCH3), 9.37 

(2H, br s, OH). 
13

C NMR (100 MHz, DMSO-d6) δ: 160.1 (C-2), 113.4 (C-3), 136.3 

(C-4), 155.9 (C-5), 96.1 (C-6), 158.1 (C-7), 102.7 (C-8), 159.9 (C-9), 117.7 (C-10), 

111.6 (C-1′), 153.9 (C-2′), 102.7 (C-3′), 154.2 (C-4′), 106.2 (C-5′), 131.4 (C-6′), 40.3 

(C-1"), 149.5 (C-2"), 108.1 (C-3"), 29.3 (C-4"), 29.3 (C-5"). 

 

Isolicoflavonol (28): 
1
H NMR (400 MHz, DMSO-d6) δ: 6.18 (1H, s, H-6), 6.42 (1H, s, 

H-8), 7.91 (1H, s, H-2′), 6.94 (1H, d, J = 8.4 Hz, H-5′), 7.88 (1H, d, J =8.4 Hz, H-6′), 

3.28 (2H, d, J = 7.2 Hz, H-1"), 5.30 (1H, t, J = 7.2 Hz, H-2"), 1.71 (3H, s, H-4"), 1.70 

(3H, s, H-5"), 12.49 (1H, s, 5-OH), 10.79 (1H, br s, OH), 10.07 (1H, s, OH), 9.32 (1H, 

br s, OH). 
13

C NMR (100 MHz, DMSO-d6) δ: 156.1 (C-2), 135.6 (C-3), 175.8 (C-4), 

160.7 (C-5), 98.2 (C-6), 163.9 (C-7), 93.4 (C-8), 147.0 (C-9), 103.0 (C-10), 121.6 

(C-1′), 129.1 (C-2′), 127.7 (C-3′), 157.0 (C-4′), 114.9 (C-5′), 127.0 (C-6′), 28.1 (C-1"), 

122.5 (C-2"), 131.8 (C-3"), 17.7 (C-4"), 25.5 (C-5"). 

 

Formononetin (30): 
1
H NMR (400 MHz, DMSO-d6) δ: 8.31 (1H, s, H-2), 7.95 (1H, d, 

J = 8.4 Hz, H-5), 6.92 (1H, d, J = 8.4 Hz, H-6), 6.83 (1H, s, H-8), 7.51 (2H, d, J = 8.4 

Hz, H-2′ and H-6′), 6.98 (2H, d, J = 8.4 Hz, H-3′ and H-5′), 3.78 (3H, s, 4′-OCH3). 
13

C NMR (100 MHz, DMSO-d6) δ: 157.5 (C-2), 123.1 (C-3), 174.5 (C-4), 127.2 (C-5), 

115.5 (C-6), 163.3 (C-7), 102.1 (C-8), 153.0 (C-9), 116.2 (C-10), 124.3 (C-1′), 130.0 

(C-2′), 113.6 (C-3′), 158.9 (C-4′), 113.6 (C-5′), 130.0 (C-6′), 55.1 (4′-OCH3). 

 



13 

Genkwanin (31): 
1
H NMR (400 MHz, DMSO-d6) δ:6.85 (1H, s, H-3)，6.37 (1H, d, J = 

2.0 Hz, H-6), 6.22 (1H, d, J = 2.0 Hz, H-8), 7.96 (2H, d, J = 8.4 Hz, H-2′ and H-6′), 

6.93 (2H, d, J = 8.4 Hz, H-3′ and H-5′), 3.87 (3H, s, 7-OCH3), 12.96 (1H, s, 5-OH), 

10.39 (1H, br s, 4′-OH). 
13

C NMR (100 MHz, DMSO-d6) δ: 157.2 (C-2), 104.6 (C-3), 

181.9 (C-4), 164.1 (C-5), 97.9 (C-6), 165.1 (C-7),92.7 (C-8), 161.3 (C-9), 103.0 

(C-10), 121.0 (C-1′), 128.5 (C-2′), 115.9 (C-3′), 161.2 (C-4′), 115.9 (C-5′), 128.5 

(C-6′), 56.0 (7-OCH3). 

 

Glycycoumarin (33): 
1
H NMR (400 MHz, DMSO-d6) δ: 7.81 (1H, s, H-4), 6.61 (1H, s, 

H-8), 6.37 (1H, br s, H-3′), 6.25 (1H, br d, J = 8.4 Hz, H-5′), 7.11 (1H, d, J = 8.4 Hz, 

H-6′), 3.23 (2H, d, J = 6.0 Hz, H-1"), 5.15 (1H, t, J = 6.0 Hz, H-2"), 1.73 (3H, s, 

H-4"), 1.63 (3H, s, H-5"), 3.76 (3H, s, 5-OCH3), 10.60 (1H, s, OH), 9.40 (2H, br s, 

OH). 
13

C NMR (100 MHz, DMSO-d6) δ: 159.3 (C-2), 120.4 (C-3), 136.5 (C-4), 156.1 

(C-5), 118.4 (C-6), 160.1 (C-7), 98.0 (C-8), 153.0 (C-9), 106.3 (C-10), 113.5 (C-1′), 

155.3 (C-2′), 102.7 (C-3′), 158.4 (C-4′), 106.1 (C-5′), 131.6 (C-6′), 22.3 (C-1"), 122.7 

(C-2"), 130.7 (C-3"), 17.7 (C-4"), 25.5 (C-5"), 62.8 (5-OCH3). 

 

Isoglabrone (34): 
1
H NMR (400 MHz, DMSO-d6) δ: 8.21 (1H, s, H-2), 7.85 (1H, d, J 

= 8.8 Hz, H-5), 6.92 (1H, d, J = 8.8 Hz, H-6), 6.35 (1H, d, J = 2.4 Hz, H-3′), 6.26 (1H, 

dd, J = 2.4, 8.4 Hz, H-5′), 6.98 (1H, d, J = 8.4 Hz, H-6′), 6.80 (1H, d, J = 10.0 Hz, 

H-1"), 5.94 (1H, d, J = 10.0 Hz, H-2"), 1.46 (6H, s, H-4", 5"), 9.34 (1H, s, OH), 9.23 

(1H, s, OH). 
13

C NMR (100 MHz, DMSO-d6) δ: 151.6 (C-2), 121.8 (C-3), 175.0 (C-4), 

131.3 (C-5), 108.9 (C-6), 164.4 (C-7), 114.2 (C-8), 154.3 (C-9), 106.2 (C-10), 114.7 

(C-1′), 154.3 (C-2′), 102.7 (C-3′), 158.4 (C-4′), 103.3 (C-5′), 125.9 (C-6′), 117.7 

(C-1"), 132.1 (C-2"), 77.7 (C-3"), 27.6 (C-4"), 27.6 (C-5"). 

 

Glyurallin A (35): 
1
H NMR (400 MHz, DMSO-d6) δ: 5.39 (1H, s, H-2), 6.27 (1H, s, 

H-8), 6.95 (1H, d, J = 2.0 Hz H-3′), 6.75 (1H, dd, J = 2.0, 8.4 Hz, H-5′), 7.30 (1H, d, J 

= 8.4 Hz, H-6′), 3.18 (2H, d, J = 6.8 Hz, H-1"), 5.16 (1H, t, J = 6.8 Hz, H-2"), 1.73 

(3H, s, H-4"), 1.63 (3H, s, H-5"), 3.74 (3H, s, 5-OCH3), 9.78 (1H, s, OH), 9.57 (1H, s, 

OH). 
13

C NMR (100 MHz, DMSO-d6) δ: 64.1 (C-2), 106.2 (C-3), 144.9 (C-4), 155.2 

(C-5), 115.2 (C-6), 152.8 (C-7), 99.8 (C-8), 156.6 (C-9), 102.5 (C-10), 117.1 (C-1′), 

155.9 (C-2′), 98.0 (C-3′), 153.3 (C-4′), 112.2 (C-5′), 118.8 (C-6′), 21.9 (C-1"), 123.5 

(C-2"), 129.8 (C-3"), 17.7 (C-4"), 25.4 (C-5"), 61.5 (5-OCH3). 

 

7-methoxy-2',4'-dihydroxy isoflavone (36): 
1
H NMR (400 MHz, DMSO-d6) δ: 8.21 

(1H, s, H-2), 7.99 (1H, d, J = 8.8 Hz, H-5), 7.07 (1H, br d, J = 8.8 Hz, H-6), 7.15 (1H, 

br s, H-8), 6.36 (1H, br s, H-3′), 6.26 (1H, br d, J = 7.6 Hz, H-5′), 6.98 (1H, d, J = 7.6 

Hz, H-6′), 3.91 (3H, s, 7-OCH3), 9.35 (br s, OH). 
13

C NMR (100 MHz, DMSO-d6)δ: 



14 

154.6 (C-2), 122.0 (C-3), 175.1 (C-4), 126.9 (C-5), 114.6 (C-6), 163.6 (C-7), 102.8 

(C-8), 156.4 (C-9), 117.6 (C-10), 109.9 (C-1′), 157.4 (C-2′), 100.5 (C-3′), 158.4 (C-4′), 

106.2 (C-5′), 132.1 (C-6′), 56.1 (7-OCH3). 

 

11b-hydroxy-11b,1-dihydromedicarpin (37): 
1
H NMR (400 MHz, DMSO-d6) δ: 4.20 

(1H, d, J = 10.8 Hz, H-2β), 4.66 (1H, dd, J = 3.6, 10.8 Hz, H-2α), 3.89 (1H, dd, J = 

3.6, 10.0 Hz, H-3), 4.90 (1H, d, J = 10.0 Hz, H-4), 2.19 (1H, m, H-5α), 2.69 (1H, m, 

H-5β), 1.93 (1H, m, H-6β), 2.73 (1H, m,H-6α), 5.24(1H, s, H-8), 6.37 (1H, d, J = 2.4 

Hz, H-3′), 6.47 (1H, dd, J = 2.4, 8.0 Hz, H-5′), 7.22 (1H, d, J = 8.0 Hz, H-6′), 3.69 

(3H, s, 4′-OCH3). 
13

C NMR (100 MHz, DMSO-d6) δ: 67.5 (C-2), 39.1 (C-3), 82.6 

(C-4), 31.4 (C-5), 32.0 (C-6), 197.5 (C-7), 107.5 (C-8), 171.9 (C-9), 66.2 (C-10), 

120.0 (C-1′), 160.0 (C-2′), 95.3 (C-3′), 160.5 (C-4′), 107.0 (C-5′), 125.1 (C-6′), 55.3 

(4′-OCH3). 

 

Kaempferol 3-O-methyl ether (38): 
1
H NMR (400 MHz, DMSO-d6) δ: 6.18 (1H, d, J 

= 1.6 Hz, H-6), 6.42 (1H, d, J = 1.6 Hz, H-8), 7.93 (1H, d, J = 8.8 Hz , H-2′, 6′), 6.94 

(1H, d, J = 8.8 Hz, H-3′, 5′), 3.77 (3H, s, 3-OCH3), 12.88 (1H, s, 5-OH), 10.59 (br s, 

OH). 
13

C NMR (100 MHz, DMSO-d6) δ: 155.5 (C-2), 137.6 (C-3), 177.9 (C-4), 161.2 

(C-5), 98.6 (C-6), 164.4 (C-7), 93.7 (C-8), 160.2 (C-9), 104.1 (C-10), 120.6 (C-1′), 

130.1 (C-2′), 116.6 (C-3′), 156.4 (C-4′), 115.6 (C-5′), 130.1 (C-6′), 59.7 (3-OCH3). 

 

2-one-4-methoxy-pyran (39): 
1
H NMR (400 MHz, DMSO-d6) δ: 6.15 (1H, d, J = 1.6 

Hz, H-3), 6.25 (1H, dd, J = 1.6, 8.8 Hz, H-5), 7.54 (1H, d, J = 8.8 Hz , H-6), 3.80 (3H, 

s, 4-OCH3). 
13

C NMR (100 MHz, DMSO-d6) δ: 163.0 (C-2), 102.6 (C-3), 169.7 (C-4), 

109.6 (C-5), 131.1 (C-6), 51.7 (4-OCH3). 

 

Hirtellanine I (40): 
1
H NMR (400 MHz, DMSO-d6) δ: 8.06 (1H, s, H-2), 7.90 (1H, d, 

J = 8.4 Hz, H-5), 6.93 (1H, br d, J = 8.4 Hz , H-6), 6.87 (1H, br s, H-8), 6.13 (1H, s, 

H-5′), 6.42 (1H, d, J = 9.2 Hz, H-1′′), 5.57 (1H, d, J = 9.2 Hz, H-2′′), 1.37 (6H, s, 

H-4′′, 5′′), 3.46 (3H, s, 2′-OCH3), 10.81 (1H, s, OH), 9.51 (1H, s, OH). 
13

C NMR (100 

MHz, DMSO-d6) δ: 154.5 (C-2), 118.1 (C-3), 175.1 (C-4), 127,1 (C-5), 115.0 (C-6), 

162.4 (C-7), 102.2 (C-8), 157.7 (C-9), 116.7 (C-10), 106.0 (C-1′), 155.8 (C-2′), 106.9 

(C-3′), 154.0 (C-4′), 99.2 (C-5′), 157.3 (C-6′), 116.6 (C-1"), 126.9 (C-2"), 75.9 (C-3"), 

27.6 (C-4"), 27.6 (C-5"), 61.6 (2′-OCH3). 

 

Glycyrrhiza-isoflavone C (41): 
1
H NMR (400 MHz, DMSO-d6) δ: 8.02 (1H, s, H-2), 

7.90 (1H, d, J = 8.8 Hz, H-5), 6.92 (1H, dd, J = 2.4, 8.8 Hz , H-6), 6.87 (1H, d, J = 2.4 

Hz, H-8), 6.06 (1H, s, H-5′), 2.58 (1H, t, J = 6.4 Hz, H-1′′), 1.71 (1H, t, J = 6.4 Hz, 

H-2′′), 1.27 (6H, s, H-4′′, 5′′), 3.43 (3H, s, 2′-OCH3), 10.79 (1H, s, OH), 9.06 (1H, s, 



15 

OH). 
13

C NMR (100 MHz, DMSO-d6) δ: 154.7 (C-2), 118.5 (C-3), 175.2 (C-4), 127,1 

(C-5), 114.9 (C-6), 162.4 (C-7), 102.2 (C-8), 157.6 (C-9), 116.7 (C-10), 105.5 (C-1′), 

155.4 (C-2′), 105.5 (C-3′), 155.4 (C-4′), 99.1 (C-5′), 157.7 (C-6′), 16.7 (C-1"), 31.9 

(C-2"), 73.9 (C-3"), 26.5 (C-4"), 26.5 (C-5"), 59.8 (2′-OCH3). 

 

Isoliquiritigenin (42): 
1
H NMR (400 MHz, DMSO-d6)δ: 7.76 (1H, d, J = 16.0 Hz, 

H-β), 7.72 (1H, d, J = 16.0 Hz, H-α), 8.16 (1H, d, J = 8.8 Hz , H-6′), 6.40 (1H, dd, J = 

2.4, 8.8 Hz, H-5′), 6.28 (1H, d, J = 2.4 Hz , H-3′), 7.75 (2H, d, J = 8.4 Hz, H-2, 6), 

6.84 (2H, d, J = 8.4 Hz, H-3, 5), 13.58 (1H, s, 2′-OH), 10.64 (1H, br s, OH), 10.10 

(1H, br s, OH). 
13

C NMR (100 MHz, DMSO-d6) δ: 144.3 (C-β), 117.4 (C-α), 191.5 

(C=O), 132.9 (C-6′), 108.1 (C-5′), 165.8 (C-4′), 102.6 (C-3′), 165.0 (C-2′), 113.0 

(C-1′), 125.8 (C-1), 131.2 (C-2), 115.9 (C-3), 160.3 (C-4), 115.9 (C-5), 131.2 (C-6). 

 

Isoglycycoumarin (43): 
1
H NMR (400 MHz, DMSO-d6) δ: 7.83 (1H, s, H-4), 6.56 (1H, 

s, H-8), 6.36 (1H, d, J = 2.4 Hz , H-3′), 6.27 (1H, dd, J = 2.4, 8.4 Hz, H-5′), 7.10 (1H, 

d, J = 8.4 Hz , H-6′), 2.75 (2H, t, J = 6.8 Hz, H-1"), 1.81 (2H, d, J = 6.8 Hz, H-2"), 

1.33 (6H, s, H-4′′, 5′′), 3.83 (3H, s, 5-OCH3), 9.42 (1H, s, OH), 9.41 (1H, s, OH). 
13

C 

NMR (100 MHz, DMSO-d6) δ: 159.9 (C-2), 113.4 (C-3), 135.9 (C-4), 156.0 (C-5), 

106.7 (C-6), 157.2 (C-7), 99.3 (C-8), 158.4 (C-9), 121.2 (C-10), 111.6 (C-1′), 152.8 

(C-2′), 102.7 (C-3′), 154.9 (C-4′), 106.2 (C-5′), 131.5 (C-6′), 16.5 (C-1"), 31.1 (C-2"), 

75.7 (C-3"), 26.4 (C-4"), 26.4 (C-5"), 61.9 (5-OCH3). 

 

Genistein (44): 
1
H NMR (400 MHz, DMSO-d6) δ: 8.31 (1H, s, H-4), 6.22 (1H, d, J = 

2.0 Hz, H-6), 6.38 (1H, d, J = 2.0 Hz, H-8), 7.37 (2H, d, J = 8.8 Hz, H-2′, 6′), 6.82 

(2H, d, J = 8.8 Hz, H-3′, 5′), 12.95 (1H, s, 5-OH), 10.89 (1H, br s, OH), 9.59 (1H, s, 

OH). 
13

C NMR (100 MHz, DMSO-d6) δ: 154.0 (C-2), 121.2 (C-3), 180.2 (C-4), 162.0 

(C-5), 99.0 (C-6), 164.3 (C-7), 93.7 (C-8), 157.4 (C-9), 104.5 (C-10), 122.3 (C-1′), 

130.2 (C-2′), 115.1 (C-3′), 157.6 (C-4′), 115.1 (C-5′), 130.2 (C-6′). 

 

Kumatakenin B (45): 
1
H NMR (400 MHz, DMSO-d6) δ: 6.71 (1H, s, H-3), 7.85 (1H, 

d, J = 8.4 Hz, H-5), 6.89 (1H, dd, J = 2.0, 8.4 Hz, H-6), 6.96 (1H, d, J = 2.0 Hz, H-8), 

7.90 (2H, d, J = 8.8 Hz, H-2′, 6′), 6.92 (2H, d, J = 8.8 Hz, H-3′, 5′), 10.56 (br s, OH). 
13

C NMR (100 MHz, DMSO-d6) δ: 162.7 (C-2), 104.4 (C-3), 176.2 (C-4), 126.4 (C-5), 

114.8 (C-6), 162.4 (C-7), 102.4 (C-8), 160.7 (C-9), 116.0 (C-10), 121.7 (C-1′), 128.1 

(C-2′), 115.9 (C-3′), 157.4 (C-4′), 115.9 (C-5′), 128.1 (C-6′). 

 

Luteone (46): 
1
H NMR (400 MHz, DMSO-d6) δ: 8.12 (1H, s, H-2), 6.45 (1H, s, H-8), 

6.36 (1H, d, J = 2.4 Hz, H-3′), 6.26 (1H, dd, J = 2.4, 8.4 Hz, H-5′), 6.95 (1H, d, J = 

8.4 Hz, H-6′), 3.22 (2H, d, J = 6.8 Hz, H-1"), 5.17 (1H, t, J = 6.8 Hz, H-2"), 1.72 (3H, 



16 

s, H-4"), 1.62 (3H, s, H-5"). 
13

C NMR (100 MHz, DMSO-d6) δ: 155.0 (C-2), 122.2 

(C-3), 180.5 (C-4), 158.5 (C-5), 110.9 (C-6), 161.2 (C-7), 92.8 (C-8), 155.3 (C-9), 

102.6 (C-10), 108.8 (C-1′), 156.4 (C-2′), 104.3 (C-3′), 158.7 (C-4′), 106.2 (C-5′), 

130.7 (C-6′), 21.0 (C-1"), 120.3 (C-2"), 132.2 (C-3"), 17.7 (C-4"), 25.5 (C-5"). 

 

Licocoumarone (47): 
1
H NMR (400 MHz, DMSO-d6) δ: 7.15 (1H, s, H-3), 6.70 (1H, s, 

H-7), 6.46 (1H, d, J = 2.0 Hz, H-3′), 6.35 (1H, dd, J = 2.0, 8.4 Hz, H-5′), 7.56 (1H, d, 

J = 8.4 Hz, H-6′), 3.27 (1H, d, J = 6.8 Hz, H-1"), 5.17 (1H, t, J = 6.8 Hz, H-2"), 1.73 

(3H, s, H-4"), 1.62 (3H, s, H-5"), 3.94 (3H, s, 4-OCH3), 10.14 (1H, s, OH), 9.57 (1H, 

br s, 4′-OH), 9.45 (1H, s, OH). 
13

C NMR (100 MHz, DMSO-d6) δ: 150.1 (C-2), 100.4 

(C-3), 155.3 (C-4), 109.0 (C-5), 153.1 (C-6), 92.2 (C-7), 150.4 (C-8), 107.1 (C-9), 

112.6 (C-1′), 153.2 (C-2′), 103.0 (C-3′), 158.2 (C-4′), 114.1 (C-5′), 126.6 (C-6′), 22.4 

(C-1"), 124.0 (C-2"), 129.4 (C-3"), 17.7 (C-4"), 25.5 (C-5"), 59.8 (4-OCH3). 

 

Uralenol (49): 
1
H NMR (400 MHz, DMSO-d6) δ: 6.18 (1H, d, J = 1.6 Hz, H-6), 6.38 

(1H, d, J = 1.6 Hz, H-8), 7.44 (1H, d, J = 2.0 Hz, H-2′), 7.59 (1H, d, J = 2.0 Hz, H-6′), 

3.28 (1H, d, J = 6.8 Hz, H-1"), 5.29 (1H, t, J = 6.8 Hz, H-2"), 1.70 (6H, s, H-4", 5"), 

12.49 (1H, s, 5-OH), 10.76 (1H, br s, OH), 9.66 (1H, s, OH), 9.29 (1H, br s, OH), 

9.91 (1H, s, OH). 
13

C NMR (100 MHz, DMSO-d6) δ: 146.9 (C-2), 135.7 (C-3), 175.7 

(C-4), 160.7 (C-5), 98.1 (C-6), 163.8 (C-7), 93.2 (C-8), 156.1 (C-9), 103.0 (C-10), 

120.2 (C-1′), 112.5 (C-2′), 144.5 (C-3′), 145.4 (C-4′), 121.1 (C-5′), 128.0 (C-6′), 28.2 

(C-1"), 122.7 (C-2"), 131.4 (C-3"), 17.7 (C-4"), 25.5 (C-5"). 

 

Glicoricone (51): 
1
H NMR (400 MHz, DMSO-d6) δ: 7.99 (1H, s, H-2), 7.90 (1H, d, J 

= 8.8 Hz, H-5), 6.91 (1H, dd, J = 2.4, 8.8 Hz, H-6), 6.86 (1H, d, J = 2.4 Hz, H-8), 6.23 

(1H, s, H-5′), 3.12 (2H, d, J = 6.8 Hz, H-1"), 5.16 (1H, t, J = 6.8 Hz, H-2"), 1.68 (3H, 

s, H-4"), 1.62 (3H, s, H-5"), 3.35 (3H, s, 2′-OCH3), 10.72 (1H, s, OH), 9.30 (1H, s, 

OH), 8.92 (1H, s, OH). 
13

C NMR (100 MHz, DMSO-d6) δ: 154.9 (C-2), 118.9 (C-3), 

175.3 (C-4), 127.1 (C-5), 114.8 (C-6), 162.3 (C-7), 102.1 (C-8), 157.6 (C-9), 116.7 

(C-10), 104.4 (C-1′), 154.4 (C-2′), 111.5 (C-3′), 156.3 (C-4′), 98.5 (C-5′), 158.2 (C-6′), 

22.4 (C-1"), 124.4 (C-2"), 129.1 (C-3"), 17.6 (C-4"), 25.5 (C-5"), 60.4 (3H, s, 

2′-OCH3). 

 

Pratensein (52): 
1
H NMR (400 MHz, DMSO-d6) δ: 8.33 (1H, s, H-2), 6.23 (1H, d, J = 

1.6 Hz, H-6), 6.39 (1H, d, J = 1.6 Hz, H-8), 7.03 (1H, d, J = 1.2 Hz, H-2′), 6.97 (1H, d, 

J = 8.4 Hz, H-5′), 4.94 (1H, dd, J = 1.2, 8.4 Hz, H-6′), 3.79 (3H, s, 4′-OCH3), 10.88 

(1H, s, OH), 12.96 (1H, s, 5-OH), 9.05 (1H, s, OH). 
13

C NMR (100 MHz, DMSO-d6) 

δ: 154.2 (C-2), 122.1 (C-3), 180.1 (C-4), 162.0 (C-5), 99.0 (C-6), 164.3 (C-7), 93.7 

(C-8), 157.5 (C-9), 104.5 (C-10), 123.3 (C-1′), 116.4 (C-2′), 146.1 (C-3′), 147.7 (C-4′), 



17 

112.0 (C-5′), 119.8 (C-6′), 55.7 (3H, s, 4′-OCH3). 

 

Dehydroglyasperin C (53): 
1
H NMR (400 MHz, DMSO-d6) δ: 4.83 (2H, s, H-2), 6.64 

(1H, s, H-4), 6.14 (1H, s, H-8), 6.33 (1H, d, J = 2.0 Hz, H-3′), 6.24 (1H, dd, J = 2.0, 

8.4 Hz, H-5′), 7.03 (1H, d, J = 8.4 Hz, H-6′), 3.14 (2H, d, J = 6.0 Hz, H-1"), 5.13 (1H, 

t, J = 6.0 Hz, H-2"), 1.70 (3H, s, H-4"), 1.62 (3H, s, H-5"), 3.64 (3H, s, 5-OCH3), 9.56 

(1H, s, OH), 9.50 (1H, s, OH), 9.36 (1H, s, OH). 
13

C NMR (100 MHz, DMSO-d6) δ: 

67.2 (C-2), 127.5 (C-3), 116.5 (C-4), 158.0 (C-5), 114.6 (C-6), 154.9 (C-7), 98.4 (C-8), 

152.3 (C-9), 113.9 (C-10), 102.8 (C-1′), 155.8 (C-2′), 106.8 (C-3′), 156.1 (C-4′), 108.7 

(C-5′), 128.6 (C-6′), 22.1 (C-1"), 123.9 (C-2"), 129.5 (C-3"), 17.6 (C-4"), 25.5 (C-5"), 

61.6 (3H, s, 5-OCH3). 

 

Homobutein (54): 
1
H NMR (400 MHz, DMSO-d6) δ: 7.79 (1H, d, J = 15.6 Hz, H-β), 

7.73 (1H, d, J = 15.6 Hz, H-α), 8.20 (1H, d, J = 9.2 Hz , H-6′), 6.42 (1H, dd, J = 2.0, 

9.2 Hz, H-5′), 6.28 (1H, d, J = 2.0 Hz, H-3′), 7.53 (1H, d, J = 2.0 Hz , H-′), 7.28 (1H, 

dd, J = 2.0, 8.0 Hz, H-′), 6.84 (1H, d, J = 8.0 Hz, H-′), 3.87 (3H, s, 3-OCH3), 10.72 

(1H, br s, OH), 13.63 (1H, s, 2′-OH), 9.75 (1H, s, OH). 
13

C NMR (100 MHz, 

DMSO-d6) δ: 144.7 (C-β), 117.6 (C-α), 191.5 (C=O), 132.8 (C-6′), 108.0 (C-5′), 165.8 

(C-4′), 102.5 (C-3′), 164.9 (C-2′), 113.0 (C-1′), 126.2 (C-1), 111.7 (C-2), 149.9 (C-3), 

148.0 (C-4), 115.5 (C-5), 124.6 (C-6), 55.8 (4-OCH3). 

 

6-C-prenylorobol (55): 
1
H NMR (400 MHz, DMSO-d6) δ: 8.26 (1H, s, H-2), 6.45 (1H, 

s, H-8), 6.99 (1H, d, J = 1.6 Hz, H-2′), 6.79 (1H, dd, J = 1.6, 8.4 Hz, H-6′), 6.77 (1H, 

d, J = 8.4 Hz, H-5′), 3.23 (2H, d, J = 7.2 Hz, H-1"), 5.17 (1H, t, J = 7.2 Hz, H-2"), 

1.72 (3H, s, H-4"), 1.62 (3H, s, H-5"), 13.26 (1H, s, 5-OH), 10.89 (1H, br s, OH), 9.05 

(1H, br s, OH), 8.99 (1H, br s, OH). 
13

C NMR (100 MHz, DMSO-d6) δ: 153.7 (C-2), 

122.1 (C-3), 180.2 (C-4), 158.8 (C-5), 115.4 (C-6), 161.9 (C-7), 92.8 (C-8), 155.3 

(C-9), 104.2 (C-10), 121.8 (C-1′), 116.6 (C-2′), 144.9 (C-3′), 145.5 (C-4′), 111.0 

(C-5′), 119.9 (C-6′), 21.0 (C-1"), 122.3 (C-2"), 130.6 (C-3"), 17.7 (C-4"), 25.4 (C-5"). 

 

Kaempferol (56): 
1
H NMR (400 MHz, DMSO-d6) δ: 6.44 (1H, d, J = 2.0 Hz, H-6), 

6.19 (1H, d, J = 2.0 Hz, H-8), 8.04 (2H, d, J = 8.8 Hz , H-2′, 6′), 6.93 (2H, d, J = 8.8 

Hz, H-3′, 5′), 12.48 (1H, s, 5-OH), 10.82 (1H, br s, OH), 10.13 (1H, br s, OH), 9.38 

(1H, br s, OH). 
13

C NMR (100 MHz, DMSO-d6) δ: 146.8 (C-2), 135.7 (C-3), 175.9 

(C-4), 160.7 (C-5), 98.2 (C-6), 163.9 (C-7), 93.5 (C-8), 156.2 (C-9), 103.0 (C-10), 

121.7 (C-1′), 129.5 (C-2′), 115.4 (C-3′), 159.2 (C-4′), 115.4 (C-5′), 129.5 (C-6′). 

 

Gancaonin L (57): 
1
H NMR (400 MHz, DMSO-d6) δ: 8.35 (1H, s, H-2), 6.31 (1H, s, 

H-8), 7.00 (1H, d, J = 1.6 Hz, H-2′), 6.77 (1H, dd, J = 1.6, 8.4 Hz, H-6′), 6.81 (1H, d, 



18 

J = 8.4 Hz, H-5′), 3.31 (2H, d, J = 7.2 Hz, H-1"), 5.15 (1H, t, J = 7.2 Hz, H-2"), 1.75 

(3H, s, H-4"), 1.63 (3H, s, H-5"), 12.94 (1H, s, 5-OH), 10.81 (1H, s, OH), 9.05 (1H, s, 

OH), 8.98 (1H, s, OH). 
13

C NMR (100 MHz, DMSO-d6) δ: 154.0 (C-2), 122.1 (C-3), 

180.5 (C-4), 159.6 (C-5), 98.4 (C-6), 161.5 (C-7), 105.8 (C-8), 154.8 (C-9), 104.4 

(C-10), 122.1 (C-1′), 116.6 (C-2′), 144.8 (C-3′), 145.5 (C-4′), 115.4 (C-5′), 119.9 

(C-6′), 21.0 (C-1"), 121.7 (C-2"), 131.0 (C-3"), 17.7 (C-4"), 25.4 (C-5"). 

 

Licoisoflavanone (58): 
1
H NMR (400 MHz, DMSO-d6) δ: 4.29 (1H, dd, J = 5.6, 10.8 

Hz, H-2β), 4.41 (1H, dd, J = 5.6, 10.8 Hz, H-2α), 4.52 (1H, t, J = 10.8 Hz, H-3), 5.89 

(2H, s, H-6, 8), 6.27 (1H, d, J = 8.4 Hz, H-5′), 6.83 (1H, d, J = 8.4 Hz, H-6′), 6.69 (1H, 

d, J = 10.0 Hz, H-1′′), 5.67 (1H, d, J = 10.0 Hz, H-2′′), 1.34 (2H, s, H-4′, 5′), 12.29 

(1H, br s, 5-OH). 
13

C NMR (100 MHz, DMSO-d6) δ: 69.8 (C-2), 46.3 (C-3), 197.1 

(C-4), 163.9 (C-5), 96.0 (C-6), 166.8 (C-7), 94.9 (C-8), 163.1 (C-9), 102.0 (C-10), 

117.0 (C-1′), 150.8 (C-2′), 107.9 (C-3′), 152.8 (C-4′), 110.2 (C-5′), 130.1 (C-6′), 115.5 

(C-1"), 129.1 (C-2"), 75.1 (C-3"), 27.4 (C-4"), 27.4 (C-5"). 

 

Abiochanin A (59): 
1
H NMR (400 MHz, DMSO-d6) δ: 8.34 (1H, s, H-2), 6.21 (1H, d, 

J = 1.6 Hz, H-6), 6.37 (1H, d, J = 1.6 Hz, H-8), 7.50 (2H, d, J = 8.8 Hz, H-2′, 6′), 7.00 

(2H, d, J = 8.8 Hz, H-3′, 5′), 3.79 (3H, s, 4′-OCH3) , 12.91 (1H, br s, 5-OH). 
13

C NMR 

(100 MHz, DMSO-d6) δ: 154.1 (C-2), 123.0 (C-3), 179.9 (C-4), 161.9 (C-5), 99.3 

(C-6), 165.5 (C-7), 93.9 (C-8), 157.7 (C-9), 104.0 (C-10), 121.8 (C-1′), 130.1 (C-2′), 

113.7 (C-3′), 159.1 (C-4′), 113.7 (C-5′), 130.1 (C-6′), 55.2 (4′-OCH3). 

 

Liquiritigenin (60): 
1
H NMR (400 MHz, DMSO-d6) δ: 5.37 (1H, dd, J = 2.4, 12.8 Hz, 

H-2), 3.03 (1H, dd, J = 12.8, 16.4 Hz, H-3α), 2.55 (1H, dd, J = 2.4, 16.4 Hz, H-3β), 

7.56 (1H, d, J = 8.4 Hz, H-5), 6.37 (1H, dd, J = 1.2, 8.4 Hz, H-6), 6.16 (1H, d, J = 1.2 

Hz, H-8), 7.30 (2H, d, J = 8.8 Hz, H-2′, 6′), 6.78 (2H, d, J = 8.8 Hz, H-3′, 5′). 
13

C 

NMR (100 MHz, DMSO-d6) δ: 78.7 (C-2), 43.3 (C-3), 189.4 (C-4), 128.1 (C-5), 

111.7 (C-6), 165.4 (C-7), 102.7 (C-8), 163.4 (C-9), 112.0 (C-10), 129.6 (C-1′), 128.1 

(C-2′), 115.1 (C-3′), 157.6 (C-4′), 115.1 (C-5′), 128.1 (C-6′). 

 

Licoflavone A (61): 
1
H NMR (400 MHz, DMSO-d6)δ: 6.70 (1H, s, H-3), 7.66 (1H, s, 

H-5), 6.98 (1H, s, H-8), 7.89 (2H, d, J = 8.8 Hz, H-2′, 6′), 6.92 (2H, d, J = 8.8 Hz, 

H-3′, 5′), 3.30 (1H, d, J = 7.6 Hz, H-1′′), 5.32 (1H, t, J = 7.6 Hz, H-2′′), 1.73 (3H, s, 

H-4′′), 1.68 (3H, s, H-5′′), 10.86 (1H, br s, OH), 10.24 (1H, s, OH). 
13

C NMR (100 

MHz, DMSO-d6)δ: 162.2 (C-2), 104.4 (C-3), 176.2 (C-4), 127.2 (C-5), 115.8 (C-6), 

160.6 (C-7), 101.8 (C-8), 155.6 (C-9), 121.8 (C-10), 124.5 (C-1′), 128.0 (C-2′), 115.9 

(C-3′), 160.1 (C-4′), 115.9 (C-5′), 128.0 (C-6′), 27.5 (C-1"), 122.9 (C-2"), 132.4 

(C-3"), 17.6 (C-4"), 25.6 (C-5"). 



19 

 

Glyasperin C (62): 
1
H NMR (400 MHz, DMSO-d6) δ: 4.10 (1H, br d, J = 8.8 Hz, 

H-2), 3.87 (1H, t, J = 8.8 Hz, H-2), 3.20 (1H, m, H-3), 3.14 (1H, m, H-4), 2.72 (1H, m, 

H-4), 6.10 (1H, s, H-8), 6.33 (1H, d, J = 2.0 Hz, H-3′), 6.19 (1H, dd, J = 2.0, 8.4 Hz, 

H-5′), 6.86 (1H, d, J = 8.4 Hz, H-6′), 3.42 (1H, d, J = 6.0 Hz, H-1′′), 5.14 (1H, t, J = 

6.0 Hz, H-2′′), 1.69 (3H, s, H-4′′), 1.61 (3H, s, H-5′′), 3.60 (3H, s, 5-OCH3), 9.37 (1H, 

s, OH), 9.18 (1H, s, OH), 9.11 (1H, s, OH). 
13

C NMR (100 MHz, DMSO-d6) δ: 69.2 

(C-2), 30.8 (C-3), 25.5 (C-4), 156.9 (C-5), 113.1 (C-6), 154.5 (C-7), 98.7 (C-8), 152.9 

(C-9), 106.8 (C-10), 118.0 (C-1′), 155.8 (C-2′), 102.6 (C-3′), 156.9 (C-4′), 106.3 

(C-5′), 127.5 (C-6′), 22.3 (C-1"), 124.3 (C-2"), 129.3 (C-3"), 17.7 (C-4"), 25.5 (C-5"), 

60.0 (5-OCH3). 

 

Daidzein (63): 
1
H NMR (400 MHz, DMSO-d6) δ: 8.26 (1H, s, H-2), 7.94 (1H, d, J = 

8.8 Hz, H-5), 6.92 (1H, dd, J = 2.0, 8.8 Hz, H-6), 6.84 (1H, d, J = 2.0 Hz, H-8), 7.37 

(2H, d, J = 8.8 Hz, H-2′, 6′), 6.80 (2H, d, J = 8.8 Hz, H-3′, 5′). 
13

C NMR (100 MHz, 

DMSO-d6) δ: 152.7 (C-2), 123.4 (C-3), 174.7 (C-4), 127.2 (C-5), 116.3 (C-6), 163.2 

(C-7), 102.1 (C-8), 157.2 (C-9), 115.4 (C-10), 122.6 (C-1′), 130.0 (C-2′), 114.9 (C-3′), 

157.5 (C-4′), 114.9 (C-5′), 130.0 (C-6′). 

 

3-methoxy-9-hydroxy-pterocarpan (64): 
1
H NMR (400 MHz, DMSO-d6) δ: 3.59 (2H, 

m, H-2), 5.23 (1H, m, H-3), 5.53 (1H, d, J = 5.6 Hz, H-4), 7.27 (1H, d, J = 8.0 Hz, 

H-5), 6.50 (1H, br d, J = 8.0 Hz, H-6), 6.43 (1H, br s, H-8), 7.22 (1H, d, J = 8.0 Hz, 

H-6′), 6.44 (1H, br d, J = 8.0 Hz, H-5′), 6.29 (1H, br s, H-3′), 3.69 (3H, s, 7-OCH3), 

9.68 (1H, s, OH). 
13

C NMR (100 MHz, DMSO-d6) δ: 65.9 (C-2), 38.9 (C-3), 78.1 

(C-4), 132.1 (C-5), 109.7 (C-6), 160.0 (C-7), 102.9 (C-8), 156.4 (C-9), 111.3 (C-10), 

119.4 (C-1′), 158.8 (C-2′), 96.4 (C-3′), 160.4 (C-4′), 106.0 (C-5′), 125.2 (C-6′), 55.3 

(7-OCH3). 

 

1-methoxyphaseollin (65): 
1
H NMR (400 MHz, DMSO-d6) δ: 3.52 (1H, t, J = 10.0 Hz, 

H-2), 3.44 (1H, m, H-2), 4.16 (1H, dd, J = 4.4, 9.8 Hz, H-3), 5.58 (1H, d, J = 6.8 Hz, 

H-4), 5.92 (1H, d, J = 1.6 Hz, H-6), 6.10 (1H, d, J = 1.6 Hz, H-8), 6.26 (1H, d, J = 8.0 

Hz, H-5′), 7.04 (1H, d, J = 8.0 Hz, H-6′), 6.34 (1H, d, J = 10.0 Hz, H-1"), 5.67 (1H, d, 

J = 10.0 Hz, H-2"), 1.34 (3H, s, H-4"), 1.33 (3H, s, H-5"), 3.79 (3H, s, 5-OCH3), 9.79 

(1H, br s, 7-OH). 
13

C NMR (100 MHz, DMSO-d6) δ: 65.8 (C-2), 38.4 (C-3), 75.7 

(C-4), 159.6 (C-5), 92.8 (C-6), 160.7 (C-7), 95.4 (C-8), 157.0 (C-9), 100.2 (C-10), 

119.5 (C-1′), 152.9 (C-2′), 105.0 (C-3′), 155.1 (C-4′), 107.7 (C-5′), 124.3 (C-6′), 116.0 

(C-1"), 129.8 (C-2"), 75.5 (C-3"), 27.3 (C-4"), 27.5 (C-5"), 55.6 (5-OCH3). 

 

Glabridin (66): 
1
H NMR (400 MHz, DMSO-d6) δ: 3.91 (1H, t, J = 10.0 Hz, H-2), 



20 

4.10 (1H, m, H-2), 3.31 (1H, m, H-3), 2.86 (1H, dd, J = 11.2, 15.6 Hz, H-4), 2.68 (1H, 

br dd, J = 3.6, 15.6 Hz, H-4), 6.86 (1H, d, J = 8.4 Hz, H-5), 6.34 (1H, d, J = 8.4 Hz, 

H-6), 6.18 (1H, d, J = 2.4 Hz, H-3′), 6.28 (1H, dd, J = 2.4, 8.4 Hz, H-5′), 6.82 (1H, d, 

J = 8.4 Hz, H-6′), 6.57 (1H, d, J = 10.0 Hz, H-1"), 5.63 (1H, d, J = 10.0 Hz, H-2"), 

1.36 (3H, s, H-4"), 1.35 (3H, s, H-5"). 
13

C NMR (100 MHz, DMSO-d6) δ: 69.3 (C-2), 

29.9 (C-3), 31.0 (C-4), 128.3 (C-5), 108.9 (C-6), 156.5 (C-7), 107.6 (C-8), 152.0 

(C-9), 112.7 (C-10), 118.9 (C-1′), 150.5 (C-2′), 102.5 (C-3′), 154.5 (C-4′), 108.0 

(C-5′), 126.9 (C-6′), 117.1 (C-1"), 130.1 (C-2"), 75.3 (C-3"), 27.3 (C-4"), 27.3 (C-5"). 

 

Isolupalbigenin (67): 
1
H NMR (400 MHz, DMSO-d6) δ: 8.32 (1H, s, H-2), 6.29 (1H, s, 

H-6), 7.22 (1H, d, J = 2.0 Hz, H-2′), 6.82 (1H, d, J = 8.4 Hz, H-5′), 7.18 (1H, dd, J = 

2.0, 8.4 Hz, H-5′), 3.31 (2H, d, J = 7.6 Hz, H-1"), 5.30 (1H, t, J = 7.6 Hz, H-2"), 1.75 

(3H, s, H-4"), 1.68 (3H, s, H-5"), 3.23 (2H, d, J = 6.8 Hz, H-1′′′), 5.15 (1H, t, J = 6.8 

Hz, H-2′′′), 1.68 (3H, s, H-4′′′), 1.63 (3H, s, H-5′′′), 12.90 (1H, s, 5-OH), 9.55 (1H, br 

s, OH), 8.40 (1H, br s, OH). 
13

C NMR (100 MHz, DMSO-d6) δ: 153.7 (C-2), 122.1 

(C-3), 182.0 (C-4), 159.6 (C-5), 98.8 (C-6), 161.3 (C-7), 105.8 (C-8), 154.8 (C-9), 

104.0 (C-10), 121.4 (C-1′), 127.5 (C-2′), 114.6 (C-3′), 155.0 (C-4′), 105.9 (C-5′), 

127.3 (C-6′), 21.0 (C-1"), 122.4 (C-2"), 130.1 (C-3"), 17.7 (C-4"), 25.5 (C-5"), 28.2 

(C-1′′′), 122.8 (C-2′′′), 131.1 (C-3′′′), 17.7 (C-4′′′), 25.5 (C-5′′′). 

 

6,8-diprenylgenistein (68): 
1
H NMR (400 MHz, DMSO-d6) δ: 8.33 (1H, s, H-2), 7.37 

(2H, d, J = 8.8 Hz, H-2′, 6′), 6.81 (2H, d, J = 8.4 Hz, H-3′, 5′), 3.40 (2H, d, J = 7.2 Hz, 

H-1"), 5.14 (1H, t, J = 7.2 Hz, H-2"), 1.76 (3H, s, H-4"), 1.63 (3H, s, H-5"), 3.30 (2H, 

d, J = 7.2 Hz, H-1′′′), 5.12 (1H, t, J = 7.2 Hz, H-2′′′), 1.73 (3H, s, H-4′′′), 1.62 (3H, s, 

H-5′′′), 13.20 (1H, s, 5-OH). 
13

C NMR (100 MHz, DMSO-d6) δ: 152.9 (C-2), 121.7 

(C-3), 180.1 (C-4), 157.3 (C-5), 111.6 (C-6), 158.4 (C-7), 106.2 (C-8), 153.5 (C-9), 

107.0 (C-10), 121.6 (C-1′), 130.1 (C-2′), 115.0 (C-3′), 156.6 (C-4′), 115.0 (C-5′), 

130.1 (C-6′), 21.5 (C-1"), 122.7 (C-2"), 130.1 (C-3"), 17.8 (C-4"), 25.5 (C-5"), 21.5 

(C-1′′′), 122.7 (C-2′′′), 130.8 (C-3′′′), 17.8 (C-4′′′), 25.5 (C-5′′′). 

 

2'-hydroxyisolupalbigenin (69): 
1
H NMR (400 MHz, DMSO-d6) δ: 8.20 (1H, s, H-2), 

6.31 (1H, s, H-6), 6.36 (1H, d, J = 8.4 Hz, H-5′), 6.75 (1H, d, J = 8.4 Hz, H-6′), 3.25 

(2H, d, J = 7.2 Hz, H-1"), 5.16 (1H, t, J = 7.2 Hz, H-2"), 1.75 (3H, s, H-4"), 1.62 (3H, 

s, H-5"), 3.34 (2H, d, J = 7.2 Hz, H-1′′′), 5.18 (1H, t, J = 7.2 Hz, H-2′′′), 1.71 (3H, s, 

H-4′′′), 1.63 (3H, s, H-5′′′), 12.79 (1H, s, 5-OH), 9.27 (1H, s, OH), 8.24 (1H, s, OH), 

10.80 (1H, br s, OH). 
13

C NMR (100 MHz, DMSO-d6) δ: 154.0 (C-2), 120.8 (C-3), 

181.3 (C-4), 159.3 (C-5), 98.4 (C-6), 161.5 (C-7), 106.6 (C-8), 155.0 (C-9), 104.6 

(C-10), 109.6 (C-1′), 155.8 (C-2′), 115.3 (C-3′), 156.3 (C-4′), 105.8 (C-5′), 128.7 

(C-6′), 21.0 (C-1"), 122.2 (C-2"), 129.5 (C-3"), 17.7 (C-4"), 25.5 (C-5"), 22.3 (C-1′′′), 



21 

123.5 (C-2′′′), 131.0 (C-3′′′), 17.7 (C-4′′′), 25.5 (C-5′′′). 

 

Isoderrone (70): 
1
H NMR (400 MHz, DMSO-d6) δ: 8.38 (1H, s, H-2), 6.23 (1H, d, J = 

2.0 Hz, H-6), 6.40 (1H, d, J = 2.0 Hz, H-8), 7.28 (1H, d, J = 2.4 Hz, H-2′), 6.80 (1H, d, 

J = 8.0 Hz, H-5′), 7.29 (1H, dd, J = 2.4, 8.0 Hz, H-6′), 6.45 (1H, d, J = 10.0 Hz, H-1"), 

5.79 (1H, d, J = 10.0 Hz, H-2"), 1.39 (6H, s, H-4", 5"), 12.91 (1H, s, 5-OH), 10.93 

(1H, br s, 7-OH). 
13

C NMR (100 MHz, DMSO-d6) δ: 152.4 (C-2), 121.9 (C-3), 180.0 

(C-4), 162.0 (C-5), 99.0 (C-6), 164.3 (C-7), 93.7 (C-8), 157.6 (C-9), 104.4 (C-10), 

123.1 (C-1′), 126.9 (C-2′), 120.7 (C-3′), 154.3 (C-4′), 115.7 (C-5′), 129.7 (C-6′), 121.6 

(C-1"), 131.3 (C-2"), 76.3 (C-3"), 27.7 (C-4"), 27.7 (C-5"). 

 

Licoricidin (71): 
1
H NMR (400 MHz, DMSO-d6) δ: 3.85 (1H, t, J = 10.0 Hz, H-2), 

4.08 (1H, br d, J = 10.0 Hz, H-2), 3.31 (1H, m, H-3), 2.77 (1H, dd, J = 4.0, 16.0 Hz, 

H-4), 2.61 (1H, dd, J = 10.8, 16.0 Hz, H-4), 6.09 (1H, s, H-8), 6.33 (1H, d, J = 8.4 Hz, 

H-5′), 6.73 (1H, d, J = 8.4 Hz, H-6′), 3.14 (1H, m, H-1"), 5.13 (1H, t, J = 6.0 Hz, 

H-2"), 1.69 (1H, s, H-4"), 1.62 (1H, s, H-5"), 3.26 (1H, d, J = 6.8 Hz, H-1′′′), 5.15 (1H, 

t, J = 6.8 Hz, H-2′′′), 1.71 (3H, s, H-4′′′), 1.62 (3H, s, H-5′′′), 3.60 (3H, s, 5-OCH3), 

9.15 (1H, s, OH), 9.01 (1H, s, OH), 8.16 (1H, s, OH). 
13

C NMR (100 MHz, DMSO-d6) 

δ: 69.3 (C-2), 30.5 (C-3), 26.2 (C-4), 156.8 (C-5), 106.8 (C-6), 154.4 (C-7), 98.6 

(C-8), 152.9 (C-9), 113.1 (C-10), 119.7 (C-1′), 152.9 (C-2′), 115.9 (C-3′), 154.4 (C-4′), 

107.1 (C-5′), 123.9 (C-6′), 22.3 (C-1"), 123.6 (C-2"), 129.2 (C-3"), 17.7 (C-4"), 25.5 

(C-5"), 22.5 (C-1′′′), 124.2 (C-2′′′), 129.5 (C-3′′′), 17.8 (C-4′′′), 25.5 (C-5′′′). 

 

Glicophenone (72): 
1
H NMR (400 MHz, DMSO-d6) δ: 4.06 (2H, s, H-α), 6.24 (1H, d, 

J = 2.0 Hz, H-3′), 6.37 (1H, dd, J = 2.0, 8.8 Hz, H-5′), 7.96 (1H, d, J = 8.8 Hz, H-6′), 

6.20 (1H, s, H-5), 3.10 (1H, d, J = 6.4 Hz, H-1′′), 5.14 (1H, t, J = 6.4 Hz, H-2′′), 1.68 

(3H, s, H-4′′), 1.61 (3H, s, H-5′′), 3.50 (3H, s, 2-OCH3). 
13

C NMR (100 MHz, 

DMSO-d6) δ: 33.5 (C-α), 203.0 (C=O), 164.1 (C-2′), 102.4 (C-3′), 164.8 (C-4′), 108.1 

(C-5′), 132.7 (C-6′), 111.3 (C-1′), 106.1 (C-1), 158.0 (C-2), 112.4 (C-3), 155.0 (C-4), 

98.5 (C-5), 154.2 (C-6), 22.4 (C-1"), 124.5 (C-2"), 129.0 (C-3"), 17.7 (C-4"), 25.5 

(C-5"), 60.7 (2-OCH3). 

 

Licoisoflavone B (73): 
1
H NMR (400 MHz, DMSO-d6) δ: 8.13 (1H, s, H-2), 6.23 (1H, 

d, J = 2.0 Hz, H-6), 6.40 (1H, d, J = 2.0 Hz, H-8), 6.32 (1H, d, J = 8.4 Hz, H-5′), 6.89 

(1H, d, J = 8.4 Hz, H-6′), 6.67 (1H, d, J = 10.0 Hz, H-1′′), 5.68 (1H, d, J = 10.0 Hz, 

H-2′′), 1.37 (6H, s, H-4′′, 5′′), 12.85 (1H, s, 5-OH), 10.89 (1H, br s, OH), 8.87 (1H, s, 

OH). 
13

C NMR (100 MHz, DMSO-d6) δ: 153.6 (C-2), 120.5 (C-3), 180.6 (C-4), 116.8 

(C-5), 98.9 (C-6), 164.2 (C-7), 93.7 (C-8), 157.7 (C-9), 104.6 (C-10), 111.2 (C-1′), 

151.2 (C-2′), 109.7 (C-3′), 155.7 (C-4′), 107.4 (C-5′), 131.4 (C-6′), 117.0 (C-1"), 



22 

128.9 (C-2"), 75.4 (C-3"), 27.5 (C-4"), 27.5 (C-5").  

 

Liquiritigenin 7,4'-di-O-glucopyranoside (74): 
1
H NMR (400 MHz, DMSO-d6) δ: 

5.60 (1H, dd, J = 2.4, 12.8 Hz, H-2), 2.73 (1H, dd, J = 2.0, 15.6 Hz, H-3), 3.15 (1H, 

dd, J = 12.8, 15.6 Hz, H-3), 7.72 (1H, d, J = 8.4 Hz, H-5), 6.67 (1H, dd, J = 2.0, 8.4 

Hz, H-6), 6.68 (1H, d, J = 2.0 Hz, H-8), 7.46 (2H, d, J = 8.4 Hz, H-2', 6'), 7.05 (2H, d, 

J = 8.4 Hz, H-3', 5'), 4.99 (1H, d, J = 6.8 Hz, H-1''), 4.89 (1H, d, J = 7.2 Hz, H-1'''), 

3.00−4.00 (10 H, m, sugar protons). 
13

C NMR (100 MHz, DMSO-d6) δ: 78.9 (C-2), 

43.1 (C-3), 190.3 (C-4), 127.9 (C-5), 111.0 (C-6), 163.5 (C-7), 103.6 (C-8), 162.8 

(C-9), 115.3 (C-10), 132.0 (C-1′), 128.0 (C-2′), 116.2 (C-3′), 157.5 (C-4′), 116.2 

(C-5′), 128.0 (C-6′), 99.7 (C-1"), 73.1 (C-2"), 76.4 (C-3"), 69.6 (C-4"), 77.0 (C-5"), 

60.6 (C-6"), 100.3 (C-1"'), 73.2 (C-2"'), 76.5 (C-3"'), 69.7 (C-4"'), 77.0 (C-5"'), 60.7 

(C-6"'). 

 

Glucoliguiritin apioside (75): 
1
H NMR (400 MHz, DMSO-d6) δ: 5.58 (1H, dd, J = 2.0, 

12.8 Hz, H-2), 2.72 (1H, dd, J = 2.0, 15.6 Hz, H-3), 3.16 (1H, dd, J = 12.8, 15.6 Hz, 

H-3), 7.72 (1H, d, J = 8.4 Hz, H-5), 6.72 (1H, dd, J = 2.0, 8.4 Hz, H-6), 6.68 (1H, d, J 

= 2.0 Hz, H-8), 7.46 (2H, d, J = 8.4 Hz, H-2', 6'), 7.05 (2H, d, J = 8.4 Hz, H-3', 5'), 

4.97 (1H, d, J = 7.2 Hz, H-1''), 5.00 (1H, d, J = 6.4 Hz, H-1'''), 5.36 (1H, br s, H-1''''), 

3.00−4.00 (17 H, m, sugar protons). 
13

C NMR (100 MHz, DMSO-d6) δ: 79.0 (C-2), 

43.0 (C-3), 190.4 (C-4), 127.9 (C-5), 111.0 (C-6), 163.4 (C-7), 103.5 (C-8), 162.8 

(C-9), 115.3 (C-10), 132.1 (C-1′), 128.2 (C-2′), 116.0 (C-3′), 157.4 (C-4′), 116.0 

(C-5′), 128.2 (C-6′), 99.6 (C-1"), 73.0 (C-2"), 76.3 (C-3"), 69.9 (C-4"), 77.0 (C-5"), 

75.6 (C-6"), 98.5 (C-1"'), 75.7 (C-2"'), 76.0 (C-3"'), 69.5 (C-4"'), 78.9 (C-5"'), 60.5 

(C-6"'), 108.6 (C-1"''), 76.9 (C-2"''), 79.3 (C-3"''), 74.0  (C-4"''), 64.3 (C-5"''). 

 

Vicenin-2 (76): 
1
H NMR (400 MHz, DMSO-d6) δ: 6.82(1H, s , H-3), 8.03 (2H, d, J = 

8.4 Hz, H-2', 6'), 6.89 (2H, d, J = 8.4 Hz, H-3', 5'), 4.76 (1H, d, J = 9.6 Hz, H-1''), 

4.80 (1H, d, J = 9.6 Hz, H-1'''), 3.00−4.00 (9 H, m, sugar protons). 
13

C NMR (100 

MHz, DMSO-d6) δ: 164.1 (C-2), 102.6 (C-3), 182.3 (C-4), 158.5 (C-5), 107.4 (C-6), 

160.7 (C-7), 105.3 (C-8), 155.0 (C-9), 104.0 (C-10), 121.4 (C-1′), 129.0 (C-2′), 115.7 

(C-3′), 161.1 (C-4′), 115.7 (C-5′), 129.0 (C-6′), 73.3 (C-1"), 70.9 (C-2"), 77.6 (C-3"), 

69.0 (C-4"), 81.0 (C-5"), 59.8 (C-6"), 74.0 (C-1"'), 72.0 (C-2"'), 78.8 (C-3"'), 70.6 

(C-4"'), 81.9 (C-5"'), 61.3 (C-6"'). 

 

Isoliquiritigenin 4,4'-di-O-glucopyranoside (79): 
1
H NMR (400 MHz, DMSO-d6) δ: 

7.82 (1H, d, J = 15.2 Hz, H-α), 7.93 (1H, d, J = 15.2 Hz, H-β), 7.90 (2H, d, J = 8.4 Hz, 

H-2, 6), 7.10 (2H, d, J = 8.4 Hz, H-3, 5), 6.58 (1H, d, J = 2.0 Hz, H-3'), 6.64 (1H, dd, 

J = 2.0, 9.2 Hz, H-5'), 8.31 (1H, d, J = 9.2 Hz, H-6'), 5.38 (1H, d, J = 6.8 Hz, H-1''), 



23 

5.36 (1H, d, J = 6.8 Hz, H-1'''), 3.00−4.00 (12 H, m, sugar protons). 
13

C NMR (100 

MHz, DMSO-d6) δ: 119.1 (C-α), 114.3 (C-β), 190.4 (C=O), 128.3 (C-1), 131.0 (C-2), 

116.5 (C-3), 159.6 (C-4), 116.5 (C-5), 132.6 (C-6), 114.8 (C-1′), 165.2 (C-2′), 103.5 

(C-3′), 163.6 (C-4′), 108.3 (C-5′), 129.7 (C-6′), 99.9 (C-1"), 73.2 (C-2"), 77.2 (C-3"), 

69.7 (C-4"), 77.2 (C-5"), 60.7 (C-6"), 99.6 (C-1"'), 73.1 (C-2"'), 76.6 (C-3"'), 69.6 

(C-4"'), 76.4 (C-5"'), 60.6 (C-6"'). 

 

Isoviolanthin (80): 
1
H NMR (400 MHz, DMSO-d6) δ: 6.81 (1H, s, H-3), 8.03 (2H, d, 

J = 8.4 Hz, H-2', 6'), 6.89 (2H, d, J = 8.4 Hz, H-3', 5'), 5.04 (1H, s, H-1''), 1.25 (1H, d, 

J = 5.2 Hz, H-6''), 4.71 (1H, d, J = 9.6 Hz, H-1'''), 3.00−4.00 (9 H, m, sugar protons). 
13

C NMR (100 MHz, DMSO-d6) δ: 164.1 (C-2), 103.2 (C-3), 182.2 (C-4), 155.1 (C-5), 

107.0 (C-6), 161.9 (C-7), 105.0 (C-8), 161.2 (C-9), 102.4 (C-10), 121.5 (C-1′), 129.0 

(C-2′), 115.9 (C-3′), 157.1 (C-4′), 115.9 (C-5′), 129.0 (C-6′), 77.3 (C-1"), 74.5 (C-2"), 

73.3 (C-3"), 72.2 (C-4"), 71.8 (C-5"), 18.0 (C-6"), 74.1 (C-1"'), 70.8 (C-2"'), 78.7 

(C-3"'), 70.7 (C-4"'), 81.9 (C-5"'), 61.4 (C-6"'). 

 

Liquiritin apioside (81): 
1
H NMR (400 MHz, DMSO-d6) δ: 7.63 (1H, d, J = 8.4 Hz, 

H-5), 7.43 (2H, d, J = 8.4 Hz, H-2', 6'), 7.03 (2H, d, J = 8.4 Hz, H-3', 5'), 6.50 (1H, dd, 

J = 2.4, 8.4 Hz, H-6), 6.33 (1H, d, J = 2.4 Hz, H-8), 5.50 (1H, dd, J = 2.4, 12.8 Hz, 

H-2), 5.35 (1H, d, J = 1.0 Hz, H-1'''), 4.95 (1H, d, J = 7.6 Hz, H-1''), 3.10 (1H, dd, J = 

16.4, 12.8 Hz, H-3), 2.65 (1H, dd, J = 2.4, 16.4 Hz, H-3). 
13

C NMR (100 MHz, 

DMSO-d6) δ: 79.7 (C-2), 43.5 (C-3), 190.3 (C-4), 128.5 (C-5), 111.0 (C-6), 165.1 

(C-7), 103.0 (C-8), 163.5 (C-9), 113.9 (C-10), 132.8 (C-1′), 128.5 (C-2′), 116.5 (C-3′), 

157.7 (C-4′), 116.5 (C-5′), 128.5 (C-6′), 99.1 (C-1"), 76.2 (C-2"), 76.5 (C-3"), 70.4 

(C-4"), 77.3 (C-5"), 61.0 (C-6"), 109.1 (C-1"'), 77.4 (C-2"'), 79.1 (C-3"'), 74.5 (C-4"'), 

64.7 (C-5"').  

 

Liquiritin (82): 
1
H NMR (400 MHz, DMSO-d6) δ: 7.65 (1H, d, J = 8.4 Hz, H-5), 7.45 

(2H, d, J = 8.4 Hz, H-2', 6'), 7.07 (2H, d, J = 8.4 Hz, H-3', 5'), 6.51 (1H, dd, J = 2.0, 

8.4 Hz, H-6), 6.35 (1H, d, J = 2.0 Hz, H-8), 5.53 (1H, dd, J = 2.8, 12.4 Hz, H-2), 4.88 

(1H, d, J = 7.2 Hz, H-1''), 3.09 (1H, dd, J = 16.4, 12.4 Hz, H-3), 2.68 (1H, dd, J = 2.8, 

16.4 Hz, H-3). 
13

C NMR (100 MHz, DMSO-d6) δ: 79.1 (C-2), 44.7 (C-3), 190.3 (C-4), 

128.4 (C-5), 111.6 (C-6), 164.8 (C-7), 100.3 (C-8), 163.3 (C-9), 114.0 (C-10), 132.8 

(C-1′), 128.8 (C-2′), 116.2 (C-3′), 157.7 (C-4′), 116.2 (C-5′), 128.8 (C-6′), 100.6 

(C-1"), 73.7 (C-2"), 77.3 (C-3"), 70.2 (C-4"), 76.6 (C-5"), 61.1 (C-6").  

 

Apigenin 

6-C-rhamnopyranoside-8-C-[6'''-(3-hydroxy-3-methylglutaroyl)]-glucopyranoside 

(83): 
1
H-NMR (400 MHz, DMSO-d6) δ: 6.83 (1H, s), 7.97 (2H, d, J = 8.4 Hz, H-2', 



24 

6'), 6.94 (2H, d, J = 8.4 Hz, H-3', 5'), 5.04 (1H, br s, H-1''), 1.25 (1H, d, J = 4.0 Hz, 

H-6''), 4.75 (1H, d, J = 10.0 Hz, H-1'''), 3.00−4.50 (9 H, m, sugar protons). 
13

C NMR 

(100 MHz, DMSO-d6) δ: 164.4 (C-2), 102.9 (C-3), 182.7 (C-4), 157.8 (C-5), 107.5 

(C-6), 162.5 (C-7), 105.0 (C-8), 155.5 (C-9), 103.7 (C-10), 121.9 (C-1′), 129.1 (C-2′), 

116.4 (C-3′), 161.8 (C-4′), 116.4 (C-5′), 129.1 (C-6′), 77.7 (C-1"), 75.0 (C-2"), 74.5 

(C-3"), 72.5 (C-4"), 72.2 (C-5"), 18.6 (C-6"), 74.0 (C-1"'), 71.1 (C-2"'), 78.8 (C-3"'), 

69.3 (C-4"'), 78.8 (C-5"'), 64.6 (C-6"'), 171.1 (C-1'"'), 45.5 (C-2'"'), 69.3 (C-3'"'), 45.3 

(C-4'"'), 172.8 (C-5'"'), 27.8 (C-6'"'). 

 

Soliquiritin apioside (84): 
1
H NMR (400 MHz, DMSO-d6) δ: 8.19 (1H, d, J = 8.4 Hz, 

H-6'), 7.77 (1H, d, J = 14.4 Hz, H-α), 7.87 (1H, d, J = 14.4 Hz, H-β), 7.86 (2H, d, J = 

8.8 Hz, H-2, 6), 7.08 (2H, d, J = 8.8 Hz, H-3, 5), 6.41 (1H, dd, J = 8.4, 2.0 Hz, H-5'), 

6.27 (1H, d, J = 2.0 Hz, H-3'), 5.36 (1H, br s, H-1'''), 5.05 (1H, d, J = 7.2 Hz, H-1''). 
13

C NMR (100 MHz, DMSO-d6) δ: 119.4 (C-α), 143.6 (C-β), 191.6 (C=O), 128.7 

(C-1), 131.0 (C-2), 116.6 (C-3), 159.5 (C-4), 116.6 (C-5), 131.2 (C-6), 113.1 (C-1′), 

165.7 (C-2′), 98.6 (C-3′), 166.1 (C-4′), 108.9 (C-5′), 133.0 (C-6′), 102.8 (C-1"), 79.5 

(C-2"), 76.0 (C-3"), 70.2 (C-4"), 76.0 (C-5"), 60.8 (C-6"), 108.6 (C-1"'), 77.2 (C-2"'), 

79.5 (C-3"'), 74.2 (C-4"'), 64.5 (C-5"'). 

 

Ononin (85): 
1
H NMR (400 MHz, DMSO-d6) δ: 8.44 (1H, s, H-2), 8.05 (1H, d, J = 

8.8 Hz, H-5), 7.15 (1H, dd, J = 2.0, 8.0 Hz, H-6), 7.24 (1H, d, J = 2.0 Hz, H-8), 7.53 

(2H, d, J = 8.8 Hz, H-2', 6'), 6.99 (2H, d, J = 8.8 Hz, H-3', 5'), 5.10 (1H, d, J = 6.8 Hz, 

H-1''), 3.79 (3H, s, OCH3), 3.00−3.75 (6H, m, sugar protons). 
13

C NMR (100 MHz, 

DMSO-d6) δ: 153.6 (C-2), 124 (C-3), 174.6 (C-4), 126.9 (C-5), 115.6 (C-6), 161.4 

(C-7), 103.4 (C-8), 157.0 (C-9), 118.4 (C-10), 123.3 (C-1′), 130.1 (C-2′), 113.6 (C-3′), 

159.0 (C-4′), 113.6 (C-5′), 130.1 (C-6′), 100.0 (C-1"), 73.1 (C-2"), 76.5 (C-3"), 69.5 

(C-4"), 77.2 (C-5"), 60.6 (C-6"), 55.1 (OCH3).  

 

Isoliquiritin (86): 
1
H NMR (400 MHz, DMSO-d6) δ: 8.19 (1H, d, J = 8.8 Hz, H-6'), 

7.76 (1H, d, J = 15.2 Hz, H-α), 7.80 (1H, d, J = 15.2 Hz, H-β), 7.87 (2H, d, J = 8.8 Hz, 

H-2, 6), 7.10 (2H, d, J = 8.8 Hz, H-3, 5), 6.41 (1H, dd, J = 8.8, 2.0 Hz, H-5'), 6.29 (1H, 

d, J = 2.0 Hz, H-3'), 5.33 (1H, d, J = 7.2 Hz, H-1''). 
13

C NMR (100 MHz, DMSO-d6) δ: 

119.0 (C-α), 143.9 (C-β), 191.0 (C=O), 128.0 (C-1), 131.4 (C-2), 116.0 (C-3), 160.0 

(C-4), 116.0 (C-5), 131.4 (C-6), 113.7 (C-1′), 165.5 (C-2′), 103.0 (C-3′), 166.2 (C-4′), 

108.0 (C-5′), 132.6 (C-6′), 100.7 (C-1"), 73.8 (C-2"), 77.0 (C-3"), 70.5 (C-4"), 77.0 

(C-5"), 61.8 (C-6"). 

 

Glycyroside (89): 
1
H NMR (400 MHz, DMSO-d6) δ: 8.44 (1H, s, H-2), 8.05 (1H, d, J 

= 8.8 Hz, H-5), 7.13 (1H, dd, J = 1.2, 8.8 Hz, H-6), 7.22 (1H, d, J = 1.2 Hz, H-8), 7.53 



25 

(2H, d, J = 8.4 Hz, H-2', 6'), 7.00 (2H, d, J = 8.4 Hz, H-3', 5'), 5.20 (1H, d, J = 7.2 Hz, 

H-1''), 5.37 (1H, s, H-1'''), 3.79 (3H, s, OCH3), 3.00−4.00 (11 H, m, sugar protons). 
13

C NMR (100 MHz, DMSO-d6) δ: 153.7 (C-2), 124.1 (C-3), 174.5 (C-4), 127.0 (C-5), 

115.6 (C-6), 161.2 (C-7), 103.3 (C-8), 157.0 (C-9), 118.5 (C-10), 123.4 (C-1′), 130.1 

(C-2′), 113.7 (C-3′), 159.0 (C-4′), 113.7 (C-5′), 130.1 (C-6′), 98.4 (C-1"), 76.1 (C-2"), 

75.7 (C-3"), 69.8 (C-4"), 77.1 (C-5"), 60.5 (C-6"), 108.7 (C-1"'), 76.9 (C-2"'), 79.3 

(C-3"'), 74.1 (C-4"'), 64.1 (C-5"'), 55.2 (OCH3). 

 

Sophoraflavone B (90): 
1
H NMR (400 MHz, DMSO-d6) δ: 6.82 (1H, s), 7.87 (1H, d, J 

= 8.8 Hz, H-5), 6.92 (1H, dd, J = 2.0, 8.8 Hz, H-6), 7.00 (1H, d, J = 2.0 Hz, H-8), 8.02 

(2H, d, J = 8.8 Hz, H-2', 6'), 7.18 (2H, d, J = 8.8 Hz, H-3', 5'), 5.12 (1H, d, J = 7.2 Hz, 

H-1''), 3.00−4.00 (6H, m, sugar protons). 
13

C NMR (100 MHz, DMSO-d6) δ: 161.8 

(C-2), 105.3 (C-3), 176.4 (C-4), 126.5 (C-5), 115.0 (C-6), 162.7 (C-7), 102.6 (C-8), 

160.0 (C-9), 116.1 (C-10), 124.6 (C-1′), 127.8 (C-2′), 116.6 (C-3′), 157.4 (C-4′), 116.6 

(C-5′), 127.8 (C-6′), 99.9 (C-1"), 73.2 (C-2"), 76.6 (C-3"), 69.7 (C-4"), 77.2 (C-5"), 

60.7 (C-6"). 

 

7,4'-dihydroxyflavone 7-O-glucopyranoside (91): 
1
H NMR (400 MHz, DMSO-d6) δ: 

6.80 (1H, s, H-3), 7.94 (1H, d, J = 8.8 Hz, H-5), 7.11 (1H, dd, J = 2.0, 8.8 Hz, H-6), 

7.36 (1H, d, J = 2.0 Hz, H-8), 7.94 (2H, d, J = 8.8 Hz, H-2',6'), 6.93 (2H, d, J = 8.8 Hz, 

H-3',5'), 5.12 (1H, d, J = 5.12 Hz, H-1''), 3.00−3.80 (6H, m, sugar protons). 
13

C NMR 

(100 MHz, DMSO-d6) δ: 162.8 (C-2), 104.5 (C-3), 176.3 (C-4), 126.1 (C-5), 115.2 

(C-6), 161.5 (C-7), 103.8 (C-8), 157.0 (C-9), 118.0 (C-10), 121.7 (C-1′), 128.2 (C-2′), 

116.2 (C-3′), 160.8 (C-4′), 116.2 (C-5′), 128.2 (C-6′), 100.0 (C-1"), 73.1 (C-2"), 76.5 

(C-3"), 69.6 (C-4"), 77.2 (C-5"), 60.6 (C-6"). 

 

Daidzin (92): 
1
H NMR (400 MHz, DMSO-d6) δ: 8.40 (1H, s, H-2), 8.05 (1H, d, J = 

8.8 Hz, H-5), 7.14 (1H, dd, J = 2.0, 8.8 Hz, H-6), 7.23 (1H, d, J = 2.0 Hz, H-8), 7.40 

(2H, d, J = 8.4 Hz, H-2',6'), 6.82 (2H, d, J = 8.4 Hz, H-3',5'), 5.10 (1H, d, J = 8.0 Hz, 

H-1''), 3.46 (1H, m, H-6'A), 3.71 (1H, m, H-6'B), 3.00−3.80 (4H, m, sugar protons). 
13

C NMR (100 MHz, DMSO-d6)δ: 153.5 (C-2), 123.9 (C-3), 174.6 (C-4), 126.8 (C-5), 

115.7 (C-6), 161.5 (C-7), 103.3 (C-8), 157.2 (C-9), 118.5 (C-10), 122.2 (C-1′), 130.1 

(C-2′), 114.9 (C-3′), 157.0 (C-4′), 114.9 (C-5′), 130.1 (C-6′), 99.9 (C-1"), 73.2 (C-2"), 

76.5 (C-3"), 69.6 (C-4"), 77.3 (C-5"), 60.7 (C-6"). 

 

Syringic acid 4-O-glucopyranoside (93): 
1
H NMR (400 MHz, DMSO-d6) δ: 7.23 (1H, 

s, 4, H-6), 3.80 (6H, s, H-7, 8), 5.11 (1H, d, H-1'), 3.22 (1H, m, H-2'), 3.20 (1H, m, 

H-3'), 3.13 (1H, m, H-4'), 3.07 (1H, m, H-5'), 3.40 (1H, dd, J = 4.8, 11.2 Hz, H-6'A), 

3.59 (1H, d, J = 11.2 Hz, H-6'B). 
13

C NMR (100 MHz, DMSO-d6) δ: 152.2 (C-1), 



26 

138.2 (C-2), 152.2 (C-3), 107.4 (C-4), 125.7 (C-5), 107.4 (C-6), 56.4 (C-7), 56.4 

(C-8), 166.9 (C-9), 102.0 (C-1′), 74.2 (C-2′), 76.6 (C-3′), 69.9 (C-4′), 77.4 (C-5′), 60.8 

(C-6′). 

 

References:  

[1] Song, W.; Si, L. L.; Ji, S.; Wang, H.; Fang, X. M.; Yu, L. Y.; Li, R. Y.; Liang, L. N.; Zhou, D. 

M.; Ye, M. Uralsaponins M-Y, antiviral triterpenoid saponins from the roots of Glycyrrhiza 

uralensis. J. Nat. Prod. 2014, 77, 1632–1643.  

[2] Ji, S.; Qiao, X.; Li, Z. W.; Wang, Y. R.; Yu, S. W.; Liang, W. F.; Lin, X. H.; Ye, M. 

Enantiomeric 3-arylcoumarins and 2-arylcoumarones from the roots of Glycyrrhiza uralensis as 

protein tyrosine phosphatase 1B (PTP1B) inhibitors. RSC Adv. 2015, 5, 45258–45265.  

[3] Liu, Q.; Liu, Y. L. Studies on chemical constituents of Glycyrrhiza eurycarpa P. C. Li. Acta 

Pharm. Sinica. 1989, 24, 525–531.  

[4] Zhang, H.; Guo, Z.; Li, W.; Feng, J.; Xiao, Y.; Zhang, F.; Xue, X.; Liang, X. Purification of 

flavonoids and triterpene saponins from the licorice extract using preparative HPLC under RP and 

HILIC mode. J. Sep. Sci. 2009, 32, 526–535.  

[5] Xiao, Y.; Li, J.; Ding, Y. Studies on chemical constituents from Gerbera piloselloides. Chin. 

Tradit. Herb. Drugs. 2003, 34, 109–111.  

[6] Kitagawa, I.; Chen, W.-Z.; Hori, K.; Harada, E.; Yasuda, N.; Yoshikawa, M.; Ren, J. Chemical 

studies of Chinese licorice-roots. I. Elucidation of five new flavonoid constituents from the roots 

of Glycyrrhiza glabra L. collected in Xinjiang. Chem. Pharm. Bull. 1994, 42, 1056–1062.  

[7] Lu, Y.; Foo, L. Y. Flavonoid and phenolic glycosides from Salvia officinalis. Phytochemistry 

2000, 55, 263–267.  

[8] Liu, M.; Liu, Q.; Liu, Y.-L.; Hou, C.-Y.; Mabry, T. J. An acylated flavone C-glycoside from 

Glycyrrhiza eurycarpa. Phytochemistry 1994, 36, 1089–1090. 

[9] Harborne, J. B. Plant polyphenols. VIII. Chalcone and flavonol glycosides of gorse flowers. 

Phytochemistry 1962, 1, 203–207.  

[10] Flamini, G. Flavonoids and other compounds from the aerial parts of Viola etrusca. Chem. 

and Biodivers. 2007, 4, 139–144.  

[11] Paola M, Mariateresa M, Mariateresa R, Santo P, Sonia P, Cosimo P. Metabolic profiling of 

roots of liquorice (Glycyrrhiza glabra) from different geographical areas by ESI/MS/MS and 

determination of major metabolites by LC-ESI/MS and LC-ESI/MS/MS. J. Pharm. Biomed. Anal. 

2011, 54, 535–544.  

[12] Gupta, S. R.; Ravindranath, B.; Seshadri, T. R. Synthesis of some flavonoid glucosides of 

Trifolium subterraneum. Phytochemistry 1971, 10, 877–882.  

[13] Hirakura, K.; Morita, M.; Nakajima, K.; Sugama, K.; Takagi, K.; Niitsu, K.; Ikeya, Y.; 

Maruno, M.; Okada, M. Phenolic glucosides from the root of Pueraria lobata. Phytochemistry 



27 

1997, 46, 921–928. 

[14] Liu, Q.; Liu, Y. L. Chemical constituents of Glycyrrhiza eurycarpa P. C. Li. II. J. Integr. Plant 

Biol. 1991, 33, 314–322.  

[15] Xiang, C.; Cheng, J.; Liang, H.; Zhao, Y.; Feng, J. Isoflavones from Millettia nitida var. 

hirsutissima. Acta Pharm. Sinica. 2009, 44, 158–161.  

[16] Saitoh, T., Noguchi, H., Shibata, S. Chemical studies on oriental plant drugs. 44. New 

isoflavone and corresponding isoflavanone of licorice root. Chem. Pharm. Bull. 1978, 26, 

144–147.  

[17] Tan, Y.; Sun, Y.; Chen, R. Studies on chemical constituents in seeds of Cicer arietinum. Chin. 

J. Chin. Mater. Med. 2007, 32, 1650–1652.  

[18] Zeng, L.; Fukai, T.; Nomura, T.; Zhang, R. Y.; Lou, Z. C. Phenolic constituents of 

Glycyrrhiza species. 8.4 New prenylated flavonoids, glyasperin-A, glyasperin-B, glyasperin-C and 

glyasperin-D from the roots of Glycyrrhiza-aspera. Heterocycles 1992, 34, 575–587.  

[19] Mcmurry, T. B. H.; Martin, E.; Thompson, J. C.; Donnelly, D. M. 3-hydroxy-9-methoxy and 

3-methoxy-9-hydroxypterocarpans. Phytochemistry 1972, 11, 3283–3286.  

[20] Okada, K.; Tamura, Y.; Yamamoto, M.; Inoue, Y.; Takagaki, R.; Takahashi, K.; Demizu, S.; 

Kajiyama, K.; Hiraga, Y.; Kinoshita, T. Identification of antimicrobial and antioxidant constituents 

from licorice of Russian and Xinjiang. Chem. Pharm. Bull. 1989, 37, 2528–2530.  

[21] Tahara, S.; Katagiri, Y.; Ingham, J. L.; Mizutani, J. Prenylated flavomoids in the roots of 

yellow lupin. Phytochemistry 1994, 36, 1261–1271.  

[22] Singhal, A. K.; Sharma, R. P.; Thyagarajan, G.; Herz, W.; Govindan, S. V. New prenylated 

isoflavones and a prenylated dihydroflavonol from Millettia pachycarpa. Phytochemistry, 1980, 

19, 929–934.  

[23] Wang, Q.; Miao, W.; Xiang, C.; Guo, D.; Ye, M. Chemical constituents from Glycyrrhiza 

uralensis. Chin. Tradit. Herb. Drugs 2012, 43, 1886–1890.  

[24] Fu, M.; Deng, D.; Feng, S.; Huang, R.; Tian, S.; Qiu, S. Chemical constituents from roots of 

Flemingia philippinensis. Chin. Herbal Med. 2012, 4, 8–11.  

[25] Yang, L.; Chen, H.; Gao, W.; Yan, L. Studies on the anticancer constituents in Glycyrrhiza 

uralensis Fisch. Nat. Prod. Res. Dev. 2009, 21, 438–440.  

[26] Fukai, T.; Wang, Q. H.; Kitagawa, T.; Kusano, K.; Nomura, T.; Iitaka, Y. Phenolic 

constituents of Glycyrrhiza. 2. Structures of 6 isoprenoid-substituted flavonoids, gancaoin-F, 

gancaonin-G, gancaonin-H, gancaonin-I, glycyrol, and isoglycyrol from Xibei licorice 

(Glycyrrhiza sp). Heterocycles 1989, 29, 1761–1772.  

[27] Kiuchi, F.; Xing, C.; Tsuda, Y. Four new phenolic constituents from licorice (root of 

Glycyrrhiza sp). Heterocycles 1990, 31, 629–636.  

[28] Dong, H.; Gou, Y. L.; Cao, S. G.; Chen, S. X.; Sim, K. Y.; Goh, S. H.; Kini, R. M. 

Eicosenones and methylated flavonols from Amomum koenigii. Phytochemistry 1999, 50, 



28 

899–902.  

[29] Chang, X.; Xu, Q.; Zhu, D.; Song, G.; Xu, R. The isolation and structural elucidation of 

liconeolignan from G. uralensis. Acta Pharm. Sin. 1983, 18, 45–50.  

[30] Tahara, S.; Hashidoko, Y.; Mizutani, J. New 3-methoxyflavones in the roots of yellow lupin. 

Agric. Biol. Chem. 1987, 51, 1039–1044.  

[31] Kinoshita, T.; Saitoh, T.; Shibata, S. Chemical studies on oriental plant drugs. 43. New 

isoflavone from licorice root. Chem. Pharm. Bull. 1978, 26, 141–143.  

[32] Kinoshita, T.; Ichinose, K.; Takahashi, C.; Ho, F.-C.; Wu, J.-B.; Sankawa, U. Chemical 

studies on Sophora tomentosa: the isolation of a new class of isoflavonoid. Chem. Pharm. Bull. 

1990, 38, 2756–2759.  

[33] Shirataki, Y.; Yokoe, I.; Noguchi, M.; Tomimori, T.; Komatsu, M. Studies on the constituents 

of Sophora species. XXII. Constituents of the root of Sophora moorcroftiana Benth. ex Baker. 

Chem. Pharm. Bull. 1988, 36, 2220–2225.  

[34] Simpson, B. S.; Claudie, D. J.; Smith, N. M.; Gerber, J. P.; Mckinnon, R. A.; Semple, S. J. 

Flavonoids from the leaves and stems of Dodonaea polyandra: A Northern Kaanju medicinal plant. 

Phytochemistry, 2011, 72, 1883–1888.  

[35] Hashidoko, Y.; Tahara, S.; Mizutani, J. New complex isoflavones in the roots of yellow lupin 

(Lupinus luteus L., cv. Barpine). Agric. Biol. Chem. 1986, 50, 1797–1807.  

[36] Zhu, D.-Y.; Song, G.-Q.; Jian, F.-X. Chang, X.-R.; Guo, W.-B. Studies on chemical 

constituents of Glycyrrhiza uralensis Fich–the structures of isolicoflavonol and glycycoumarin. 

Acta Chim. Sin. 1984, 42, 1080–1084.  

[37] Chen, Y.; Duan, J.; Tang, Y.; Guo, S. Chemical constituents from flower buds of Daphne 

genkwa. Chin. Tradit. Herb. Drugs 2013, 44, 397–402.  

[38] Baba, M.; Sumi, S.; Iwasaki, N.; Kai, H.; Sakano, M.; Okada, Y.; Okuyama, T. Studies of the 

Egyptian traditional folk medicines. IV. New isoflavonoid isolated from Egyptian licorice. 

Heterocycles 2008, 75, 3085–3089.  

[39] Shibano, M.; Henmi, A.; Matsumoto, Y.; Kusano, G.; Miyase, T.; Hatakeyama, Y. Studies on 

the index compounds for HPLC analysis of Glycyrrhiza uralensis. Heterocycles 1997, 45, 

2053–2060.  

[40] Yenesew, A.; Irungu, B.; Derese, S.; Midiwo, J. O.; Heydenreich, M.; Peter, M. G. Two 

prenylated flavonoids from the stem bark of Erythrina burttii. Phytochemistry 2003, 63, 445–448.  

[41] Kuroda, M.; Mimaki, Y.; Sashida, Y.; Mae, T.; Kishida, H.; Nishiyama, T.; Tsukagawa, M.; 

Konishi, E.; Takahashi, K.; Kawada, T.; Nakagawa, K.; Kitahara, M. Phenolics with PPAR-γ 

ligand-binding activity obtained from licorice (Glycyrrhiza uralensis roots) and ameliorative 

effects of glycyrin on genetically diabetic KK-A
y
 mice. Bioorg. Med. Chem. Lett. 2003, 13, 

4267–4272.  

[42] Lane, G. A.; Newman, R. H. Isoflavones from Lupinus angustifolius root. Phytochemistry 



29 

1987, 26, 295–300.  

[43] He, Y.; Lu, J.; Lin, R. Studies on chemical constituents in root of Isatis indigotica. Chin. 

Tradit. Herb. Drugs 2003, 34, 777–778.  

[44] Kajiyama, K.; Demizu, S.; Hiraga, Y.; Kinoshita, K.; Koyama, K.; Takahashi, K.; Tamura, Y.; 

Okada, K.; Kinoshita, T. New prenylflavones and dibenzoylmethane from Glycyrrhiza inflata. J. 

Nat. Prod. 1992, 55, 1197–1203.  

[45] Yuan, S.; Yu, N.; Zhao, Y.; Xu, B. Chemical constituents of fermented soybeans. J. Chin. Med. 

Mater. 2008, 31, 1172–1174.  

[46] Kinoshita, T.; Saitoh, T.; Shibata, S. Chemical studies on oriental plant drugs. 42. New 

3-aryl-coumarin from licorice root. Chem. Pharm. Bull. 1978, 26, 135–140.  

[47] Jain, L.; Tripathi, M.; Pandey, V. B.; Rücher, G. Flavonoids from Eschscholtzia californica. 

Phytochemistry 1996, 41, 661–662.  

[48] Barrero, A. F.; Cabrera, E.; Garcia, I. R. Pterocarpans from Ononis viscosa subsp. breviflora. 

Phytochemistry 1998, 48, 187–190.  

[49] Hatano, T.; Yasuhara, T.; Fukuda, T.; Noro, T.; Okuda, T. Phenolic constituents of licorice. 2. 

Structures of licopyranocoumarin, licoarylcoumarin and glisoflavone, and inhibitory effects of 

licorice phenolics on xanthine-oxidase. Chem. Pharm. Bull. 1989, 37, 3005–3009.  

[50] Rao, K. V.; Reddy, G. C. S. A new reaction of patulin. J. Nat. Prod. 1989, 52, 1376–1378. 

[51] Bharadwaj, D. K.; Murari, R.; Seshadri, T. R.; Singh, R. Occurrence of 2-methylisoflavones 

in Glycyrrhiza-glabra. Phytochemistry 1976, 15, 352–353.  

[52] Zhang, L.; Zhang, Y.; Chen, Y.; Jia, S.; Dai, R.; Meng, W.; Li, L.; Deng, Y. Isoflavones in 

leaves of Belamcanda chinensis. Nat. Prod. Res. Dev. 2011, 23, 69–71.  

[53] Yang, S.; Liu, Y. Chemical constituents of Glycyrrhiza inflata Bat. Acta Bot. Sin. 1988, 30, 

176–182.  

[54] Kajiyama, K.; Demizu, S.; Hiraga, Y.; Kinoshita, K.; Koyama, K.; Takahashi, K.; Tamura, Y.; 

Okada, K.; Kinoshita, T. Two prenylated retrochalcones from Glycyrrhiza inflata. Phytochemistry 

1992, 31, 3229–3232.  

[55] Hatano, T.; Fukuda, T.; Miyase, T.; Noro, T.; Okuda, T. Phenolic constituents of licorice. 3. 

Structures of glicoricone and licofuranone, and inhibitory effects of licorice constituents on 

monoamine-oxidase. Chem. Pharm. Bull. 1991, 39, 1238–1243.  

[56] Huang, S.; Tu, P. Isolation and identification of isoflavones from Trifolium pretense. Acta Sci. 

Natur. Univ. Pekinensis, 2004, 40, 544–549.  

[57] Tan, Q.; Zhang, S.; Shen, Z. Flavonoids from the roots of Campylotropis hirtella. Planta Med. 

2011, 77, 1811–1817.  

[58] Hatano, T.; Takagi, M.; Ito, H.; Yoshida, T. Phenolic constituents of liquorice. VII. A new 

chalcone with a potent radical scavenging activity and accompanying phenolics from liquorice. 



30 

Chem. Pharm. Bull. 1997, 45, 1485–1492.  

[59] Tsukayama, M.; Wada, H.; Kawamura, Y.; Yamashita, K.; Nishiuchi, M. Regioselective 

synthesis of 6-alkyl- and 6-prenylpolyhydroxyisoflavones and 6-alkylcoumaronochromone 

derivatives. Chem. Pharm. Bull. 2004, 52, 1285–1289.  

[60] Jia, S. S.; Ma, C. M.; Wang, J. M. Studies on flavonoid constituents isolated from the leaves 

of Glycyrrhiza uralensis Fisch. Acta Pharm. Sin. 1990, 25, 758–762.  

[61] Kitagawa, I.; Chen, W. Z.; Hori, K.; Kobayashi, M.; Ren, J. L. Chemical studies of Chinese 

licorice-roots. II. Five new flavonoid constituents from the roots of Glycyrrhiza aspera Pall. 

collected in Xinjiang. Chem. Pharm. Bull. 1998, 46, 1511–1517.  

[62] Calanasan, C. A.; Macleod, J. K. A diterpenoid sulphate and flavonoids from Wedelia 

asperrima. Phytochemistry 1998, 47, 1093–1099.  

[63] Li, H.; Yang, M.; Miao, J.; Ma, X. Prenylated isoflavones from Flemingia philippinensis. 

Magn. Reson. Chem. 2008, 46, 1203–1207.  

[64] Fukai, T.; Wang, Q. H.; Takayama, M.; Nomura, T. Phenolic constituents of Glycyrrhiza 

species. 4. Structures of five new prenylated flavonoids, gancaonin-L, gancaonin-M, gancaonin-N, 

gancaonin-O, and gancaonin-P from aerial parts of Glycyrrhiza uralensis. Heterocycles 1990, 31, 

373–382.  

[65] Hatano, T.; Shintani, Y.; Aga, Y.; Shiota, S.; Tsuchiya, T.; Yoshida, T. Phenolic constituents of 

licorice. VIII. Structures of glicophenone and glicoisoflavanone, and effects of licorice phenolics 

on methicillin-resistant Staphylococcus aureus. Chem. Pharm. Bull. 2000, 48, 1286–1292.  

 



31 

2. Electronic circular dichroism (ECD) spectral calculations for compounds 1−3.  

A preliminary conformational search was performed in SYBYL-X 1.1 using 

random search method with the MMFF94 force field [70]. The conformers were 

successively optimized by using the semiempirical method at the AM1 level and the 

density functional theory (DFT) method at the B3LYP/6-31G* level. The stable 

conformers with populations greater than 1% and without imaginary frequencies were 

submitted to ECD calculation by the TDDFT [B3LYP/6-31G*] method. Considering 

solvent effects on the calculated ECD spectra, we took the IEFPCM model in MeCN. 

ECD spectra of different conformers were simulated using SpecDis with a 

halfbandwidth of 0.4 eV [71]. The final ECD spectra were generated according to the 

Boltzmann-calculated distribution of each conformer. The calculated ECD spectra 

were compared with the experimental data. All calculations have been performed with 

the Gaussian 09 program package [72]. 

 

References:  

[70] 15 Sybyl Software, version X 1.1; Tripos Associates Inc., St. Louis, MO, 2010.  

[71] Bruhn, T.; Hemberger, Y.; Schaumlöffel A.; Bringmann, G. SpecDis, version 1.51; University 

of Wuerzburg, Germany, 2011. 

[72] Frisch, M. J.; Trucks, G. W.; Schlegel, H. B.; Scuseria, G. E.; Robb, M. A.; Cheeseman, J. R.; 

Scalmani, G.; Barone, V.; Mennucci, B.; Petersson, G. A.; Nakatsuji, H.; Caricato, M.; Li, X.; 

Hratchian, H. P.; Izmaylov, A. F.; Bloino, J.; Zheng, G.; Sonnenberg, J. L.; Hada, M.; Ehara, M.; 

Toyota, K.; Fukuda, R.; Hasegawa, J.; Ishida, M.; Nakajima, T.; Honda, Y.; Kitao, O.; Nakai, H.; 

Vreven, T.; Montgomery, J. A., Jr.; Peralta, J. E.; Ogliaro, F.; Bearpark, M.; Heyd, J. J.; Brothers, 

E.; Kudin, K. N.; Staroverov, V. N.; Kobayashi, R.; Normand, J.; Raghavachari, K.; Rendell, A.; 

Burant, J. C.; Iyengar, S. S.; Tomasi, J.; Cossi, M.; Rega, N.; Millam, N. J.; Klene, M.; Knox, J. E.; 

Cross, J. B.; Bakken, V.; Adamo, C.; Jaramillo, J.; Gomperts, R.; Stratmann, R. E.; Yazyev, O.; 

Austin, A. J.; Cammi, R.; Pomelli, C.; Ochterski, J. W.; Martin, R. L.; Morokuma, K.; Zakrzewski, 

V. G.; Voth, G. A.; Salvador, P.; Dannenberg, J. J.; Dapprich, S.; Daniels, A. D.; Farkas, O.; 

Foresman, J. B.; Ortiz, J. V.; Cioslowski, J.; Fox, D. J. Gaussian 09, revision B.01; Gaussian Inc.: 

Pittsburgh, PA, 2010. 



32 

3. UHPLC/UV analysis for chemical profiling of licorice extract and mixed 

standards.  

An Agilent series 1290 UHPLC instrument (Agilent Technologies, Waldbronn, 

Germany) equipped with a binary pump, a diode-array detector, an autosampler and a 

column compartment was used. Samples were separated on an Acquity UPLC HSS 

T3 column (1.8 µm, 2.1 × 150 mm) equipped with a VanGuard pre-column (1.8 µm, 

2.1 × 5 mm) (Waters, MA, USA). The mobile phase consisted of acetonitrile (A) and 

water containing 0.1% (v/v) formic acid (B). A gradient program was used as follows: 

0-7.5 min, 10-25% A; 7.5-38 min, 25-38% A; 38-53 min, 38-47% A; 53-64 min, 

47-57% A; 64-72 min, 57-75% A; 72-75 min, 75-80% A. The column temperature 

was 50 °C, and the flow rate was 0.2 mL/min. The DAD detector scanned from 190 to 

400 nm.  



33 

4. Protective effects of licorice EtOAc extract on CCl4-induced mice liver 

damage.  

The mice were divided randomly into four groups (n=10 for each group). 

Licorice EtOAc extract (300 mg/kg body weight, groups 3 and 4) in corn oil (30 

mg/mL) were administered orally once daily for three consecutive days. Three hours 

after the final treatment, the mice were treated with CCl4 [200 µL/kg, i.p., dissolved in 

corn oil (2%, v/v)]. Control animals were given appropriate corn oil orally. 

Twenty-four hours after administration of CCl4, mice were anesthetized with diethyl 

ether. Blood was then collected from the retro-orbital venous sinus to determine 

serum ALT, AST and LDH activities, and the liver tissue was isolated and stored at 

-80 °C for GSH and MDA analysis, except for the left lobe, which was used for 

histological studies. 

 



34 

Table S1. Bioactivity screening results (fold of control for Nrf2 activation activity and inhibition rates for the other activities) of licorice extracts 

and compounds 1-122. The values in the brackets refer to the standard deviations.  

No. Compounds 
Nrf2 

(10 µM) 

NO 

(10 µM) 

NF-κB 

(10 µM) 

H1N1 

(10 µM) 

HepG2 

(10 µM) 

SW480 

(10 µM) 

A549 

(10 µM) 

MCF7 

(10 µM) 

PTP1B 

(25 µM) 

Tyrosinase 

(20 µM) 

AChE 

(25 µM) 

 H2O crude extract of licorice (25 µg/mL) 1.38 

(0.23) 

27% 

(3%) 

20% 

(2%) 
- 

14% 

(2%) 

12% 

(1%) 

17% 

(2%) 

15% 

(1%) 
0 

9% 

(0%) 

6% 

(1%) 

 EtOH crude extract of licorice (25 µg/mL) 4.04 

(0.11) 

40% 

(2%) 

22% 

(2%) 
- 

51% 

(3%) 

68% 

(4%) 

35% 

(3%) 

55% 

(3%) 

99% 

(6%) 

50% 

(2%) 

29% 

(2%) 

 EtOAc extract of licorice (25 µg/mL) 7.16 

(0.56) 

52% 

(5%) 

38% 

(3%) 
- 

92% 

(7%) 

99% 

(9%) 

76% 

(4%) 

89% 

(7%) 

100% 

(8%) 

87% 

(8%) 

48% 

(4%) 

 n-BuOH extract of licorice (25 µg/mL) 1.24 

(0.14) 

40% 

(4%) 

21% 

(2%) 
- 0 0 

4% 

(0%) 

15% 

(0%) 

15% 

(1%) 
0 

6% 

(1%) 

1 Glycyuralin A 0.24 

(0.02) 
0 0 

20% 

(2) 

64% 

(4%) 

45% 

(8%) 
0 

43% 

(2%) 

25% 

(1%) 
0 

10% 

(0%) 

2 Glycyuralin B 1.68 

(0.04) 

13% 

(1%) 
0 0 

6% 

(0%) 

2% 

(0%) 
0 0 

72% 

(10%) 

5% 

(0%) 
0 

3 Glycyuralin C 0.72 

(0.02) 
0 0 

13% 

(2%) 

44% 

(1%) 

33% 

(1%) 

11% 

(0%) 

37% 

(5%) 

33% 

(2%) 

9% 

(0%) 
0 

4 Glycyuralin D 0.93 

(0.05) 
0 

32% 

(11%) 

5% 

(1%) 

15% 

(2%) 

34% 

(1%) 

45% 

(3%) 

13% 

(1%) 

55% 

(4%) 

4% 

(0%) 
0 

5 Glycyuralin E 1.84 

(0.14) 

25% 

(2%) 
0 

12% 

(1%) 
0 

35% 

(4%) 

27% 

(3%) 

9% 

(1%) 

35% 

(6%) 

15% 

(0%) 

36% 

(1%) 

6 Glycyuralin F 2.78 

(0.15) 

18% 

(6%) 

22% 

(2%) 

45% 

(10%) 

33% 

(1%) 

34% 

(1%) 

6% 

(0%) 

29% 

(1%) 

57% 

(9%) 
0 0 

7 Echinatin 5.46 

(0.01) 

23% 

(5%) 
0 

37% 

(2%) 
0 

1% 

(1%) 

6% 

(1%) 

8% 

(1%) 

24% 

(2%) 

27% 

(1%) 
0 



35 

8 Glycyrin 1.70 

(0.23) 

7% 

(2%) 

17% 

(1%) 
- 

2% 

(2%) 
0 0 

1% 

(3%) 

49% 

(5%) 

6% 

(1%) 
0 

9 Glycyrol  0.88 

(0.07) 

16% 

(6%) 
0 0 

52% 

(12%) 

29% 

(1%) 
0 

12% 

(2%) 

74% 

(15%) 
0 

22% 

(1%) 

10 Isoangustone A  0.95 

(0.11) 

28% 

(4%) 

9% 

(0%) 
- 

88% 

(13%) 

82% 

(12%) 

82% 

(4%) 

80% 

(3%) 

100% 

(8%) 

2% 

(0%) 

54% 

(6%) 

11 Isoglycyrol  3.32 

(0.60) 
0 

4% 

(1%) 
0 

3% 

(1%) 

21% 

(2%) 

2% 

(2%) 
0 

42% 

(8%) 

9% 

(1%) 

7% 

(0%) 

12 7-O-Methylluteone  1.57 

(0.01) 

35% 

(7%) 
0 

8% 

(2%) 
0 

48% 

(5%) 

23% 

(3%) 

14% 

(1%) 

94% 

(9%) 

26% 

(0%) 

83% 

(9%) 

13 Glyasperin D  1.78 

(0.43) 

33% 

(4%) 
0 0 

99% 

(6%) 

78% 

(7%) 

25% 

(2%) 

98% 

(6%) 

98% 

(2%) 

100% 

(0%) 

57% 

(5%) 

14 Dehydroglyasperin D  1.14 

(0.00) 

14% 

(4%) 
0 0 0 0 

7% 

(1%) 
0 

98% 

(10%) 

47% 

(2%) 

52% 

(4%) 

15 Gancaonin I  1.13 

(0.03) 

32% 

(6%) 

4% 

(1%) 

32% 

(8%) 
0 

34% 

(1%) 

16% 

(1%) 
0 

99% 

(4%) 

60% 

(3%) 

61% 

(3%) 

16 Semilicoisoflavone B  2.00 

(0.22) 

46% 

(4%) 

7% 

(1%) 

30% 

(2%) 
0 

38% 

(2%) 

16% 

(1%) 

10% 

(1%) 

27% 

(1%) 

14% 

(3%) 

10% 

(2%) 

17 Kumatakenin  1.87 

(0.09) 

7% 

(0%) 

17% 

(1%) 

23% 

(6%) 
0 

30% 

(2%) 

14% 

(1%) 

16% 

(3%) 

35% 

(7%) 
0 0 

18 Licoricone  0.84 

(0.09) 

47% 

(9%) 
0 0 0 

41% 

(4%) 
0 

1% 

(0%) 

45% 

(0%) 

12% 

(2%) 
0 

19 Angustone A  0.86 

(0.02) 

15% 

(4%) 
0 - 

98% 

(9%) 

94% 

(7%) 

86% 

(5%) 

95% 

(4%) 

100% 

(3%) 

8% 

(1%) 

71% 

(8%) 

20 Licoflavonol 1.90 

(0.14) 

11% 

(2%) 
0 

10% 

(1%) 

17% 

(3%) 

49% 

(5%) 

9% 

(2%) 

56% 

(7%) 

51% 

(8%) 

45% 

(2%) 

39% 

(2%) 



36 

21 Topazolin 1.78 

(0.03) 

21% 

(6%) 

9% 

(1%) 
0 

33% 

(2%) 

34% 

(3%) 

32% 

(2%) 

67% 

(10%) 

52% 

(5%) 

14% 

(1%) 

31% 

(2%) 

22 Licoisoflavone A 1.59 

(0.30) 

12% 

(2%) 
0 0 

27% 

(2%) 

42% 

(2%) 

40% 

(6%) 

6% 

(1%) 

18% 

(1%) 

11% 

(1%) 

18% 

(3%) 

23 Wighteone 1.05 

(0.02) 

11% 

(4%) 
0 0 

83% 

(9%) 

44% 

(6%) 

19% 

(3%) 

31% 

(3%) 

55% 

(11%) 
0 

47% 

(3%) 

24 Allolicoisoflavone B 1.97 

(0.06) 
0 0 

2% 

(3%) 

9% 

(1%) 

45% 

(5%) 

14% 

(2%) 

10% 

(1%) 

23% 

(4%) 

7% 

(0%) 

26% 

(1%) 

25 5,7,4'-Trihydroxy-3'-(3-methylbut-2-enyl)-3-

methoxy flavone 

0.84 

(0.05) 

52% 

(6%) 
0 0 

57% 

(8%) 

21% 

(3%) 
0 

20% 

(1%) 

85% 

(7%) 

16% 

(1%) 

44% 

(4%) 

26 Lupiwighteone 1.57 

(0.09) 

1% 

(2%) 
0 0 0 

33% 

(7%) 
0 

18% 

(1%) 

86% 

(9%) 
0 0 

27 Licoarylcoumarin 1.49 

(0.38) 

39% 

(4%) 

2% 

(4%) 

28% 

(2%) 

52% 

(3%) 

28% 

(2%) 

4% 

(1%) 

4% 

(3%) 

54% 

(8%) 

14% 

(1%) 

27% 

(3%) 

28 Isolicoflavonol 0.68 

(0.04) 

5% 

(2%) 
0 0 

10% 

(3%) 

6% 

(1%) 

3% 

(1%) 
0 

98% 

(9%) 

73% 

(7%) 

40% 

(3%) 

29 Glycyfuranocoumarone A 1.23 

(0.12) 

21% 

(2%) 

1% 

(2%) 

26% 

(3%) 

90% 

(5%) 

84% 

(8%) 

39% 

(2%) 

37% 

(3%) 

97% 

(8%) 

20% 

(1%) 

6% 

(0%) 

30 Formononetin 1.93 

(0.26) 

25% 

(5%) 

9% 

(1%) 
0 0 0 

2% 

(4%) 

1% 

(1%) 

5% 

(5%) 
0 

20% 

(2%) 

31 Genkwanin 1.15 

(0.03) 

38% 

(8%) 
0 

2% 

(3%) 
0 

14% 

(1%) 

10% 

(1%) 

17% 

(1%) 

62% 

(6%) 

1% 

(1%) 
0 

32 Glycyfuranocoumarin A 1.35 

(0.14) 

7% 

(1%) 

5% 

(5%) 

14% 

(2%) 

5% 

(2%) 

22% 

(4%) 

24% 

(2%) 

23% 

(1%) 

67% 

(5%) 

9% 

(0%) 
0 

33 Glycycoumarin 1.72 

(0.28) 

26% 

(3%) 

8% 

(7%) 

16% 

(1%) 

30% 

(0%) 

40% 

(18%) 

7% 

(2%) 

22% 

(2%) 

55% 

(6%) 

13% 

(1%) 

40% 

(4%) 



37 

34 Isoglabrone 2.47 

(0.01) 

22% 

(3%) 
0 0 0 0 0 

1% 

(3%) 

2% 

(1%) 

3% 

(5%) 
0 

35 Glyurallin A 2.08 

(0.43) 

9% 

(2%) 
0 0 0 

54% 

(6%) 
0 

29% 

(5%) 

94% 

(10%) 

1% 

(1%) 

7% 

(2%) 

36 7-Methoxy-2',4'-dihydroxy isoflavone 3.03 

(0.23) 

13% 

(7%) 
0 0 0 

5% 

(7%) 
0 0 

17% 

(3%) 

15% 

(2%) 
0 

37 11b-Hydroxy-11b,1-dihydromedicarpin 1.68 

(0.09) 
0 

39% 

(13%) 
0 0 

10% 

(7%) 
0 0 

3% 

(1%) 

5% 

(3%) 
0 

38 Kaempferol 3-O-methyl ether 1.72 

(0.17) 

26% 

(6%) 
0 0 0 

27% 

(3%) 

3% 

(1%) 

14% 

(3%) 

2% 

(1%) 

11% 

(1%) 

32% 

(3%) 

39 2-one-4-Methoxy-pyran 1.33 

(0.09) 
0 

11% 

(9%) 

17% 

(5%) 
0 0 

3% 

(1%) 
0 

1% 

(2%) 

1% 

(2%) 
0 

40 Hirtellanine I 1.22 

(0.11) 

9% 

(2%) 

5% 

(1%) 
0 0 

4% 

(4%) 

4% 

(1%) 
0 

16% 

(0%) 

4% 

(1%) 
0 

41 Glycyrrhiza-isoflavone C 1.78 

(0.02) 

5% 

(1%) 
0 

1% 

(2%) 
0 

16% 

(2%) 

8% 

(3%) 

17% 

(2%) 

25% 

(1%) 

8% 

(1%) 
0 

42 Isoliquiritigenin 5.88 

(0.10) 

35% 

(3%) 

17% 

(8%) 

5% 

(1%) 
0 0 0 

6% 

(3%) 

29% 

(6%) 

43% 

(1%) 

22% 

(2%) 

43 Isoglycycoumarin 3.49 

(0.33) 
0 0 

3% 

(1%) 

36% 

(3%) 

46% 

(9%) 

5% 

(1%) 
0 

36% 

(0%) 

55% 

(1%) 

40% 

(2%) 

44 Genistein 3.71 

(0.10) 

8% 

(1%) 
0 0 

46% 

(5%) 

26% 

(9%) 

15% 

(1%) 

6% 

(1%) 

27% 

(3%) 
0 

16% 

(1%) 

45 Kumatakenin B 2.23 

(0.37) 

5% 

(1%) 

15% 

(2%) 

7% 

(1%) 
0 

40% 

(7%) 

22% 

(1%) 

5% 

(1%) 

17% 

(2%) 

11% 

(1%) 
0 

46 Luteone 6.68 

(0.98) 

16% 

(2%) 
0 

47% 

(6%) 

36% 

(3%) 

55% 

(6%) 

9% 

(1%) 

23% 

(1%) 

53% 

(8%) 

27% 

(0%) 

36% 

(1%) 



38 

47 Licocoumarone 1.18 

(0.21) 

43% 

(5%) 

81% 

(8%) 

36% 

(4%) 

70% 

(10%) 

30% 

(6%) 

24% 

(2%) 

23% 

(2%) 

92% 

(6%) 

55% 

(2%) 

45% 

(4%) 

48 Glycyfuranocoumarin B 1.36 

(0.01) 
0 0 0 0 

13% 

(1%) 

39% 

(2%) 

19% 

(1%) 

79% 

(3%) 
0 0 

49 Uralenol 1.08 

(0.07) 

13% 

(2%) 
0 

6% 

(1%) 
0 0 

22% 

(1%) 

26% 

(1%) 

96% 

(3%) 

41% 

(1%) 

27% 

(2%) 

50 Glycyfuranocoumarin C 1.13 

(0.06) 

1% 

(2%) 
0 

2% 

(1%) 
0 

13% 

(1%) 

16% 

(2%) 

21% 

(1%) 

81% 

(5%) 

11% 

(3%) 

19% 

(2%) 

51 Glicoricone  1.45 

(0.10) 

11% 

(2%) 
0 0 0 0 

6% 

(1%) 

19% 

(2%) 

40% 

(1%) 

38% 

(3%) 
0 

52 Pratensein  2.40 

(0.02) 
0 

12% 

(5%) 

5% 

(7%) 
0 

43% 

(2%) 

15% 

(2%) 

36% 

(3%) 

55% 

(6%) 

50% 

(0%) 

1% 

(1%) 

53 Dehydroglyasperin C  4.70 

(0.81) 

66% 

(7%) 

6% 

(2%) 

36% 

(3%) 

88% 

(10%) 

21% 

(2%) 

18% 

(2%) 

15% 

(1%) 

87% 

(0%) 

87% 

(4%) 

17% 

(2%) 

54 Homobutein  2.49 

(0.17) 

11% 

(3%) 

19% 

(0%) 
0 0 

46% 

(4%) 

22% 

(5%) 

9% 

(1%) 

17% 

(2%) 

71% 

(9%) 

2% 

(1%) 

55 6-C-prenylorobol  3.80 

(0.00) 

24% 

(4%) 
0 

17% 

(2%) 

64% 

(9%) 

30% 

(3%) 

35% 

(2%) 

81% 

(7%) 

93% 

(11%) 
0 

38% 

(1%) 

56 Kaempferol  3.41 

(0.26) 

5% 

(1%) 

29% 

(4%) 
0 0 0 

14% 

(2%) 

1% 

(2%) 

93% 

(14%) 

97% 

(3%) 

7% 

(1%) 

57 Gancaonin L  3.85 

(0.18) 

21% 

(2%) 
0 

45% 

(9%) 

6% 

(1%) 

3% 

(2%) 

2% 

(2%) 

8% 

(1%) 

97% 

(7%) 

10% 

(1%) 

26% 

(2%) 

58 Licoisoflavanone  1.97 

(0.11) 

12% 

(3%) 
0 

19% 

(2%) 
0 0 

1% 

(1%) 

8% 

(2%) 

53% 

(3%) 

4% 

(1%) 

17% 

(2%) 

59 Abiochanin A 1.70 

(0.36) 

2% 

(2%) 

4% 

(0%) 
0 0 

9% 

(0%) 

2% 

(1%) 

15% 

(3%) 

39% 

(2%) 
0 

2% 

(0%) 



39 

60 Liquiritigenin  1.80 

(0.11) 

5% 

(2%) 
0 0 0 

38% 

(6%) 

1% 

(1%) 
0 

12% 

(2%) 

42% 

(1%) 

18% 

(2%) 

61 Licoflavone A 2.35 

(0.13) 

29% 

(7%) 
0 

2% 

(2%) 

6% 

(1%) 

44% 

(9%) 

4% 

(2%) 

12% 

(1%) 

82% 

(1%) 

9% 

(2%) 

7% 

(1%) 

62 Glyasperin C 1.85 

(0.08) 

2% 

(1%) 

13% 

(2%) 

3% 

(2%) 

6% 

(1%) 

45% 

(7%) 

17% 

(2%) 

16% 

(2%) 

71% 

(1%) 

99% 

(2%) 

5% 

(0%) 

63 Daidzein 0.83 

(0.02) 
0 0 0 

2% 

(1%) 

24% 

(3%) 
0 

12% 

(2%) 

36% 

(2%) 
0 0 

64 3-Methoxy-9-hydroxy-pterocarpan 2.21 

(0.21) 

8% 

(2%) 

13% 

(1%) 
0 0 0 0 

2% 

(1%) 

39% 

(1%) 

51% 

(0%) 

19% 

(1%) 

65 1-Methoxy-phaseollin 2.13 

(0.36) 

1% 

(1%) 

44% 

(4%) 
0 

2% 

(1%) 

7% 

(1%) 

21% 

(1%) 

5% 

(1%) 

51% 

(5%) 

6% 

(1%) 

28% 

(1%) 

66 Glabridin 2.32 

(0.08) 

11% 

(2%) 

42% 

(3%) 
0 

5% 

(1%) 

28% 

(4%) 

10% 

(2%) 

16% 

(2%) 

57% 

(1%) 

27% 

(2%) 
0 

67 Isolupalbigenin 1.59 

(0.12) 

9% 

(1%) 
0 0 

68% 

(4%) 

59% 

(8%) 

93% 

(9%) 

91% 

(7%) 

99% 

(10%) 

2% 

(0%) 

39% 

(6%) 

68 6,8-Diprenylgenistein 2.31 

(0.11) 

1% 

(1%) 

3% 

(2%) 

44% 

(6%) 

14% 

(1%) 

56% 

(13%) 

27% 

(1%) 

41% 

(2%) 

98% 

(1%) 
0 

44% 

(7%) 

69 2'-Hydroxy-isolupalbigenin 1.83 

(0.27) 

6% 

(2%) 

22% 

(1%) 

34% 

(1%) 

2% 

(2%) 

4% 

(2%) 

3% 

(0%) 

5% 

(2%) 

100% 

(9%) 
0 

23% 

(2%) 

70 Isoderrone 1.63 

(0.19) 

6% 

(3%) 

28% 

(5%) 

13% 

(5%) 

17% 

(1%) 

12% 

(1%) 

3% 

(1%) 

16% 

(2%) 

78% 

(1%) 
0 

9% 

(1%) 

71 Licoricidin 1.27 

(0.06) 

11% 

(1%) 

14% 

(2%) 
- 

98% 

(2%) 

86% 

(7%) 

78% 

(6%) 

94% 

(5%) 

100% 

(1%) 

5% 

(0%) 

82% 

(10%) 

72 Glicophenone 1.33 

(0.28) 

2% 

(1%) 
0 0 

10% 

(1%) 

16% 

(2%) 
0 

9% 

(1%) 

78% 

(0%) 

3% 

(1%) 
0 



40 

73 Licoisoflavone B 1.97 

(0.07) 

49% 

(6%) 
0 

30% 

(2%) 

2% 

(1%) 

30% 

(2%) 
0 

57% 

(3%) 

76% 

(9%) 

2% 

(1%) 
0 

74 Liquiritigenin 7,4'-di-O-glucopyranoside  0.85 

(0.20) 
0 

14% 

(1%) 
0 0 0 0 

5% 

(2%) 

50% 

(9%) 

6% 

(2%) 

11% 

(8%) 

75 Glucoliguiritin apioside 0.89 

(0.01) 
0 

22% 

(2%) 

4% 

(1%) 

4% 

(1%) 

32% 

(3%) 

19% 

(2%) 
0 

59% 

(4%) 

7% 

(1%) 

5% 

(1%) 

76 Vicenin-2 0.90 

(0.14) 
0 

24% 

(2%) 
0 

13% 

(3%) 

25% 

(3%) 

18% 

(2%) 

21% 

(2%) 
0 

7% 

(1%) 

18% 

(2%) 

77 Schaftoside 0.89 

(0.12) 
0 

26% 

(1%) 
0 

7% 

(1%) 

9% 

(3%) 
0 

10% 

(2%) 

1% 

(1%) 

3% 

(4%) 

6% 

(2%) 

78 Isoschaftoside  0.99 

(0.01) 
0 

7% 

(1%) 
0 

2% 

(2%) 

4% 

(1%) 
0 

2% 

(1%) 

34% 

(2%) 

6% 

(1%) 

13% 

(2%) 

79 Isoliquiritigenin 4,4'-di-O-glucopyranoside  1.12 

(0.06) 

5% 

(1%) 

18% 

(2%) 
0 0 

16% 

(2%) 
0 0 

43% 

(2%) 

3% 

(1%) 

18% 

(2%) 

80 Isoviolanthin  1.17 

(0.21) 
0 

3% 

(6%) 

3% 

(2%) 

10% 

(6%) 

19% 

(2%) 
0 

18% 

(2%) 

56% 

(6%) 

4% 

(2%) 

15% 

(2%) 

81 liquiritin apioside 0.95 

(0.13) 
0 0 0 0 

6% 

(7%) 

33% 

(3%) 

15% 

(2%) 
0 0 

13% 

(1%) 

82 liquiritin 0.94 

(0.17) 
0 

13% 

(2%) 

2% 

(4%) 
0 

11% 

(1%) 

20% 

(2%) 
0 

37% 

(1%) 

5% 

(2%) 
0 

83 Apigenin 

6-C-rhamnopyranoside-8-C-[6'''-(3-hydroxy-

3-methylglutaroyl)]-glucopyranoside 

1.50 

(0.03) 
0 0 - 

26% 

(2%) 
0 

24% 

(2%) 
0 

18% 

(1%) 

2% 

(1%) 

16% 

(2%) 

84 Isoliquiritin apioside  0.98 

(0.11) 
0 0 

25% 

(4%) 
0 

1% 

(2%) 
0 0 

55% 

(2%) 
0 

22% 

(3%) 

85 Ononin  1.23 0 7% 0 7% 6% 4% 0 39% 6% 11% 



41 

(0.03) (4%) (3%) (2%) (4%) (3%) (1%) (2%) 

86 Isoliquiritin  1.32 

(0.09) 
0 

22% 

(7%) 

14% 

(2%) 

1% 

(2%) 

27% 

(1%) 
0 0 

24% 

(6%) 

1% 

(2%) 

21% 

(3%) 

87 Neoliquiritin 0.91 

(0.05) 

3% 

(2%) 

7% 

(1%) 
- 

23% 

(3%) 
0 

2% 

(1%) 
0 0 0 

18% 

(2%) 

88 Neoisoliquiritin  0.91 

(0.05) 

8% 

(2%) 
0 - 

35% 

(1%) 

10% 

(2%) 

10% 

(1%) 
0 0 0 

19% 

(1%) 

89 Glycyroside 1.20 

(0.21) 
0 0 - 

19% 

(2%) 

32% 

(2%) 

23% 

(2%) 

1% 

(1%) 
0 

2% 

(1%) 

12% 

(3%) 

90 Sophoraflavone B 1.29 

(0.21) 

6% 

(1%) 
0 - 

17% 

(1%) 

1% 

(2%) 

22% 

(3%) 

28% 

(3%) 

6% 

(1%) 
0 

15% 

(1%) 

91 7,4'-Dihydroxyflavone 7-O-glucopyranoside  0.95 

(0.07) 
0 0 - 

16% 

(1%) 

8% 

(1%) 

23% 

(2%) 
0 

10% 

(1%) 

4% 

(1%) 

8% 

(2%) 

92 Daidzin  1.07 

(0.05) 
0 0 - 

23% 

(1%) 
0 

15% 

(2%) 
0 

6% 

(1%) 
0 

5% 

(2%) 

93 Syringic acid 4-O-glucopyranoside  0.94 

(0.04) 
0 0 - 

39% 

(1%) 

13% 

(2%) 

24% 

(2%) 
0 0 

1% 

(1%) 

19% 

(3%) 

94 Uralsaponin C  1.23 

(0.21) 
0 0 

54% 

(1%) 
0 

6% 

(2%) 

4% 

(1%) 

3% 

(0%) 

32% 

(2%) 
0 

3% 

(1%) 

95 Uralsaponin F  1.29 

(0.15) 
0 0 

56% 

(6%) 

23% 

(2%) 

5% 

(1%) 

21% 

(0%) 

43% 

(5%) 

11% 

(0%) 
0 

1% 

(1%) 

96 Uralsaponin T  1.53 

(0.37) 

13% 

(1%) 
0 

75% 

(8%) 
0 

7% 

(1%) 
0 

2% 

(0%) 

32% 

(1%) 
0 0 

97 Licorice-saponin A3  1.34 

(0.07) 
0 0 

63% 

(9%) 

5% 

(1%) 

5% 

(2%) 
0 

20% 

(1%) 

14% 

(3%) 
0 0 

98 Uralsaponin X  1.22 0 0 55% 0 5% 7% 19% 18% 6% 0 



42 

(0.04) (1%) (1%) (1%) (2%) (2%) (0%) 

99 Uralsaponin R  1.36 

(0.27) 
0 0 

61% 

(5%) 

15% 

(1%) 

4% 

(1%) 

6% 

(1%) 
0 

25% 

(3%) 
0 0 

100 22β-Acetoxyglycyrrhizin  1.11 

(0.18) 

8% 

(5%) 
0 

62% 

(1%) 

12% 

(2%) 

6% 

(1%) 

12% 

(2%) 

7% 

(2%) 

17% 

(1%) 

9% 

(2%) 

4% 

(0%) 

101 Uralsaponin M  1.24 

(0.25) 
0 0 

69% 

(4%) 

7% 

(0%) 

6% 

(1%) 

3% 

(0%) 

13% 

(2%) 

7% 

(1%) 
0 

4% 

(1%) 

102 Uralsaponin P  1.01 

(0.11) 

15% 

(3%) 

17% 

(5%) 

57% 

(10%) 
0 

11% 

(1%) 
0 

19% 

(2%) 

32% 

(4%) 

7% 

(2%) 

5% 

(1%) 

103 Uralsaponin S  1.16 

(0.07) 

17% 

(3%) 
0 

67% 

(9%) 

3% 

(1%) 

1% 

(2%) 
0 

12% 

(1%) 

14% 

(0%) 
0 

11% 

(1%) 

104 Uralsaponin Q  0.99 

(0.26) 

3% 

(1%) 
0 

59% 

(8%) 

3% 

(2%) 

4% 

(1%) 

10% 

(1%) 

38% 

(2%) 

8% 

(0%) 
0 

8% 

(1%) 

105 Uralsaponin Y  0.80 

(0.10) 

15% 

(3%) 
0 

58% 

(1%) 
0 

6% 

(1%) 

2% 

(0%) 

42% 

(6%) 

20% 

(1%) 
0 

5% 

(1%) 

106 Licorice-saponin G2  0.99 

(0.14) 

6% 

(1%) 

2% 

(0%) 

67% 

(2%) 
0 0 0 

21% 

(2%) 

49% 

(7%) 
0 0 

107 Licorice-saponin E2  1.08 

(0.03) 
0 0 

65% 

(6%) 
0 

5% 

(1%) 

14% 

(1%) 

33% 

(4%) 

26% 

(2%) 

8% 

(1%) 
0 

109 Uralsaponin U  1.23 

(0.34) 
0 0 

65% 

(6%) 
0 

5% 

(0%) 

17% 

(2%) 

27% 

(2%) 

5% 

(6%) 
0 

4% 

(1%) 

110 22β-Acetoxyl-glycyrrhaldehyde  1.16 

(0.04) 
0 0 

57% 

(8%) 

15% 

(2%) 

8% 

(1%) 

4% 

(1%) 
0 

37% 

(3%) 

7% 

(4%) 

1% 

(1%) 

111 Uralsaponin N  1.24 

(0.23) 
0 0 

52% 

(1%) 

6% 

(1%) 

6% 

(2%) 
0 

22% 

(2%) 

31% 

(3%) 
0 

3% 

(1%) 

112 Glycyrrhizin  1.38 25% 0 50% 0 5% 16% 25% 70% 0 8% 



43 

(0.17) (1%) (10%) (0%) (1%) (1%) (6%) (1%) 

114 Licorice-saponin H2  1.47 

(0.04) 
0 0 

77% 

(7%) 

29% 

(4%) 
0 

1% 

(1%) 
0 

33% 

(4%) 
0 

8% 

(0%) 

115 Licorice-saponin J2  1.32 

(0.07) 
0 0 

72% 

(6%) 

16% 

(1%) 
0 

22% 

(1%) 

22% 

(1%) 

27% 

(3%) 

4% 

(0%) 

10% 

(1%) 

116 Araboglycyrrhizin  1.30 

(0.01) 

6% 

(1%) 
0 

63% 

(3%) 
0 

2% 

(1%) 

25% 

(0%) 
0 

20% 

(3%) 
0 

10% 

(1%) 

117 3β-O-[glucuronopyranosyl-(1→2)-glucurono

pyranosyl]-olean-9,12-diene-30-oic-acid  

1.17 

(0.33) 

37% 

(0%) 

4% 

(1%) 

37% 

(2%) 

3% 

(0%) 

3% 

(0%) 

11% 

(0%) 
0 

49% 

(6%) 
0 

8% 

(1%) 

118 Uralsaponin V  1.21 

(0.10) 
0 

31% 

(2%) 

55% 

(0%) 
0 

3% 

(0%) 

13% 

(1%) 
0 

67% 

(5%) 
0 

10% 

(1%) 

119 Uralsaponin W  1.21 

(0.18) 

17% 

(1%) 

4% 

(3%) 

50% 

(3%) 
0 

3% 

(1%) 

17% 

(1%) 
0 

61% 

(8%) 

8% 

(0%) 

7% 

(1%) 

120 Licorice-saponin B2  1.41 

(0.11) 
0 

7% 

(2%) 

67% 

(7%) 
0 

2% 

(0%) 

28% 

(1%) 

3% 

(0%) 

12% 

(3%) 

44% 

(2%) 

5% 

(1%) 

121 3-O-Glucuronopyranosyl-glycyrrhetinic acid  1.20 

(0.09) 
0 0 

43% 

(1%) 
0 

2% 

(0%) 

35% 

(2%) 

15% 

(1%) 

31% 

(0%) 

1% 

(1%) 

2% 

(3%) 

122 Glycyrrhetinic acid  1.18 

(0.07) 

13% 

(2%) 

22% 

(1%) 

58% 

(5%) 
0 

4% 

(0%) 

29% 

(2%) 

30% 

(2%) 

82% 

(6%) 

4% 

(1%) 

3% 

(0%) 

 



44 

Glycyrrhiza uralensis (licorice)

Compound library

(1-122)  

Biological activities

(11 bioassay models)

In vitro bioassays

Chemical-bioactivity correlation of licorice

Confirmation of bioactivities (in vivo)

(A selected active compound, 7)

Bioactive constituents
 

Scheme S1. Strategy to discover the effective components of licorice. 



45 

 

O O

O

OH

HO

O

9

O

O

R4

R6

R1

R3

R1 R2 R3 R4 R5 R6

12 OH prenyl OCH3 OH H OH
19 OH prenyl OH OH Prenyl OH
22 OH H OH OH prenyl OH
23 OH prenyl OH H H OH
30 H H OH H H OCH3

36 H H OCH3 OH H OH
44 OH H OH H H OH
46 OH prenyl OH OH H OH
52 OH H OH H OH OCH3

55 OH prenyl OH H OH OH
59 OH H OH H H OCH3

63 H H OH H H OH

R2

R5

O O

O

OH

O

O

11

O

O

HO

OH

R

15 R=OCH3

47 R=OH

O

O
O

OH

OH

HO

16

OHO

OH O

O

OH24

OR1
OH

OH

R2

R1 R2

13 CH3 H
62 OH H
71 OH prenyl

OHO

HO O

OH

HO

72

O
OH

R

14 R=OCH3

53 R=OH

O

O

O
OH

OH34

OHO

O
HO

O

O
41

O

O

HO

OH

OH

OH
HO 6

O

OR1

HO

O

R2

R3

R1 R2 R3

40 H OCH3 OH
70 OH H H
73 OH OH H

O

O

R1

OH
OH

HO

R1 R2

R2

26 H H
57 H OH
67 H prenyl
69 OH prenyl

O

O

HO

HO R

18 R=OCH3

51 R=OH

O

O

HO

OH

R3

OH

R2

R1

R1 R2 R3

10 H OH prenyl
68 prenyl H H

OO

OHHO

OH

1

OO

OHHO

OH

3

O
OH

OH

O

66

O O

O

OH

O

O

50

O O
OH

OH

O

O

43

O OHO

O
OHHO

27

O O

HO OH
O

R

8 R=OCH3

33 R=OH

O O

O
OHHO

O

32 R=H
48 R=OH

R

O

O

O

OH

HO

2

O

O

O

OH64

O

O

HO

O

O
65

OHO

O

OH

O

O

HO

OH

OH

O
58

O

R1HO

OH

R2

R3

R1 R2 R3

42 OH H H
7 H OCH3 H
54 OH H OCH3

O
O

O

HO

OH

29

O

O

OH

O

O

OH
4

O

O

OH

HO

O

35

O

O

O

HO

O
37

O

O

O
39

O

O
HO

O

HO
HO

5

O

OH

R3

R2

R1 O

R4

R1 R2 R3 R4 R5 R6

R5

R6

17 OH H OCH3 OCH3 H H
20 OH prenyl OH OH H H
21 OH prenyl OH OCH3 H H
25 OH H OH OCH3 prenyl H
28 OH H OH OH prenyl H
31 OH H OCH3 H H H
38 OH H OH OCH3 H H
45 H H OH H H H
49 OH H OH OH OH prenyl
56 OH H OH OH H H
61 H prenyl OH H H H 60

O

O

OR2

R1O

R1 R2

74 Glc Glc
75 Glc Glc-(2,1)-O-Api
81 H Glc-(2,1)-O-Api
82 H Glc
87 Glc H

OHR1O

O

OR2

R1 R2

79 Glc Glc
84 H Glc-(2,1)-O-Api
86 H Glc
88 Glc H

O

O

OR2

R1O

R1 R2

90 H Glc
91 Glc H

O

O

R1O

OR2

R1 R2

85 Glc CH3

89 Glc-(2,1)-O-Api CH3

92 Glc H

O

OOH

HO

OH

R1

R1 R2

76 Glc Glc
77 Glc Ara
78 Ara Glc
80 Rha Glc
83 Rha Glc-(6)-O-Glut

COOH

O O

OGlc

93

R1O

O

R2 R3

R5

R1 R2 R3 R4 R5

94 GlcA-(2,1)-O-GlcA CH3 CH2OH H OH
96 GlcA-(2,1)-O-GlcA CH3 CH3 H O-Rha
98 GlcA-(2,1)-O-GlcA-(2,1)-O-Rha CH3 COOH H OCOCH3

99 GalA-(2,1)-O-Glc-(2,1)-O-Rha COOH CH3 OH H
100 GlcA-(2,1)-O-GlcA CH3 COOH H OCOCH3

101 GlcA-(2,1)-O-GalA CH3 COOH H OCOCH3

102 GlcA-(2,1)-O-Gal COOH CH3 OH H
103 GlcA-(2,1)-O-Glc-(2,1)-O-Rha COOH CH3 OH H
104 GlcA-(2,1)-O-Xyl-(2,1)-O-Rha COOH CH3 OH H
113 GlcA-(3,1)-O-GlcA CH3 COOH H H

R4

RO

O

O

O

105 GlcA-(2,1)-O-GlcA-(2,1)-O-Rha
107 GlcA-(2,1)-O-GlcA
108 GlcA-(2,1)-O-GalA

R1O
R2

COOH

115 GlcA-(2,1)-O-GlcA CH2OH
120 GlcA-(2,1)-O-GlcA H

R1 R2

RO

COOH

117 GlcA-(2,1)-O-GlcA

RO

COOH

118 GlcA-(2,1)-O-GlcA

R1 R2 R3 R4

97 GlcA-(2,1)-O-GlcA CH3 CH3 COOGlc
106 GlcA-(2,1)-O-GlcA CH2OH CH3 COOH
109 GlcA-(2,1)-O-GlcA CH2OH COOH CH3

110 GlcA-(2,1)-O-GlcA CH3 CH3 CHO
111 GlcA-(2,1)-O-GalA CH2OH CH3 COOH
112 GlcA-(2,1)-O-GlcA CH3 CH3 COOH
114 GlcA-(2,1)-O-GlcA CH3 COOH CH3

116 GlcA-(2,1)-O-Ara CH3 CH3 COOH
119 GlcA-(2,1)-O-GlcA CH3 CH3 CHO
121 GlcA CH3 CH3 COOH
122 H CH3 CH3 COOH

R1O
R2

O

R3 R4

RO
CH2OH

O

COOH

O

O

95 GlcA-(2,1)-O-GlcA
RR R R

O

Glc:

O

OH

OHHO

HO

GlcA:

O

OH

OHHO

HO

O

Api:

O

OHOHHO

Ara:

O

OH

OHHO

Rha:

O

OH

OHHO

Xyl:

O

OH

OHHO

Gal:

O

OH

OHHO

HO

GalA:

O

OH

OHHO

HO

O

Glut:

HO

O OH O

prenyl:

1

2
4

5

7
1'

4'
1

4

1'

2'

3'

4'

1

3
5

810

11

14
17

18 22

23 24

25 26

27

28

29 30

1
2

3

4

7

6 1'

2' 4'

1

34

7

1'
4'

1''

2''
3''

5''

4''

1

2

3

104

1'

2'
3'

1'' 2''

3''

4''

1

2
3

1'

2'

4'
1''

2''

3''
4''

9

7

R2

Chart S1. Structures of compounds 1-122 isolated from Glycyrrhiza uralensis. 



46 

-25

-20

-15

-10

-5

0

5

10

15

20

25

200 220 240 260 280 300 320

-80

-60

-40

-20

0

20

40

60

80

180 230 280 330 380

Calcd. for (3R)-3

Calcd. for (3S)-3

Exp. for 3

-40

-30

-20

-10

0

10

20

30

40

180 230 280 330

Calcd. for (3R)-1

Calcd. for (3S)-1

Exp. for 1

Calcd. for (3S, 4S)-2

Calcd. for (3R, 4R)-2

Exp. for 2

 
Fig. S1. Comparison of the calculated ECD spectra for (3R)-1, (3R)-3, (3R,4R)-2, and their enantiomers, with the experimental ECD spectra for 

1, 3 and 2. 

 



47 

Con tBHQ 2.5 5 10 20 40    µM  

0

0.2

0.4

0.6

0.8

1

1.2

1.4

Con 2.5 5 10 20 40     µM

0

1

2

3

4

5

6

7 (A)

(B)

F
o
ld
 o
f 
c
o
n
tr
o
l

F
o
ld
 o
f 
c
o
n
tr
o
l

 
Fig. S2. (A) Dose-dependent activation effects of 46 on luciferase activity of HepG2 

cells stably transfected with Nrf2 luciferase reporter. (B) Cytotoxicity of 46 against 

HepG2 cells at different concentrations. 

 



48 

min10 20 30 40 50 60 70 80

mAU

0

20

40

60

80

min10 20 30 40 50 60 70 80

mAU

0

20

40

60

80

min10 20 30 40 50 60 70 80

mAU

0

20

40

60

80

min10 20 30 40 50 60 70 80

mAU

0

20

40

60

80

75

75

75

75

76

76

76

76

81
82

81 82

81 82

81 82

79

79

79

84 86

85

84

86

85

84
86 85

84

89

85

60

97
100

100

107

106

106

112

112

112

113

45

45
33 49

63

49

43

10

10

47
20

21
71

(A)

(B)

(C)

(D)

 

Fig. S3. UHPLC/UV chromatograms of licorice water crude extract (A), licorice EtOH crude extract (B), licorice EtOAc extract (C) and licorice 

n-BuOH extract (D) at 254 nm.  

 



49 

Bioactivity

Anti-inflammation

Antioxidant

Antiviral

Anticancer

Antidiabetic

Skin-whitening

Cholinergic

Model

Nrf2

NO, NF-κB

H1N1

Cytotoxicity

PTP1B

Tyrosinase

AChE

Active chemicals

Chalcones 7, 42

Prenylated phenolics 46, 53

Prenylated phenolics 25, 47, 53

Saponins 97, 100, 106, 107, 112

Glycyrrhetinic acid 122

Prenylated phenolics 10, 13, 19, 29, 

67, 71

Prenylated phenolics 10, 13-15, 19, 

28, 29, 49, 57, 67-69, 71

Glycyrrhetinic acid 122

Prenylated phenolics 13, 62

Kaempferol 56 

Prenylated phenolics 12, 71
 

 

Fig. S4. The chemical-bioactivity correlation of licorice. 

 



50 

O

OHHO

OH

Isoliquiritigenin (42)
F, 5.88

O

HO

O OH

Echinatin (7)
F, 5.46

O

O

HO

OH

OH

OH

Luteone (46)
F, 6.68

OHO
OH

OH
O

Dehydroglyasperin C (53)
F, 4.70

Nrf2 activation activity (F: Fold of control at 10 M)

OHO

OH O

O

OH

5,7,4'-trihydroxy-3'(3-methylbut-
2-enyl)-3-methoxy flavone (25)

I, 52%; IC50, 12.1 M

O

HO

OH

O

HO

Licocoumarone (47)
I, 81%; IC50, 5.1 M

OHO
OH

OH
O

Dehydroglyasperin C (53)
I, 66%; IC50, 8.1 M

NO inhibition activity (I, inhibition rate at 10 M) NF- B inhibition activity (I, inhibition rate at 10 M)

COOH

OCOCH3

O

OO

OO

HOOC

HOOC

HO
HO

HO
HO

OH

H

22b-acetoxylglycyrrhizin (100)
I, 62%; IC50, 49.1 M

O

O

O

H

O
HOOC

HO
HO

OO
HOOC

HO
HO

OH

O

OH
HO

HO

Uralsaponin T (96)
I, 75%; IC50, 39.6 M

COOH

OCOCH3

O

OO

OO

HOOC

COOH

HO
HO

OH

HO
OH Uralsaponin M (101)

I, 69%; IC50, 48.0 M

H1N1 inhibition activity (I, inhibition rate at 100 M)

O

O

COOH

O

O
HO

HO
HOOC

O

O
HO

HO

OHH

OH3C
HO

HO OH

HOH2C

Uralsaponin S (103)
I, 67%; IC50, 42.7 M

O

O
O

OO

HOOC

HOOC

HO
HO

HO
HO

H

H

COOH

OH Glycyrrhizic acid (112)
I, 50%

O

HO

H

H

COOH

Glycyrrhetinic acid (122)
I, 58%

O

O

HO

OH

Isoangustone A (10)
I, 88% (a); 82% (b); 82% (c); 80% (d);

IC50, 4.4 (a); 6.5 (b); 6.4 (c); 6.6 (d) M

O
OH

OH

Glyasperin D (13)
I, 99% (a); 78% (b); 25% (c); 98% (d);

IC50, 3.8 (a); 7.2 (b); 12.9 (c); 6.7 (d) M

OH

OH

Cytotoxic activities against HepG2 (a), SW480 (b), A549 (c) and MCF7 (d) (I, inhibition rate at 10 M)

OHO

OH O

OH

OH

Angustone A (19)
I, 98% (a); 94% (b); 86% (c); 95% (d);
IC50, 1.1 (a); 6.4 (b); 7.1 (c); 6.0 (d) M

O
O

O

HO

OH

Glycyfuranocoumarone A (29)

I, 90% (a); 84% (b); 39% (c); 37% (d);
IC50, 6.7 (a); 4.4 (b); 13.7 (c) M

O

OOH

HO

OH

Isolupalbigenin (67)
I, 68% (a); 59% (b); 93% (c); 91% (d)

O

OH

OH
HO

O

Licoricidin (71)
I, 98% (a); 86% (b); 78% (c); 94% (d);
IC50, 0.3 (a); 7.1 (b); 6.9 (c); 5.2 (d) M

(A)



51 

PTP1B inhibition activity (I, inhibition rate at 25 M)

Tyrosinase inhibition activity (I, inhibition rate at 20 M)

O
OH

OH

Glyasperin D (55)
I, 100%; IC50, 0.1 M

O

O

HO
OH

OH

Glyasperin C (111)
I, 99%; IC50, 0.2 M

O

O

OH

OH

OH

HO

Kaempferol (104)
I, 99%; IC50, 1.0 M

AChE inhibition activity (I, inhibition rate at 25 M)

O

O
OH

OH

OH

7-O-methylluteone (54)
I, 83%; IC50, 9.9 M

O

OH

OH
HO

O

Licoricidin (120)
I, 82%; IC50, 15.5 M

O

O

HO

OH

Isoangustone A (52)
I, 100%; IC50, 3.0 M

OH

OH

O
OH

OH

Glyasperin D (55)
I, 98%

O
OH

OH

H3CO

OCH3

Dehydroglyasperin D (56)
I, 98%

O

OCH3

H3CO
HO

OH

Gancaonin I (57)
I, 99%

OHO

OH O

OH

OH

Angustone A (61)
I, 100%; IC50, 0.4 M

OHO

OH O

OH

OH

Isolicoflavonol (74)
I, 98%

O
O

O

HO

OH

Glycyfuranocoumarone A (75)
I, 97%

O

OOH

HO

OH

OH

OH

Uralenol (96)
I, 96%

O

O

HO

OH

OH

OH

Gancaonin L (105)
I, 97%

O

OOH

HO

OH

Isolupalbigenin (116)
I, 99%

O

OOH

HO

OH

6,8-diprenylgenistein (117)
I, 98%

O

O

OH

OH
OH

HO

2'-hydroxyisolupalbigenin (118)
I, 100%

O

OH

OH
HO

O

Licoricidin (120)
I, 100%

O

HO

H

H

COOH

Glycyrrhetinic acid (49)
I, 82%

(B)
 

Fig. S5. The most active compounds for (A) Nrf2 activation, NO inhibition, NF-κB 

inhibition, H1N1 inhibition, cytotoxic (HepG2, SW480, A549 and MCF7 cells) and 

(B) PTP1B inhibition, tyrosinase inhibition, AChE inhibition activities. 



52 

0

1000

2000

3000

4000

5000

6000

7000

8000 **

0

1000

2000

3000

4000

5000

6000

7000

8000

9000

10000

CCl4 + +

+ +

- -

- -

+ +

+ +

- -

- -

(B)

0

0.5

1

1.5

2

2.5

3

3.5

4(A)

CCl4

EtOAc 

extract

+ +

+ +

- -

- -

*

Control CCl4 CCl4 + EtOAc extract

EtOAc 

extract

CCl4

EtOAc 

extract

A
L
T
 (
IU
/L
)

A
S
T
 (
IU
/L
)

G
S
H
 (
n
m
o
l/
m
g
 p
ro
te
in
)

(C)

**

 

Fig. S6. The protective effects of licorice EtOAc extract against CCl4-induced mice liver damage. (A) Effects of licorice EtOAc extract on mice 

hepatic GSH level after CCl4 treatment. (B) Effect of licorice EtOAc extract on mice serum ALT, AST and LDH levels after CCl4 treatment. (C) 

Effect of licorice EtOAc extract on the histological changes of mice liver after CCl4 treatment. *p < 0.05; **p < 0.01; H&E stained slices were 

observed under 4 × magnification.  



53 

 

B C

MCI

AA AC

ODS

AAA

ODS

SPHPLC

82

AAB

ODS

LH-20 SPHPLC

90

LH-20

AAC

93

ODS

LH-20

SPHPLC
92

A

ACA ACB ACC

81

MCI

LH-20

SPHPLC

91

LH-20

SPHPLC

D

Dried licorice crude drug (35 Kg)

Extracted with 95% EtOH (2h××××2) and 70% EtOH (2h××××1)

Total extract

Extracted with EtOAC and n-BuOH successively 

EtOAC extract n-BuOH extract Water layer

Macroporous resin

AB

MCI

ABA

SPHPLC

75

ABB

ODS

LH-20 SPHPLC

LH-20

ABC

74

80

SPHPLC

LH-20

ABE

76

79

AD

ODS

LH-20

ADA ADB

84

MCI

LH-20

SPHPLC

85

86

89

ODS

E

Free phenolics

(1-73) 

See Figure S2

See Reference S1

Triterpenoid saponins

(94–122) 

83

 

Fig. S7. Flow chart for the isolation of compounds 74−76, 79−86 and 89−93.  



54 

EtOAc extract

Silica

A B C E F H

Silica

BD

Polyamide

Silica

BDC

SPHPLC

58

59

6

64

66

BDF

Silica

ODS

LH-20

65

69

70

71

73

BDH

LH-20

SPHPLC

62

67

68

MCI

EC EE

Polyamide

ECC

ODS

SPHPLC

17

1

2

3

30

ECD

Silica

LH-20

22

24

31

34

ECI

Silica

LH-20

SPHPLC

16

18

4

29

32

35

ECK

Silica

ODS

LH-20

SPHPLC

9,20

21,23

25,26

28

ODS

LH-20

SPHPLC
14

15

EG

Silica

SPHPLC

19

MCI

HB

Polyamide

LH-20

8

HC

Polyamide

HCA

LH-20

SPHPLC

36

37

ODS

HCB

LH-20

SPHPLC

7

48

5

51

52

HCC

ODS

LH-20

SPHPLC

38

39

42

44

45

HD

LH-20

SPHPLC

55

56

57

72

I

MCI

SPHPLC

27

33

D

EEA EEC EEE

10

11

12

Silica

LH-20

SPHPLC

13

LH-20

SPHPLC

G

Silica

HBD HBF HBH

SPHPLC

60

61

63

LH-20

ODS

Polyamide

HDC HDE HDG HDH

ODS

LH-20

SPHPLC

40

41

50

53

54

Polyamide

LH-20

43

46

Silica

SPHPLC

47

49

J

Silica

IB

 

Fig. S8. Flow chart for the isolation of compounds 1−73. 



55 

 

1.01.52.02.53.03.54.04.55.05.56.06.57.07.58.08.59.0
f1 (ppm)

Parameter Value

1 Origin Bruker BioSpin GmbH

2 Spectrometer spect

3 Solvent DMSO

4 Temperature 296.3

5 Pulse Sequence zg30

6 Number of Scans 16

7 Receiver Gain 183

8 Relaxation Delay 1.0000

9 Pulse Width 14.6000

10 Acquisition Time 3.9846

11 Spectrometer Frequency 400.13

12 Spectral Width 8223.7

13 Lowest Frequency -1643.7

14 Nucleus 1H

15 Acquired Size 32768

16 Spectral Size 65536

 

Fig. S9 
1
H NMR spectrum of glycyuralin A (1) in DMSO-d6 (400 MHz). 



56 

 

Fig. S10 
13

C NMR spectrum of glycyuralin A (1) in DMSO-d6 (100 MHz). 



57 

1.01.52.02.53.03.54.04.55.05.56.06.57.07.58.08.59.09.5
f2 (ppm)

0

10

20

30

40

50

60

70

80

90

100

110

120

130

140

150

160

170

180

f1
 (

p
p
m

)

 

Fig. S11 HMBC spectrum of glycyuralin A (1) in DMSO-d6 (400 MHz). 



58 

1.01.52.02.53.03.54.04.55.05.56.06.57.0
f2 (ppm)

10

20

30

40

50

60

70

80

90

100

110

120

130

140

 

Fig. S12 HSQC spectrum of glycyuralin A (1) in DMSO-d6 (400 MHz). 



59 

1.01.52.02.53.03.54.04.55.05.56.06.57.0
f2 (ppm)

0.5

1.0

1.5

2.0

2.5

3.0

3.5

4.0

4.5

5.0

5.5

6.0

6.5

7.0

7.5

 

Fig. S13 
1
H-

1
H COSY spectrum of glycyuralin A (1) in DMSO-d6 (400 MHz). 



60 

%
 T

ra
n
s
m

it
ta

n
c
e

Wavenumbers (cm-1)

NEXUS-470 FTIR (Nicolet)

Number of sample scans: 32

Number of background scans: 32

Resolution: 8.000

Sample gain: 8.0

Mirror velocity: 0.6329

Aperture: 100.00

 

Fig. S14 IR spectrum of glycyuralin A (1). 



61 

 

Fig. S15 HRESIMS spectrum of glycyuralin A (1). 



62 

0.51.01.52.02.53.03.54.04.55.05.56.06.57.07.58.08.59.09.5
f1 (ppm)

-200

0

200

400

600

800

1000

1200

1400

1600

1800

2000

2200

2400

2600

2800

3000

3200

3400

3600

Parameter Value

1 Origin Bruker BioSpin GmbH

2 Spectrometer spect

3 Solvent DMSO

4 Temperature 295.7

5 Pulse Sequence zg30

6 Number of Scans 8

7 Receiver Gain 183

8 Relaxation Delay 1.0000

9 Pulse Width 14.6000

10 Acquisition Time 3.9846

11 Spectrometer Frequency 400.13

12 Spectral Width 8223.7

13 Lowest Frequency -1643.3

14 Nucleus 1H

15 Acquired Size 32768

16 Spectral Size 65536

 

Fig. S16 
1
H NMR spectrum of glycyuralin C (3) in DMSO-d6 (400 MHz). 



63 

2030405060708090100110120130140150160
f1 (ppm)

-1000

0

1000

2000

3000

4000

5000

6000

7000

8000

9000

10000

11000

12000

13000

14000

 

Fig. S17 
13

C NMR spectrum of glycyuralin C (3) in DMSO-d6 (100 MHz). 



64 

1.01.52.02.53.03.54.04.55.05.56.06.57.0
f2 (ppm)

10

20

30

40

50

60

70

80

90

100

110

120

130

140

150

160

170

f1
 (

p
p

m
)

 

Fig. S18 HMBC spectrum of glycyuralin C (3) in DMSO-d6 (400 MHz). 



65 

1.01.52.02.53.03.54.04.55.05.56.06.57.0
f2 (ppm)

10

20

30

40

50

60

70

80

90

100

110

120

130

140

 

Fig. S19 HSQC spectrum of glycyuralin C (3) in DMSO-d6 (400 MHz). 



66 

1.01.52.02.53.03.54.04.55.05.56.06.57.0
f2 (ppm)

1

2

3

4

5

6

7

 

Fig. S20 
1
H-

1
H COSY spectrum of glycyuralin C (3) in DMSO-d6 (400 MHz). 



67 

 

Fig. S21 DEPT 135 spectrum of glycyuralin C (3) in DMSO-d6 (100 MHz). 



68 

 

Fig. S22 DEPT 90 spectrum of glycyuralin C (3) in DMSO-d6 (100 MHz). 



69 

%
 T

ra
n
s
m

it
ta

n
c
e

NEXUS-470 FTIR (Nicolet)

Number of sample scans: 32

Number of background scans: 32

Resolution: 8.000

Sample gain: 8.0

Mirror velocity: 0.6329

Aperture: 100.00

Wavenumbers (cm-1)
 

Fig. S23 IR spectrum of glycyuralin C (3). 



70 

 

Fig. S24 HRESIMS spectrum of glycyuralin C (3). 



71 

1.52.02.53.03.54.04.55.05.56.06.57.07.58.08.5
f1 (ppm)

Parameter Value

1 Origin Bruker BioSpin GmbH

2 Spectrometer spect

3 Solvent Acetone

4 Temperature 296.4

5 Pulse Sequence zg30

6 Number of Scans 16

7 Receiver Gain 183

8 Relaxation Delay 1.0000

9 Pulse Width 14.6000

10 Acquisition Time 3.9846

11 Spectrometer Frequency 400.13

12 Spectral Width 8223.7

13 Lowest Frequency -1646.9

14 Nucleus 1H

15 Acquired Size 32768

16 Spectral Size 65536

 

Fig. S25 
1
H NMR spectrum of glycyuralin B (2) in acetone-d6 (400 MHz). 



72 

 

Fig. S26 
13

C NMR spectrum of glycyuralin B (2) in acetone-d6 (100 MHz). 



73 

 

Fig. S27 HMBC spectrum of glycyuralin B (2) in acetone-d6 (400 MHz). 



74 

0.00.51.01.52.02.53.03.54.04.55.05.56.06.57.07.58.0
f2 (ppm)

0

10

20

30

40

50

60

70

80

90

100

110

120

130

140

 

Fig. S28 HSQC spectrum of glycyuralin B (2) in acetone-d6 (400 MHz). 



75 

1.52.02.53.03.54.04.55.05.56.06.57.07.58.08.5
f2 (ppm)

1

2

3

4

5

6

7

 

Fig. S29 
1
H-

1
H COSY spectrum of glycyuralin B (2) in acetone-d6 (400 MHz). 



76 

 

Fig. S30 DEPT 135 spectrum of glycyuralin B (2) in acetone-d6 (100 MHz). 



77 

%
 T

ra
n
s
m

it
ta

n
c
e

NEXUS-470 FTIR (Nicolet)

Number of sample scans: 32

Number of background scans: 32

Resolution: 8.000

Sample gain: 8.0

Mirror velocity: 0.6329

Aperture: 100.00

Wavenumbers (cm-1)
 

Fig. S31 IR spectrum of glycyuralin B (2). 



78 

 

Fig. S32 HRESIMS spectrum of glycyuralin B (2). 



79 

1.52.02.53.03.54.04.55.05.56.06.57.07.58.08.59.09.5
f1 (ppm)

Parameter Value

1 Origin Bruker BioSpin GmbH

2 Spectrometer spect

3 Solvent DMSO

4 Temperature 295.8

5 Pulse Sequence zg30

6 Number of Scans 8

7 Receiver Gain 183

8 Relaxation Delay 1.0000

9 Pulse Width 14.6000

10 Acquisition Time 3.9846

11 Spectrometer Frequency 400.13

12 Spectral Width 8223.7

13 Lowest Frequency -1641.7

14 Nucleus 1H

15 Acquired Size 32768

16 Spectral Size 65536

 

Fig. S33 
1
H NMR spectrum of glycyuralin D (4) in DMSO-d6 (400 MHz). 



80 

2030405060708090100110120130140150160
f1 (ppm)

 

Fig. S34 
13

C NMR spectrum of glycyuralin D (4) in DMSO-d6 (100 MHz). 



81 

1.52.02.53.03.54.04.55.05.56.06.57.07.58.08.59.09.5
f2 (ppm)

10

20

30

40

50

60

70

80

90

100

110

120

130

140

150

160

170

f1
 (

p
p
m

)

 

Fig. S35 HMBC spectrum of glycyuralin D (4) in DMSO-d6 (400 MHz). 



82 

 

Fig. S36 HSQC spectrum of glycyuralin D (4) in DMSO-d6 (400 MHz). 



83 

1.52.02.53.03.54.04.55.05.56.06.57.07.58.08.5
f2 (ppm)

1

2

3

4

5

6

7

8

9

f1
 (

p
p
m

)

 

Fig. S37 
1
H-

1
H COSY spectrum of glycyuralin D (4) in DMSO-d6 (400 MHz). 



84 

 

Fig. S38 DEPT 135 spectrum of glycyuralin D (4) in DMSO-d6 (100 MHz). 



85 

 

Fig. S39 DEPT 90 spectrum of glycyuralin D (4) in DMSO-d6 (100 MHz). 



86 

%
 T

ra
n
s
m

it
ta

n
c
e

NEXUS-470 FTIR (Nicolet)

Number of sample scans: 32

Number of background scans: 32

Resolution: 8.000

Sample gain: 8.0

Mirror velocity: 0.6329

Aperture: 100.00

Wavenumbers (cm-1)
 

Fig. S40 IR spectrum of glycyuralin D (4). 



87 

 

Fig. S41 HRESIMS spectrum of glycyuralin D (4). 



88 

1.01.52.02.53.03.54.04.55.05.56.06.57.07.58.08.59.09.5
f1 (ppm)

1
.2

8
3

1
.3

8
3

1
.7

1
4

1
.7

3
0

1
.7

4
7

2
.4

9
6

2
.5

0
0

2
.5

0
4

2
.5

6
4

2
.5

8
1

3
.1

6
9

3
.1

8
0

3
.3

2
0

3
.4

1
5

3
.4

3
6

4
.3

9
0

4
.7

4
2

6
.0

9
7

6
.7

0
0

6
.7

0
5

6
.7

2
1

6
.7

2
6

6
.8

3
1

6
.8

3
6

7
.4

8
7

7
.5

0
7

9
.3

6
2

9
.4

1
2

Parameter Value

1 Origin Bruker BioSpin GmbH

2 Spectrometer spect

3 Solvent DMSO

4 Temperature 673.1

5 Pulse Sequence zg30

6 Number of Scans 16

7 Receiver Gain 183

8 Relaxation Delay 1.0000

9 Pulse Width 14.6000

10 Acquisition Time 3.9846

11 Spectrometer Frequency400.13

12 Spectral Width 8223.7

13 Lowest Frequency -1643.7

14 Nucleus 1H

15 Acquired Size 32768

16 Spectral Size 65536

 

Fig. S42 
1
H NMR spectrum of glycyuralin E (5) in DMSO-d6 (400 MHz). 



89 

2030405060708090100110120130140150160
f1 (ppm)

 

Fig. S43 
13

C NMR spectrum of glycyuralin E (5) in DMSO-d6 (100 MHz). 



90 

 

Fig. S44 HMBC spectrum of glycyuralin E (5) in DMSO-d6 (400 MHz). 



91 

 

Fig. S45 HSQC spectrum of glycyuralin E (5) in DMSO-d6 (400 MHz). 



92 

1.52.02.53.03.54.04.55.05.56.06.57.07.58.08.59.09.5
f2 (ppm)

1

2

3

4

5

6

7

8

9

10

f1
 (

p
p

m
)

 

Fig. S46 
1
H-

1
H COSY spectrum of glycyuralin E (5) in DMSO-d6 (400 MHz). 



93 

101520253035404550556065707580859095100105110115120125
f1 (ppm)

 

Fig. S47 DEPT 135 spectrum of glycyuralin E (5) in DMSO-d6 (100 MHz). 



94 

1520253035404550556065707580859095100105110115120125130135
f1 (ppm)

 

Fig. S48 DEPT 90 spectrum of glycyuralin E (5) in DMSO-d6 (100 MHz). 



95 

%
 T

ra
n
s
m

it
ta

n
c
e

NEXUS-470 FTIR (Nicolet)

Number of sample scans: 32

Number of background scans: 32

Resolution: 8.000

Sample gain: 8.0

Mirror velocity: 0.6329

Aperture: 100.00

Wavenumbers (cm-1)
 

Fig. S49 IR spectrum of glycyuralin E (5). 



96 

 

Fig. S50 HRESIMS spectrum of glycyuralin E (5). 



97 

1.01.52.02.53.03.54.04.55.05.56.06.57.07.58.08.59.09.510.511.512.513.5
f1 (ppm)

Parameter Value

1 Origin Bruker BioSpin GmbH

2 Spectrometer spect

3 Solvent DMSO

4 Temperature 518.1

5 Pulse Sequence zg30

6 Number of Scans 8

7 Receiver Gain 183

8 Relaxation Delay 1.0000

9 Pulse Width 14.6000

10 Acquisition Time 3.9846

11 Spectrometer Frequency 400.13

12 Spectral Width 8223.7

13 Lowest Frequency -1643.7

14 Nucleus 1H

15 Acquired Size 32768

16 Spectral Size 65536

 

Fig. S51 
1
H NMR spectrum of glycyuralin F (6) in DMSO-d6 (400 MHz). 



98 

2030405060708090100110120130140150160170180190
f1 (ppm)

 

Fig. S52 
13

C NMR spectrum of glycyuralin F (6) in DMSO-d6 (100 MHz). 



99 

1234567891011
f2 (ppm)

50

100

150

200

f1
 (

p
p
m

)

 

Fig. S53 HMBC spectrum of glycyuralin F (6) in DMSO-d6 (400 MHz). 



100 

 

Fig. S54 HSQC spectrum of glycyuralin F (6) in DMSO-d6 (400 MHz). 



101 

1.01.52.02.53.03.54.04.55.05.56.06.57.07.58.08.59.09.510.5
f2 (ppm)

1

2

3

4

5

6

7

8

9

10

11

f1
 (

p
p

m
)

 

Fig. S55 
1
H-

1
H COSY spectrum of glycyuralin F (6) in DMSO-d6 (400 MHz). 



102 

 

Fig. S56 DEPT 135 spectrum of glycyuralin F (6) in DMSO-d6 (100 MHz). 



103 

35404550556065707580859095105115125135145155
f1 (ppm)

3
9

.7
3

3
9

.8
3

4
0

.0
5

4
0

.2
6

4
0

.4
7

4
0

.6
9

9
3

.2
6

1
1

5
.8

3
1

1
7
.0

5

1
2

0
.4

2

1
5

4
.1

2

 

Fig. S57 DEPT 90 spectrum of glycyuralin F (6) in DMSO-d6 (100 MHz). 



104 

%
 T

ra
n

s
m

it
ta

n
c
e

NEXUS-470 FTIR (Nicolet)

Number of sample scans: 32

Number of background scans: 32

Resolution: 8.000

Sample gain: 8.0

Mirror velocity: 0.6329

Aperture: 100.00

Wavenumbers (cm-1)
 

Fig. S58 IR spectrum of glycyuralin F (6). 



105 

 

Fig. S59 HRESIMS spectrum of glycyuralin F (6). 


